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What is Grammar?
Grammar is defined as the rules that say how words are combined,
arranged and changed to show different meanings.

el Al (8Ban g 58l o alaad) O S s Lz
The largest unit of grammar is the sentence.

alaall Cay yai;
A Sentence is a group of words that expresses a statement, question,
command or exclamation. A sentence consists of one or more clauses, and
usually has at least one subject and verb.

Jeall &1 5Y a3 W Types of Sentences:
ol dalay a1 ol afic) La
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sentence
dlasl)

Jaadl #1511

|

Question command Exclamation
Jiu ol -

o adaall g1 5ld

statement
daily

affirmative
<l

1-Statement 2. Question 3. Command 4. Exclamation
1- adlpales,  2- Jswdles, 3- clbdla, 4- caaddlas,

Leie JS iy el a3 Y

1.Statement 4slull 4leall :
Lt at

A sentence which gives information. (Declarative)l

Jio Glaslae Jaxd Sl Jeall a5

He is studying
Al sl Sl oS58
We can make statements either affirmative or negative.

e.g. 1. I have found a mistake already. (affirmative)l
e.g. 2. | have not found any mistakes yet. (negative)l

2. Question ! sl
A sentence which asks for information or makes a request. (Interrogative)l
Ja

Is he studying? Can | go study?I



3. Command k!
A sentence which gives an order or makes a suggestion. (Imperative)l
d:_.\A
Go study. Be careful !l

4. Exclamation «aadll
A sentence which is used to express the speaker’s feeling or attitude.
Alga 5 5l Cadall ) gl g jead Al Alaal)
e.g:
What a lovely day !l
Excellent!
it daDlay gl Bale
lge 53 pant lia by ales Glilany o iy pedl e Jlsad) ol 8 JLEAYL ks

Exercise
Identify the type of each of the following sentences.
a. statement b. question ¢. command d. exclamation

How often do you come here? b
How interesting this article is! d
Hurry up before the train’s departure! ¢
How interesting is this article? b
This article is very interesting. a

LJ&S\QU&M\@MQ@ QM\#M@UM&MJ
aic Ao odui lia g

Simple, Compound and Complex Sentences:

1. Simple: The man is here.
2. Compound: The man is here, and he wants to see you.
3. Complex: The man that wants to see you is here.

el sl s sentence J) ge (Js¥) 8 palaall e Jo¥) e dall e 1K
(i) S e al
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J2dll e IS5 (A9 3 alaall e (SEN ¢ allverb
O 4 alad¥) aallly ales 2a 5V 5 e dlaa (5) (A bl ¢ 3 Jdll sverb

< =iVerb
The verb is the central unit (nucleus) of an English sentence.
4 5l aleall 8 dagall 5l (Ao siall) 32a 1) 4

J=zdll &) 3l
Main and Helping Verbs:

iy Jadll A (9% - aa) g Jud A A Alaad) ; JwiliMain verb
e lua Jad Jg¥) (9% - (plad Lgsd A Aaalihelping vern iy Jad AN gmain verb
4L
Mohammed walked home. (walked = main verb )
Khaled is happy. ( is = main verb)

He is coming to the meeting. ( is= helping verb // coming= main verb)
He could come here soon. ( could= helping verb // come=main verb)

sde Lusall Jldy) &)
Helping verbs (auxiliaries) include:
1 . be (is, am, are, was, were)
2 . have, has, had
3 . do, does, did

s o) Alaadly Cul€ 13 ¢ i) i€ p2is o)) Saall (e 5V g 53 0
Jishe is here she has a car s'he did his homework

4 . Modal auxiliaries: can, could, shall, should, will, would, may, might.. etc.

Exercise



Identify whether the underlined verb is the main verb or the helping verb of
each sentence below. ( M=Main verb , H=Helping verb)
(Students like fast food. (like= M
(He has enough money for the trip. (has=M
Khaled does not want to go to school today. (does = H , want=M)

He is helping me wash the dishes. (is=H , helping=M)

. He will arrive shortly. (will=H , arrive=M)

4 dsada O W Al e qua U (g Jad A auudi (OBJECT)

Ay Jgria Wy 3 Ly « 4 Jsnda Wm0 Y Jlady) (o
ade Galhy La i g

Transitivity: (4=ial Ju=dY))

4 Jsndall lai Jadll sl aiin 6 an y Ui

Transitivity
dudaial) Jladt)
.‘ﬂmmiI'ill"-‘*iﬁ\'l’ Transitive Verbs [ Intransitive '»'t-‘j'bs]
verhs PRRIP oL e s
dadaia Jlad) dgaiia !
dy e Lyt / paa 4 Jud
. e gl g
Birds flv. : J

Ditransitive verbs

Ay dgpka ¥ Lyl dgaaie Judl
1 Objects

directs object
dydpe

sldiTransitivity: (awaidl Jwayl)



Verbs are divided into two groups based on transitivity:

1 .Intransitive verbs : are verbs that require no objects.
Jio 45 Jsmie ol Y 31 Juei)
Birds fly.
The man spoke.

2 Transitive VVerbs are verbs that require objects.
Jie 4o Jsrie allaii il Jlad¥) o
He asks a question
She cooks a nice food.

40 Jsxia ki ) JladY) e S g il sTransitive Verbs cuend ) s ;

A.Monotransitive verbs
are verbs that require only one object:
Jie b sl g 4y Jsnie allati i) JladY)
Khaled broke the window.
)54 Js28e Ua ; the window

B.Ditransitive verbs
are verbs that require two objects.
Jie o Jgmia ¥ ooae et ) JlaaY)
Saleh gave Majid a pen.
4 Y sada JUalls L
1- Majid
2-apen

Exercise

Decide whether the underlined verbs are:
a. intransitive b. monotransitive c. ditransitive

1 . The student needs a pen. b
2 . Ali told his friend a joke. c



3 . Students study. a
4 . Students study books. b

A Jarda ¥ 22 Lt AN JdY) (ditransitive) | Glasd Lagd Lags (¥ gadal)
Ml 8 4 Jerda AY) § pdilae 4 Jsrda Lad sl

Direct vs. Indirect Objects:

As we saw in the previous section, ditransitive verbs take two objects.
One of these objects is called a directs object and the other one is called an
indirect object.

asle (3l Jadlly 3 il Jasi jall 43 J sasdlidirect object
3 : he bought a gift for his son
sl g (5 il 8
s Jzdllpought bl 43 Jseiall 8 4paedl 131 ¢ 43¢l i e < (s 513l Direct object

oaladl e 4 Jg=ddll Al Jllindirect object

e.g. He gave me a book.
The indirect object is typically personal as in “me” in the previous example,
and “the man” in the following example:

He asked the man a question.

The indirect object is often equivalent to a prepositional phrase with “to” or
“for”.
e.g. He gave a book to me.
He bought a gift for his son.

DRall e (A5 8 _pumlaall Lingdl (585 1384
Al g oS8 A LW )

ASLeall (38 ) A alae) (e Al 5 jpualaall Ua )
Al Cila gy (e g 3ol a3



3\,33&\ 5_yaalaal)
- el -

? What is a phrase

A phrase is defined as two or more words that function
together as a group

To_jlaad) Rl

A4S ganaS flaa Jaad Al g SS) g (pialS (e (39S o jland),
..g. The old man walked down the street
dold Ll e dlluad) Alaad) A o jbaall 020 s, The old man .

Each phrase has a head and one or more modifiers*
*Jia (SIS g aalg Jinag aal g ol Lgd ol S

Y iaal) lisa)) Ay o0 clda— cldjaa( @ modifiers

:There are a number of phrase types in English including
e 4y Julad¥) dall) 8 <l lad) £ 680 e dae dllia;

4w 3 L2l 1-Noun phrases
a8 3 Lali2-Verb phrase
ddagl) o) 4cedl) 5 L1)13- Adjective phrases
48,1 5 L=i4-Adverbial phrases
Lsaalls el 5 e 5- Prepositional phrases

:(The Noun Phrase (NP
Acau) o ylaadl

:A noun phrase (often abbreviated to NP) is a convenient
term for any of the following

1. A Noun a«
e.g. Ahmed, students

2. A Nominal Group dsew ds gana




e.g. a blue pen, the students

Modifiers add to, change or limit the meaning of the head in

a phrase.
A L) gaaY cN il cilias:

1- o bl (A (il ) na il
2- o kad) (A (il ) sra (e 2all,

head is the word that determines the type of the phraseThe
okl £ 63 daad A AalSl) A Gl ),

For example, the word “pen” is a noun that can refer to any

kind of pens.
mw:: Ss“ll #ﬁfll N‘ ﬁ..
YY) (e £ 53 gf (N iy B

When we modify it as in the previous example “a blue pen”,
we limit the noun
so that it can only refer to a specific kind of pens

. el Cileal) JUlal) B LaS Lgiaty a6 Ladis (S15"" AlE
JJJ.‘” (1]

B (e (e £ 5 ) B iy o)) Sy Gumy ¢ aad) Uada gad Ua
aud) Bt te Ulsela,, (Q) ciu il 3131
(blue ) Jialé(a blue)..
:Some other examples
Ahmed’s desk
a book store

the student

S AY dliaY) Gy



i ¢ daa) b Gaddl) 13 g Gaddl saina & Alglall Ua? dea) Algla,
(Ahmed’s desk)

gemald ¢ Sl ga g A oi adaa ga Jaall Ud: iSliaa,, (2 boOK store)

iy i) 30a) oada sM)g adaa pla il Ua™ V"' aatd o )| (the
student)

3. A Pronoun- el

A pronoun is a type of “pro-forms” which are defined as
forms used instead of other forms

(B8 9 el Al gall ziladl) gl saall zilail), "
Ad) gall zALall" M oansall"" (o AY) ZIladll Cpe I daddinid) ziadl) A,
Instead of using the nominal group “the old man” we can

use the
"pronoun “he

2. he- Ssaall da " el aladi) Wik the old man- ¢ Ny
Apand) A4S ganal) aladiu

:Pronouns include sitall Jads:

-a. Personal Pronouns . i- 4axaidl) jilasl):
Sl Jaii g

Subject Pronouns

I, you, he, she, it, we, they
Jelal) il

Possessive Pronouns ;
mine, yours, hers, his, its,

ours, theirs..
sl ilaa



Object Pronouns: me, you, her, him, it, us,
them
4 Jdpdadl slaa

b. Reflexive Pronouns:
myself, yourself, himself, itself...etc 4xulsady) ezl

Audly g Wedihimself
dudiy o) dudiyourself

iy o) adis myself
Audly gl iy JBl)at:jtself

.C. Indefinite Pronouns : everyone, someone, something el
dddaa il

4. A Pronominal Group ¢ i saxa

e.g. we all
everyone in our class
.In a pronominal group, a pronoun is the head. The

ronouns “we” and “everyone” in the previous examples are
p _ p p
the heads of the pronominal groups

okl (a1 9A el ¢ (g snaia A gana (A

Sledll everyone' o't we T e de gana b (gl ALl ALY B

:Exercise
[Identify the type of the underlined NP

a. nounb. nominal group c. pronound. pronominal group



1. The children went to bed late

b.nominal group

as gaaanOmMinal group osiels e s ks

2. | made this cake myself

C. pronoun
aa,, Pronoun (ilsad) jad ga

3. Ahmed owns an expensive car

b. nominal group

daaul 45 saa,, NOMINal group

4. Khaled bought a book
a. noun

asd, NOUN 3l g amid ¢ saa) g 4alS (o 5 s> ga il gall) 1)

5. The book is his

C. pronoun

6. Someone in our office forgot to lock the door

d. pronominal group




A 3 ydalaall Cpa AN £ 50

:Nouns

:Nouns can be divided to

1.:
w‘ slauyl- ehﬂ eu\:

e.g. Ahmed, )l
, sa¥Al-Ahsa

A proper noun is the name of or
imagined to be unique

that is usually

gl au¥l)alall( Gpaa gl A 53 (3B (58 O Bale ) aal £ gl Al aud g

2.

e.g. friend, desk, bird, air

A common noun is a name given either to an example of a class or to

the class as a whole

JSs 4ddl) ) o) 4dd o YU La) ara and g2 & il ad),

:Friend” refers to one example of a class in the following sentence™



e.g. 1. Ahmed is a good friend

Jo¥) Jlall A friend sy padd ) 6l ¢ 2aal o agas

:Friend” refers to the class as a whole in the following sentence..
e.g. 2. A friend is somebody we like and know well

3925 (U g (B friend Aulsl iy xs ga QU 138 (B ¢ JSs 4l e Friend™

Friend” in example 2 is called a generic noun*

Exercise
-1dentify whether the underlined noun is
(a. a common noun (example of a class
b. a common noun (generic)

C. a proper noun

1. Mohammed gave me a pen
(a. a common noun (example of a class
Al o Jla Jara and - 4ddl) (e 338% g)- alh ilke] daaa o) gl

2. A pen is an instrument used for writing
(b. a common noun (generic



3. Khaled’s car is new
(a. a common noun (example of a class

Al e 2dah o) Adll) o Jla Jara sl g8 (A Bl A g Adima o b LUaaa e

4, Khaled has a new car
C. a proper noun

Tea pul)ple pad

5. Eruit is good for you
(b. a common noun (generic

JSS Al ) JUia dara acd A~ plaan 4S)gdl) Llad o 4gSWA £ ¢ 2aas Al

((as well as pronouns)) can refer to something:

a.animate (> s~
b.inanimate- > & s Clalaad),

daaall plendl) aldll( A4S idall slaad) gf)) ibedall i3S o(( ) s S8

a. Animate
Animate nouns refer to a person or animal

- A4S jatall- C‘JJ;\J‘
Ol 9 paddi ) jpdd dS adall sladl,

JUia:



Ahmed, friend, bird

saal)add ( Ahmed <
@) padd, ((friend <
sikas) s ( bird <

b. Inanimate
Inanimate nouns refer to a place, thing or an idea

- Slaadi:
5 S8 g £ o SO ) s oaalad) slew),

Jlia:
Al-Ahsa, desk, air, freedom

slua¥)cisa, ( Al-Ahsa <
L) ¢ desk <
s1R)s . (air <
4 n) < (freedom <

:Count vs. Mass Nouns*
A gdra i) g 03 ganall glawl:

..(Nouns can either be countable (count nouns) or uncountable (mass
nouns

S 03 gdna (9S8 3B plas) -0 ganal) slau),
- Sdigodgina pS (o< Mg sgia yad) plalrralis)

Count nouns such as “friend” and “man” can be preceded by “one”
and may

have a plural form such as “friends” and “men” which can be
preceded by a



number higher than one

AENS A 03 gnall slan):

1- aalgdau> waly Ol 1)) ke ((
2- Ja > aaly (e SiSI)) aaa. ((

.. men 4als! aaall aman
sfriends 4als! geal) safriend

Jlia:
Ctwo friends” and ““ten men”

Olaa, -two friends
Ja, 8 & . -ten men

.Mass nouns such as “bread” and “milk” cannot be preceded by
“one” and do not have a plural form

Jia 03 garall yal) elaw)
culamilk / Jabread

dalS Lg8ls o ¢Sy Yone
w@méﬁ‘ib&gb

.Some nouns can be used as both count and mass nouns according to
the speaker’s meaning

ajm#s':qu d9ra awilS Lgaladling) (Say plam) (aany''AliS™ ad g glow aa o

Gaatiall Aaal

Jlia:



1. (Light travels faster than sound. (mass noun
Light sagdze & dalS Ciply Ua

2. (There are two lights by his desk. (count noun
dals ciela Lalights eagaza

:Collective Nouns
4.;\91..491\ f-l.AuY\)éAel\ eu.u\(

A collective noun is a singular word used to refer to a group
AS gadma ‘)\ 5 L eéiluﬁ 53 yia PN R g.CLAAJ\ (’“m--

Jhia:
family, team, public
aldl) e 2 gafamily <
GadiN) (m 4s gaanteam <

Qe (e A4S gana ILadlpublic <

A collective noun can be followed by a singular verb (is) or a plural
verb (are)

It may be associated with a singular possessive form (its), or a
pluralone (their

3 el Jady ol of 0% S laad) anad s gaad) gl are
3jiall Aslal) dipa poa @lld (38 5y B gits aeand! 4Slall daua aa gi(their)

Jo¥) JEal:
Our team is the best



Our team are the best
o 0 LS LiSay gilad) JUal) 4 alaallis ) are

e LDl g
(AL JUali:

2. Ahmed’s family moved to its new home

Ahmed’s family moved to their new home
G 0 e glis Wiy galaad) JUal) (8 4laad) ts o) their

; ) sSal) L8 ali ala;
el dipay s AV 28l Adpuay Ladlaa) (g8 pamy 1 )9 Giiled GESS il L J 44
M‘A&ﬁo‘h’\*ceﬂy‘w

Exercise

Decide whether the following NPs can be followed by
a. asingular verb
b. a plural verb
c. both are possible

1. Ahmed’s young brother
a. a singular verb

2. his family
c. both are possible

Jsdi &) ¢saal) a: his family is

Js&i o) Wisay: his family are
dalS o aan Jadg 3 e b ddLa) oSarhis family

3. juice
a. a singular verb

Jsdi () ¢Seal) e juice is



Js&i ) Wisey ¥ o8I juice are
4. the company
c. both are possible
Jsii &) (Seall (a: the company is
Jsdi o) Uiay9: the company are
5. men

b. a plural verb

Jsii &) OSaal) (a: men are
Jsdi o) Wiy ¥ <1t men s

Jo¥) s sad) J AR 5 yialaal)
Lecture 3

Modifiers
<ld jaal)

In our previous overview of phrases, we mentioned that each phrase
has a head and one or more modifiers. Modifiers can be divided into
two groups:

g alaa 4l ol 3 Hle IS0 e Bla Gaaadll 25 LeShead (e SS) ) aal s an g SIS Ll
Gl ealimodifiers caed () audi Sl

1. Pre-modifiers are modifiers that come before the head.
ol 8 6l il e

2. Post-modifiers are modifiers that come after the head.
Ol g Sl ) il el
> ia s e L



st

1 Person I we
nd
2 Person you you
rd masculine he they
3 Person
feminine she
neuter it

o g Adad 1) (el L
Exercise

In the following phrases, decide which of the underlined words is:
a. the head b. a post-modifier c. a pre-modifier
1. a big store
‘ RS sade s el
el i 1A e atiall a5 lalls dpu ) 4sSlihead
4Ll sa big _sixdy sailll 44a 4@ pre-modifier

2. the store manager
oalally aae ail el panaddl jatall Gela g ¢ e (A 3 kel s )l Al
ussdmanager shead
The sstore Il i @lé =a ol yiixig pre-modifier

3. the leader of the group
Al )
s o lleader
s ol o ) G eallof the group
4laYl ¢ S8g post modifier

4. the group leader
Gl e
oV leader
The group ol i <l jaa LIS
othe ¢sSsa pre-modifier

5. someone in my office



G L aal
Someone : ' Jiithe head

Determiners are words which specify the range of reference of a
noun by making it definite (the book), indefinite (a book) or by

indicating quantity (many books).
el paat o) CaTyra e o Caljra alaay PRV ERRENA I LG DN (P G R B

Determiners can be either identifiers or quantifiers.
ALeS o) Gl jra (68 Saa ilaasl)

1. Identifiers tell us either definitely or indefinitely which noun the
speaker means. They include:
Sl Jas ld el

a. Articles: a/an (indefinite articles), the (definite article)
=Y il &l g, an, the

b. Demonstratives: this, that, these, those
5 ,LEY) e lad

c. Possessive Forms of Personal Pronouns: my, your, his, her, its, our, their
Al il

2. Quantifiers tell us either definitely or indefinitely the quantity of the

noun. They include:
( Lq.u.!:wj &_\LJ.ASJ\

a. Numerals: one, two, three... (cardinal numerals); first, second,
third... (ordinal numerals)
4306 (il aal g/ ala¥l dlae W ;e g3 A g alac Y
G A J Y/ adipall alae Y g

b. Words like: much, many, each, every, a few, little, all, several,
plenty... etc.
e GlalS
QA
Exercise



Identify the type of the underlined determiner in the following
sentences:
a. article b. demonstrative c. possessive d. quantifier

1. This exercise is easy.
This 3, auldemonstrative

2. Theirfriend is here.
Their Sk jmpossessive

3. The visitor came early.
The < =islarticle

4. Many people watch the show every week.
Many <lwsli 3 L33 ddSquantifier

5. These sentences are interesting.
These 3 Ll auldemonstrative

Sl ¢ jall /A 3 jalal)

Person, Number and Gender
cuind) ¢ a8 Y1 ¢ dpadlid)

Person
Nouns can be (humans) or (animals and

inanimate objects).
Clabaall gl G gl dpadds ye o) (il ) Apadid () 5S5 38 clanY)

Note: can only be animate (because they only refer to
humans). can be either animate (when they
refer to animals) or inanimate (when they refer to inanimate objects).

We can also use the term © " in a different way. Traditionally,
differentiate between :

the person speaking ( ),
the person spoken to ( )
and the people or things spoken about ( ).



SIS plaaall 48 sl g Lia

- JsY) paddll e Gl ¢ Al (aal( ], we
- S el adde (gl g Cnaall adiuall o) 44l A5l el Sllyou
- A addl) Lo Gl e HIS5 ) sLEY) ) GalasY)
(he, she, it, they )

- 1st person pronouns: |, we
2nd person pronouns: you
3rd person pronouns: he, she, it, they

Number
Aac Y

Singular (number) or plural (humber) affects the form of almost all
count nouns, pronouns and demonstratives.
EJLUJY\ C«LA.»:‘ j‘ ):ILAJ.AS\

Gl b sl ) AliaY) Gy lia ) ;
Here are some examples:

Count Nouns: student ( ); students ( )

Mass nouns are considered to be singular.
e.g. water, rice ( )

Pronouns: |, you, he, she, it ( )
we, you, they ( )

Demonstratives: this, that ( );
these, those ( )

Whether the subject is 1st person, 2nd person or 3rd person; and
whether it is singular or plural can affect the form taken by the verb.

e.g.



He walks home everyday. (3rd person singular subject)
| walk home everyday. (1st person singular subject)

They walk home everyday. (3rd person plural subject

Gender ysall

The 3rd person singular form of personal pronouns can be affected
by gender as follows:
ot s il Al Uyl 3 Al jasil
3rd person pronouns: he, she, it, they

25 e 2 idlhe, she, it (B o) OIS 183 4l asdiall uingy il

Sl sail) e
1.The pronoun “he” refers to males.
2. The pronoun “she” refers to females.

3. The pronoun “it” refers to inanimate objects, or to a person

or animal not yet regarded as male or female (e.g. “Who is it?”).

The distinction between male and female may affect our choice of
lexical items (words or phrases) that could fill a “slot” in the structure
of a clause.

man, headmaster, woman, actress
@Jf@‘)uj/ﬁd.a‘b’/‘)a/‘&.a

Qllil) Jaalls £ 161 4 (550 o canalis i 5] oloal] Calal< o



He is a good ----- :
Man and headmaster can fill the slot .
J:\.A..'A}\ Lahe e g d;) elau) 4za k_h.ul_ili..

R She is a good
Woman and actress can fill the slot .
M\ Laghe cif}dsmmguw}

Note 1: The suffix “~ess” is found in a number of words referring to
women, but there are other words referring to women that do not
have this suffix.e.g. aunt, niece, nun
ahaler daaless G i clalS aa g o<1 ¢ A il Ll e dae 8 aa
Ler Bal sl 25 09

Note 2: Most nouns in English can refer to both male and female.
G5 SO 50 ) a8 elansY) alaes

- n s ) L
a good friend
my school friends
the headmaster of the school
the headmaster’s desk
several students
we all
everyone in our class

w\.&.ﬁj\m : &Jwﬁ\g“jccﬁjﬁ“;jbugﬂmi



Choose the appropriate pronoun:

1. 1st person plural pronoun
a. he b. wec. d.

2. 3rd person singular masculine pronoun
a. b. itc. youd.

3. 2nd person singular pronoun
a. youb. Ic. wed.

ax )l 5 pualadll

What is a clause?

A complete sentence needs at least one finite, independent clause. A simple sentence is
composed of only one finite clause, so that the structure of a finite clause is identical with that
of a simple sentence.

s Ll o) o yadli" clause d) i 25 s La
.(finite, independent clause -4ulsic) e Aliine yoriaas i) o JBY) o zliagaldS ales o

cahb‘gdw:\ﬁcmjadiua)sﬁ‘;c&y‘&é#u\hym@)@y‘d\ﬁw\@mﬂ_
L aglaie) e Al goadaa o8 (e ST e (g giad a8 "

((32adl 52 8 5 e 3l sekad sT) It shows time, person and number : s "2334" finjte 4alS iae*
AL 36 aay Jpadilly A ) (3 ki

< ') That it can occur own its own as a sentence :s "galic) ne" independent 4<lS iae*
L eaS L ey Gaal ) (S (A

He is a student who likes to study hard /JU-
WMl ge e ) s % - one clause "4 >> He is a student
B jey dhan o Sy 43Y ¢ Ml gl 4laic] e - independent” b < sl Gl
.. "eaalyo e )b 3 - one clause " 4 >> who likes to study hard
¢ "aldic) - dependent” & <l bl
.. Aleall gl Al i & (30 5 (Who likes to study hard) Jsii of gelais Y 43y

L(Alie) dlas a Js Al alaa (5585 O S Y 4l 51) psgdall 5 el Aleia e alead) Y-



(sdinn alen — S jealen — abasnalen ) 1 (e Jadl g ) il L2 Ll 0 5 SN LS Madand) aleall" *
.. & a5 finite clause e (s sia3 adasll alaall
finite 1) 58 Lo it s alasnad) aleall ) il L ¢ finite ) e Lo Ciyed o 258 Losini-
finite clause = one simple sentence*
Here are some examples of one-clause sentences:

1. | have just telephoned Mohammed.
2. He was my best friend.
3. This is his photograph.

4. At nine o’clock, we all gathered in the classroom.

5. He always does his work perfectly.

I have just telephoned Mohammed /Y JGs-
"subject — Jelall" >> |
" verbal group - 4:xé 4c saas " >> telephoned s have
0 Cxd g JuSt AelS
" helping verb - x=lue 22" >> have
" main verb - ) J=8 " >> telephoned
o (ades oo Bl i geaal g0 e Uigd - it is one clause and it is a sentence) -
He was my best friend/Y JGs-
"subject — Jeldli" >> He
"verb — J=&l" >> was
oalen a g ity geaal g e o 13-
This is his photograph /¥ JUs-
"subject — Ixin" >> This
"verb — J=all" >> s
alen o ) Gy g eaalge e o T3)-

At nine o’clock, we all gathered in the classroom /£ JU-

" subject — e " 4 5" pronominal group — 4 e 4 sexa " 58 >> e all



"verb — J=al" >> gathered
oales oA Gl Ladhy goaal gojle (oA 13-
He always does his work perfectly /oJta-
"subject — Jeldli" >> He
"verb — J=&l" >> does
oalen b ) ity geaal sl a1 ¢ Load sl g Jad sl s el Ll

Each of these one-clause sentences has a subject and a predicate. The predicate is what is said
about the subject.

tle (oo sind Jaall oda (ga o i JS*
" o) Jeld" subject-
"4l vl predicate -
. deldll g Gaaiy e s predicate -
He always does his work perfectly sl JUall 8 Jus
"subject — Jeldli" >> He

5" He Jeldl ) aiva (g) 4] 2isa — predicate™ s o2 Le JS >> always does his work perfectly-
Mase Jadl) Jady predicate I of 1" Laayl Jadll Jas

At nine o’clock, we all gathered in the classroom : gl Juall &
" subject — lxise " >> we all
" we all il ) viva () 4] 2iss — predicate” >> s Jial (e Gl S
predicate 3 ¢ 3> s (At nine o’clock) 13-
predicate J) s « 3 Lyl s (gathered in the classroom) s
predicate J) (e + 3» Lyl 58 @athered) Jed)
If either of those two parts, subject or predicate, were missing, the sentence would not be complete.
However, in an imperative, the subject is usually unstated.
e.g. Gostudy.
When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:
You go study.

. AL et ) alealld 3 53ie (predicate s subject) cui sl asf IS 1l



.. (predicate s Subject) 2 s 5 e 2Y ALK alaa a5} 131 31
(unstated - 7 ad e 5 Glad ye) sSibale Jeldl HaV) dapa A oliinl ollia (Sl

aleall (expand — s s5) Liagd LiSay 5 aloall 810 s 50 4o sgie Ay 4] galii Y 5 Jeldll SN Y a3
oAl el Jeal

U Jas e
o ol A Liiua aleall 038 >> Go study
SsY1 o paladdly LAl 83 >> 1 4 Jaall ¢ gl ()5 S
Statement -
Question -¥
Imperative Lay oo 5>> Command -¥
Exclamation -¢

Jeall g1 53 e g 51 8 Command s Imperative 13-
..(which normally we don't states the subject in - s Jeldl # juaidale il 5)

.(that it means you -l dlix; 43) << (assume -l i) LiSay ¢Sl -
il g 5 gald) G aleind 3 gt Jelall IS 131 ey
: SIS (expanded — Jeaiily alkiic alu ) of LiCas Gl Jiall k-
You go study < J saé
..Set down ! Stand up 5! Go study < Jii Jasé ¢ lld J 58 Y adalall 8 (81 5 Jeldl ga L >>You
Y a8 Jelall SN Y s T
The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:
NP (subject)+ VP (predicate)

The man bought a new car

Lzl U 4gilul) <l pualaall 8 ()5 S35 LS e Apan) dlan 405" 4zanl o jle s clause ) 3 il ) Jelall-
.. d.\..as.\lb W\J\ a)\_.ud\

Adad o e s predicate ) US 1) ("aglad alas 405" 44dad o e s predicate 4 -
sl apul¥) sae ) oty finite clause JSs -
NP (subject)+ VP (predicate)

sl Jelil a5 NP-



il o) Seldll ) sidll a5 V/P-

The man bought a new car: Ml JUall 8 LS

. Azan) o e (5) NP 58 <l (udiy 5 Jeldll 58 >> The man-
. ad=d o jle (o) VP 54 gl dsy 9" The man" deldl) ) aiwe g8 >> bought a new car-
s oleladinl 41 \/P*
.. JSS "predicate — 4d) diall" e sl 8 aadiey 8.
."verbal group — 4sledll cile gaaall o Caaaill 8 addiin 8 -

.. JSS "predicate — 4al) diuall" e it sliaadin) JUil e a-

418l o Ll The Verb Phrase (VP):
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
More often, the VP consists of a group of words (verbal group) with a finite verb as its head.

For a clause to be finite, there must be a finite verb in it.

¢ Magladl) aleal) anitanladll o jlall e il slaall (amy 3a0
..(what the verb phrase consists of ? - f4:lxdll o jluall 4ie (55 (5} o)
.. ki a5 finite verb e s sisy >> VP-
sl siny 2 VP I
verbal group - one finite verb Wl -
We all waited : Jull Jaall & Ls-
"sasa - finite" s Lyl 5 daill 8 >> waited
.82 22 finite Hme s Lo oS3 J sl -
finite verb — 2334 Jai" e (5 sis3 "verbal group - 4zl 4c seaall" -
.J8 e head I US3 Levie (5 S35 caladll 4c sanall "the head — o+1U" sa 23841 Jadll L -

: verbal group J) & 13 -



.. finite verb ) 4.8 sa head
. (clause ' 4 (s!) 4 finite verb 2sa5 (e 2Y 2354 clause ) geaad 13-
.. finite clause e o5 o cang 4al alea < ) 13
.. finite verb L ¢S o s finite clause <) 13-
The verb can be either:
1. Simple
A simple verb consists of one word.
e.g. is, was, walked, sat, did
2. Complex

A complex verb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like, could see

daa Y Lo o) sl 6 a8 Jadl)
Sageud) -
.ol 5 4alS e b jle ¢ dased) Jadl)
is, was, walked, sat, did /Ji-

adaadl JladY) Lgsanss LIS o3 5

dhnal) Y
(3805 d2d e ST (g)) Alad e gana (o 5 Jle 3 daall Jadll-
have telephoned, were placed, were waiting, did not like, could see /Jis-
Al Jad L slal — aelie Jad sl addadl) Clle sanall o328 b Ligh
have telephoned -
acbia J28 >> have
=) J=8 >> telephoned

. el Jadll sl (full verb) st 5 AT casas (Main vVerb) sk Jadl) e o) LiieUaiuly -
were placed -

ac e J=é >> Were



=kl J=i >> placed
were waiting-
aclue Jad >> were
bl J=d >>waiting
did not like-
e lue Jad >> did
) 28 >> like
4alad 4e sandd € ja J28 8 >> did not like-
could see-
aclue 28 >> could
bl Jad >> see
s3dnh Ll aca e23ad)l JiYIFiNite vs. Non-finite ((Verbs)):
Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb.
He is here. They are here. (person and humber)
He is here today. He was here yesterday. (tense)
102384 JWdY) Cay yas
aaad) 53l 5 e W o ) pelad
10055 8 Camy e 30 Aal e 00384l JladY) e 55 -
Caffiiee - g Jbas - ok -
1058 B a3 il Aals e
Gl cash- liaashe Jsfahe
20550 38 Cua (g 23a]) Lali (e
o
A3 Jadl) e Jlie 8 4 Janl) 8 (43520 Jad) “e” Jadll®
20553 3 (be) Jadll O << dils daglaa ISl J 8y ok

is, are, am, was, were



past participle << been Lay ;
223084 Jadl) e QU 435Sl Jad i (oS alaall o3 b (5 yi
s 4 sl Jad 2L 130 ¢ CdB Gl s 59 3 Jeldl >> He is here-
. are 45l 23 33013 ¢ i Gah s g aes Jeldl >> They are here-
. Ofilead) 8 Jelall axad) 52,80 U e Y s (he) 40 5uS)) Jad () Lia JaaDl ) 5
.. finite verb sed 2xall 5o il e Talaie) Jadll a3 13-
. 18 gl 43 518N Jd 5 junlall () 3 aleall sa>> He s here today-

Was gl 435Sl Jad g ol (e ) S8 4leall 038 >> He was here yesterday -

el Ui aBiaY) (e allall o3a i

Ll g a il g el sadde 550 3 finite verb ) -

Finite verbs can have three forms:
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak
2. 3" person singular form of the verb
e.g. walks, talks, drinks, speaks
3. The simple past form of the verb
e.g. walked, talked, drank, spoke
i) 53 ¥ L eadadll Jlady)-
o Gl (ol JSNY ) JaD -
w3 LS Jaill L ¢(-ing 0 51 —ed 05 o) llal 53 Jadl 8 T3l
walk, talk, drink, speak /Jis-
oGl ) Y SN e alial il s3a S -
o Caill s il Gl ol daa Y
o (S) b5 2yiall AN i plall Aadle 4l Cilima Jadl () sSaus Lin
walks zuai << walk /Jis
(§ Sl pualall (g3 & Bl ol 8 g0 jie Jeld Lnal (S5 Ladie Jail) e (S) 4ndlal) 028 Capai s

talks zwai << talk



drinks i << drink
speaks gl << speak
Gadll il ) s Y

u}&ﬂdzﬂ\u\u)uia_\gelgﬂ_\j_

—ed Al Ld) >> walked << walk /Jis-
—ed Al L) >> talked << talk

el ey Al Y gl e UWadla 5 e Lagd Litald aadainall JuadY) (e Laa ¢Shedll ())38-
drank >> drink
spoke >> speak
.. =kl UAJZ\J\A@@SJHMLSMJ:\J s e Laa (Dladll y)3a -
Exercise:
What is the form of the finite verb in each sentence?
a. base form b. 3" person singular form c. past form
1. The manager talked to the employees.
C. past form s lsadl 13« Jadll & (ed) 255l (palall (00 4 58 s talked s J=dll-)
2. He drinks coffee every morning.
€3y a5 oyl a5 Jadl) o Jaa D Lyl 5 () el ) i plall Aedle 3 5m 5 Laadl 5 drinks se Jaall-Y
b. 3" person singular form s < sadl 13
3. Ahmed and Khaled usually study together.
(8) el Gl oyl Aadle 45 3 50 Y Lyl 5 () 43 2 52 Y 4l 1aa35 5 study s Jadl)-Y
a. base form s <l sl 13
4. | went to the mall yesterday.
C. past form s <l sall 13 ¢ go (sbu¥! Jdll (o bl Dapa 58 5 "alilia je Jad 8" went 5o Jadll-£
5. At eight o’clock every morning, my father goes to work.
LAl Bl o plall JSG g8 5 goes sa Jadll-o
b. 3" person singular form sa <l sall 131 ¢ Jadll &dlgi gs Lidal goes << go

sadai all JudINon-finite verbs:



Non-finite verbs do not show tense, person and number. The verb “come” in the following
sentences is an example of a non-finite verb.

e.g. I expect him to come soon. We expect them to come soon. (person and humber)

He is coming now. He was coming at the same time yesterday. (tense)
o03ah pall JladV) dddlie ) Jeiii-
Ll 5 el 5 paddll Lle 555 (0338501 DY) 5)) finite verbs 1 of e Ta1-
..Non-finite verbs e s 83 Gus Ll (uSlaall-
(o LS o L i Le in) a5 (g 3l 5 (il ST Lgle 5edai Y il JladY) azeddads ,ad) Jlady) -
1034 el Jadll e Jlie 4l abie¥) i “come” Jaill-

Lol }i uA)j\ Ji s il U e PRERT i) s23ak ) Jladyl 1l

| expect him to come soon/JYs-
We expect them to come soon
sdeldl 38 i) Gilaall 8 sl
(1) dsY) Gkl 8 &850 jie Jeldl) >> 0¥ alaad) -
(W) S Gkl b )5 aen Jelill >> alill aleal) -
Ll g adill SR Y s Non-finite verb 455 i sa LS iy Giileall US s “come” Jaill -
He is coming now/J%s-
He was coming at the same time yesterday
Lo );*34 PREN o Y "coming" Cadll-
(F b)) pmlall ey L3138 >> (He is coming now ) (3 sY) aleall -
el (e ) A 12a>> (He was coming yesterday ) 4Gl alaall 8 -
.. Non-finite verb s "coming" Jadll fa)-
:(be) 4l dad I il oS
(is) I sY) alaall
(was) 4l alaall 8

.(is — was) "finite verb - 33as Jxd" sa 45 iSll Jad 1)



Non-finite verbs can have three forms:
1. The infinitive
The infinitive has the same form as the base. It is often preceded by an infinitive marker “to”.
In some cases (e.g. after modal auxiliary verbs) the infinitive is bare (without “t0”).
For example: I am waiting for him to come. (Infinitive with “t0”)
He can come tomorrow. (Bare Infinitive)
2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking
3. Past Participle (also called —ed participle)
e.g. walked, talked, drunk, spoken
so2dnd paad) JadY) gaa o o jlai L
B
() JSAN) Alad) Apa i Al jradll A
.. (g oxad) J2dl -The infinitive verb) Jé U 4 5 jradl dapa dadle o (t0) dalS-

(02024l 5l any pall — bare) e Hradl s (Mauxiliary" sxebuall Jad¥l oy Jie) GV (any -
.(10) AalS aleal) & oS ol 13

(10) 054 sxad) e o Jle s bare infinitive ) 13-

s 0SS aadl A 131

to < infinitive-
LA jaad) ) mpall jaadl ) Bare Infinitive = 5 >> to Os infinitive-

I am waiting for him to come /J%s
.. to e« infinitive s >> to come
. Jill lapdl JSEI) 58 130 ¢ (Base FOrm) 4l 4xpa s >> come
.. (coming) el << —ing el ciai Al 5 ¢(came) geadl oaldll (o) b i ol Alaall o3a i
.. t0 O infinitive s s Jailli to Lls 5 come 13-
He can come tomorrow /Jta
. "auxiliary verb " << 45 can Ua Lyl

:sla(come) & can ax Jaidll-



"4pulul 42sa - Base Form" -
(3354 — finite) Gl 58 131 " jrae dana — Infinitive"--

.. | come here every day < 4leall 038 & (come) 4alS! 4sliia (ol 58 =
(333 — finite) ¢\ come >> (I come here every day) 4leall s3a A
143N " jaas dapa — Infinitive” ¢l come «ailudl alaall 8 L
.. can << 4 5 "auxiliary verb " - G-

:oY " jma z e )uas - Bare Infinitive" (e s-

.(t0) Al 3l ol Jadl) -

: Present Participle-Y
.. (ing-participle) = L) ey 5 ¢ (—ing ) 4d) liliae Jadll 8 5-
walking, talking, drinking, speaking /-

.Present Participle = (—ing) 4l Cilias Jad o 131-

: Past Participle-¥
.. (ed-participle) Liad (o3 38 5 caild) &l paladll o o< ol 8 5
ediiia Jadl) 138 (S 13 Ala b e A Ciliay el (a5 g8 Jad JS 13-
- lelSE sl (-ed) Leed Libald laliiia (Mad Lt >> walked, talked /Jtis-

L laglSE i clalatia ye oMad Laa >> drunk, spoken Wi
(simple form) Base Form >> drink 13-
finite > Past Form >> drank

non-finite > Past Participle Form of the verb drink >> drunk

(simple form) Base Form >> speak
finite > Past Form >> spoke
non-finite > Past Participle Form of the verb speak >> spoken
ol et ) o) el ki o) e Y>> drunk, spoken*
Exercise:
Decide whether the underlined verbs are:

b. non-finite a. finite



1. He was able to walk after physical therapy.
eeeldl) i Lavie s Ja >> walk-)
walk J=dl) s of Gy Ja . He Jla They L -
They were able to walk :J s#--
.. "finite verbs - glaise Dlad" Laa were swas oY ¢ were sl was U e L lada
."non-finite - 23ae e s 13 ¢ o8 LS iy walk dadl) o Jaadl -

b. non-finite s& < sall 13 ¢ Gasall 5 aaall Casy iy ol sgd-

2. He is making a chair out of wood.
99 i 13ke Jeldl Wi o >> making-
They are making a chair out of wood :J s2i-
.. "finite verbs - ¢ladse oDad" Laa are sis oY ¢ are capald s U e L Ua-
b. non-finite s wlsall 13 "non-finite - 23se ,e" 58 131 ¢ 58 LS ay making Jadl) of L
3. He made a chair yesterday in his workshop.
¢ Caaas 13ke Lia auia 3l o il s ol >> made-Y
He makes a chair everyday in his workshop :J sa-
s Jadld (N G e 1)) ¢ @, finite 5o o sadl 13 e 3l Canen Jadl) a5 a8 Slad aaf Jasdlie
4. You should spend more time studying.
98 Caaaus 13l Jeldl) i >> spend-¢
They should spend more time studying :J s&s-
He should spend more time studying
I should spend more time studying
.(should) & 5 "auxiliary model" 2z sla 43Y dad 5 ¥ spend Jadll of aa S
b. non-finite s <l sl 13 ¢"non-finite - 33 ;2" s (should) 2= ela 53 spend J=dll 5-
5. They spend time together every Thursday morning.
98 i Ja §€ Cuasgu Bl Jeldll Wi 4 >> spend-©
He spend time together every Thursday morning



LAl o3 8 dall Gl Gl JSE Lieadiia Ll JaaSue

a. finite s& <) sall 13 ¢ "finite verb - 23ae Jai" sed yias Jadll 0¥ -

sadaa yil) A sadall o bl i o A&NIFiNite vs. Non-finite ((Clauses)):
A finite clause is a clause which has a finite verb.
e.g. He is waiting for the headmaster to come.
The previous above example has a finite verbal group, “is waiting”.
WOV A lae o pualad) ey a (e Gl U SO
L3 Jab o g giato i oa soadaal) o jadl) gf o jlall-
He is waiting for the headmaster to come :Jiall Juws e
(is waiting) 2 s "finite verbal group — s3as 4lsd 4c saaa e Jlia 52 o3e S8 L
finite clause - s33aa sy gl o e A Bl Ly
¢oanlgoadaa sy o o jlic goaalyoaiaa 4uled Ac sana Lia Lyal 131
.. (One finite verbal group & One finite clause )
(IS Waiting) (s s s33ae 4dled 4c gana o (5 5ini LY oadaa aulad o i 4l o e (& >> He is waiting 13-
: S &) s " finite verb" e ssiss of ey finite clause of ox )
(finite verbal group s' One finite verb )
A non-finite clause is a clause which does not have a finite verb.

In the previous example “for the headmaster to come” has a non-finite verb “to come”, but
does not have a finite verb.

At least one clause in an English sentence must be finite.

e Jad e (g gias Y o il o teddaa Al o AN i o ladl
.(non-finite clause) sed 33sa e Jad Ll 5 a3as Jad il (S5 o1 131 T3
for the headmaster to come /) JUall (8 -

(to come) Jadll Ll ¢ (the headmaster) s 5 Jeldll Lol -
< " non-finite clause - s23ax e 5 j3 5l o jle” cla Lia 4l

O™ e Ddas Laa e sla il ) ((Infinitive with "t0" ) &8s seé



Maa Jad e sy Y oS 5 (10 come) s 23se e Jad e s sisy (for the headmaster to come) 13-
" non-finite clause - s33ss e o sl o e sa caall 13gd
r

= ' -
a finite clause — i + 3 afinite verb - ;s Al 8 13
. |l sy | .
anon:finiteclause ___"____ .  afinite verb-

oo -- ', anon-finite verb-

Londae Y e sanl g0 58 ()5S O g << 4y udaal) axll) o
finite-sadaa” o jaill o3 ¢ 5S5 o)l cany 5 IV e sanl g8 e (g siad of cang << alelS alea Ul 130%
Simple sentences consist of one finite clause.
e.g. Heisastudent.
."One finite clause — sl s23sa 0 j8" (1 (CONSISt — <alliy) adasell Jaall-
He is a student /Jie-
.finite verb - 23sa Jad" g >> s -
adass ales o3 131 < "One finite clause — sas) s o3iaa o " Ll
... by alea Wl 34 One finite verb e« One finite clause 13-
Compound and complex sentences consist of two or more clauses with at least one finite clause.
e.g. Heis waiting for the headmaster to come.
."two or more clauses - ST sf G 8" (e (consist — <alliy) sdiaa) 548 sall Jaall-

sadaa’ cul il 038 (ge sl 5 () sS3 (f Cany o i e ST e (g sias <l 1)l i) e (e saal 5 Y e
.finite verb — s3aa J=3" e (clause-o_idll) a2 s siai o o) «"finite —

He is waiting for the headmaster to come /-
."finite clause — s23s o 3" & >> He is waiting-
.."non-finite clause - ex3s« & » 3" . >> for the headmaster to come-

.finite clause" Wliew cuull 1315 > (is) s 5 e finite verb a= finite clause e (s sins LY 4laiSa alaall o3 5-




dalal) 3 juzaladll

Verbal Groups
adedll Cile ganll
Verbal Groups :
Verbal groups can be of five types:

Type 1 Modal +Infinitive: could see, will come
Type 2 Have +Past Participle: have telephoned, has begun
Type 3 BE +Present Participle: are coming, were waiting

Type 4 BE +Past Participle: is grown, was broken
Type 5 DO +Infinitive: did not like, Did you know?

Sl Cuaall W Baw g’_“d\ (Verbal groups - alxdl) QL:}A.;AS\) oo Whaa JaShus o palaall 028 -
aml ) o jualaal

ﬂ)mﬁjmbd\aﬂwﬁwb\ié\\wé\ﬂ\

Type 5 DO +Infinitive :

In this type, the helping verb “do” is called an operator. We call it an operator
because it helps in a number of operations performed on the verb phrase (VP). Some
of these operations are:

Operation 1: Negative
To form the negative, we put “not” immediately after the operator.

e.g. He does not want it. They did not come here.

: "DO +Infinitive" /s 5 4ddadll 4c sanall &1 530 (30 Gualdd) £ g3l lian Y-
.. dale sl @55k 6l (an operator) = =2 " DO aeludl Jadll < & 5ill 14

Oe e e Ly 43y Glld g apentl) 03] s Sllia 5 <(an operator -Sale) - o se i ai 13-
(VP) adladll 5 Jlual e ( performed— s a5) 3 (operations -iiles)

.4dlisall (operations - <iliee) ) o3 Joe b Liacluy (an operator) 13-



OS¢ anm il o gall 08 ‘éﬁ.i::sﬁ (operations - tll\...glcc) &5 Beldac Ly SES Al g <Al J gapk
LY e ST s g JeaWl

: operations ! e3a (e 13-
:(Negative -Aill) ¥ dalaal -
.. (operator) 1 zx: 15 st (NOt) AalS i (f e 1Y il AL Lia yl 131
..(operator) 4l & " DO" 4alS allall o2a 4
He does not want it () /Jbe-
LGl Gkl A Al g g8 5" DO Jadl) (e g juaall 2 jiell Zapa g8 3 >> does
. 1,5 (does) 2= a5 >> not
.(operator) 4! 3 " not" “auai (Lo Alaa il (51 Al § geal S
.. " does" s 5 (operator) 4l 2 " not" Lidcal aleal) o2a A
They did not come here (Y
L' DO" dadll (e ol s 54 5>> did
.. s (did) 2 &85>> not
.. [ 4t operation I s3a Jaadl 5l ] ¢ i) gaail " NOt" s22y 2855 ¢« "did" 52 5 (an operator) Lual Lia-
Operation 2: Interrogative (question)

The interrogative is formed by placing the operator before the subject and leaving the
rest of the sentence unchanged.

e.g. They come here.
Do they come here? (interrogative)

: "l (Interrogative -Aseliiadly 4l dylaad) - )
8 amar L) Lalie s 5 (question) ) S D Lee s 0 cJadl g5l (e Lail ol S La 5 S30-
..(Interrogative -4Wiuyl) s

(< s>iuY) -Interrogation) o 353k "aledin¥) - Interrogative" *
(Slestaall e 8aill-Interrogate information ) w5 Lexie (6

«aleall &1 (operator) ) 22 "not" @i (Operation 1 - (A sY) adeall) -
.. Aalgiinl aleall Jaal "deldli® J8 (operator) ) gzl (Operation 2 - 4xtll 4leall) & La oS

LY s LS aleall 48y 5 "Jelall Jid (operator) I g 13-

They come here /Jis-



.. (an operator) () zliss 4ualedin alaall delua Jaal
.."Do" s (operator) 3 o sSaud "s" caa Y g cililal s (come) 2 g alladl sda S -
Do they come here? : J si-

o Jadll Jani T Y oo gl maaty (e 3o L ¢y ol alea) Ay 5 4nlad) 8" DO" Al Linaa g Jais-

" D0" < (operator) ) e 3 sy Juaill 5 4xalgiiv) & >> (Do they come here?) 13-
Operation 3: Tag question
He did his homework, didn’t he?
They don’t come here, do they?

: (Tag question - 48 gl J) ) 45 dlaad) - )
..(an operator) ) zlas aS gl J) s ¢ puaail

IV el ) Canai o)) Lol 5 (He did his homework) << 4leall sda Lyl cal€ 131 - /Je-
..(He did his homework, didn’t he?) << 4leall muaivé "did"< (operator) ! zliss caS ¢

A< 5 s 58 >> didn’t he -
. (NO -Y) 5l (Yes - iy 58 a8 6ill Jlsad ) o il salla
.. Yes, he did << s ol sl o 5 sall (e () 5Sns I ) 128 8 (S0
.. (operator - Jale) I sa "did" Al sda A
They don’t come here, do they? -Y
2S5 e 58 >>do they -
LS gl g Wl g seay ST olieadinl 5 (Operator - dele) 4l s >> do -

.. No, they don't << (e ) sSas S 5all (e il sl

[ : oeiclual (operator - dale) ) (e aaiins 3 5 (operation — laleall) (e gl 55l COEN o 038 J
: 1- Making Negative : [ Aadiq Lelaa - :
: 2- Forming Question : [ s delua Y :
: 3- Tag question : [ AS g3 J) s =Y ]




Operators
Jal sall _lS jadll
Operators:
In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can, could, may, might.. etc)
e.g. Operation 1: He could not come.
Operation 2: Could he come?
Operation 3. He couldn’t come, could he?
.(operators - Jal se) I Jsa SiSH ol ) Jas o Y)-
:dei s AT (operators - el se ) s uaall ¢ i) 4 (do, does, did) ) 4dbail-
:(modal auxiliaries)- -
(can, could, may, might.. etc) /Jis-
) aileall >> He could not come - /b
.8 il "could"< (operator - dale) dl 223 "not" L 5-
Y «sleall >> Could he come? -Y
Al dapa Lelaat aleall B0y & "could"< (operator - Jale) ) liaia s
¥ 4leall >> He couldn’t come, could he? -¥
Sl I e daail "could"< (operator - dale) dI Lieaadiul-
2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British English ).

The following are examples of “have” as a helping verb operator:

Operation 1: They have not come yet.
Operation 2: Have they come already?
Operation 3: They haven’t come yet, have they?

..(operators - Jalse) S () slary 23 > : “have”, “has”, “had” -¥



..(operators - d.A\}l:) S ageading Ladie aaulud Jdls f sac i Jladls gl Sl (e -

dall) Mo duald Al o3gd anulid Jladl ?g..a\ e’g.;.uaj s (operators - dA\}:‘-) S pgeadind Ladie -
Ay )

seluse JoiS at (an operator — Sle) ¢ 5Ss Lexie “have” I ge () sSius 401 4Liey) -
:( helping verb operator ) =8

} 4laall >> They have not come yet -
( helping verb -=lus J28) s 5 (an operator — Skle) >> have -
(main verb - bl J28) 58 >> come -
o8 daall Aelua Jaail " have"< (operator - Jale) di axy "not" AalS ela -
¥ a4leall >> Have they come already? -¥
Aalgdind dapa Lelaadd aleaall 40y 8 Have" < (operator - Jale) I sls -
..(main verb -xlul Jad) s "come" 5 (helping verb -aclus J=8) ols Ua " Have" ;-
¥ 4ileall >> They haven’t come yet, have they? -
..( helping verb -2=lLue Jad) 54 5 (Operator - Jale) ¢ls >> have -
..(main verb -l J28) >> come
S 6l J) e anad " Have" < (operator - dale) J els -
2elua J=8 S (Operator - dele) I A (e S 2S5 Il s I T Aglenll A lpua T3

This is an example of “have” as a main verb operator in British English:

Operation 2: Have you any money? (British English)
Compare: Do you have any money? (American English)
L;ul.ui Jai€ C&ilad (operator - dALc) =< ed;_mé 3 " Have" of cua aala cYla @l L Sh =

..( main verb operator ) = [ 4xtay ) axlll 8 laass aaladl allall oda 5]

/Y addeal) e Jlie
(Have you any money? ) :cJ i st sll 4l & Jual ol Lo -)
.(main verb -l J=d) s 5 (Operator - dale) els " Have" << 4xilas ) 4alll i -
2 ) Jlal) e sl JUall ()l *

( Do you have any money? ) :ds& 4.8 5V axdll & Jlall allad Lanie Y



" have" s «( helping verb -i=lus J28) 58 5 (operator - Jale) sla " DO" << 4K ¥l 4zl 4 -
..(The main verb -luY) Jadll) sa

AT (operator - Jele) axiius o DO you have any money? ) :J st 48 »¥) dalll i date 13-
(The main verb - sulwl) Jadll) a2350i ¥ 5 ¢l s A lual allall 038 & aclis J2€ " DO" < 585
..Jlsw delual L (Operator - Jele) <" have'<

—-——
e

\\
. . \
vooneadl
S o -

~_-

&uail (operator - Jale) S 4aladinl liSas ¢(main verb -l J2) < " Have" ¢S Laie-
Ayl 4xlll a Lo (<1 g alinsY)

421l = eqiiﬁ S gl g delual delie J2iS " DO" < 545 (operator - LSALG) PRENI 3ale -
ity 5l a8 Lol (Saall (ha s ey sulaiyl

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:

Operation 1: He is not here.
Operation 2: Is he here.
Operation 3: He is here, isn’t he?

JuilS (o 6iial 5 (Operators - Jalse) S (ysleny 3 > %am?”, “is”, “are”, “was”, “were” -¥
Al a Ja) BldlS asld <Y Ua 2a s Y 5 (auxiliary verbs) < saelbue JudlS i 4l

s Ol WS o 30 L L) o) (3405 5!l iy 5l

bl JriS Cailal (operator - dele) 05S Ladie “4s” ce () sSin 4 aliaY)-
:(main verb operator) =4

Y 4alaall >> He is not here -)
... Aziie alaall Jead saey "not" Lital LY (Operator - Jale) s <l Gudiy 5 bl J2é 58 >> s
Y «leall >> |5 he here? -Y

250 Y cagalgiin Alaall Aapa Jaaid aleall 4302y i olina 5 " IS" < (Operator - Jele) I Ldal -
..(The main verb - sulu¥! Jadll) s " [s" 13 AT Jad

¥ aileall >> He is here, isn’t he? -¥
.(main verb - bl Jad) 58 <8l Ly 5 (Operator - dale) ) 54 >> s

The following are examples of “is” as a helping verb operator:




Operation 1: He is not coming.
Operation 2: Is he coming?
Operation 3: He is not coming, is he?

a0 Lusa Jui€ Cillal (Operator - Jele) ¢Sy Lodie 8™ ce ¢ s 40l 4Liey)-
:(helping verb operator) =@

) aleall >> He is not coming -)
..(The main verb -sLs¥! J=dll) s >> coming
. b alaall delua Jaad saey ela "nOt" OY (Operator - Jele) s 5 aclus J2é 54 >> s
Y adeall >> |s he coming? -Y
..(The main verb - LY Jadll) s >> coming
.. Aalgdind Lelany g Lganad aleall 43y 8 oliaxiiul 5 (Operator - dale) s 5 aclua J2é 58 >> s
¥ aleall >> He is not coming, is he? -¥
..(The main verb -sbs¥! J=dll) 54 >> coming
S ) W faead (Jolieadinl 5 (Operator - dale) s g acbue Jad 8 >> s
Exercise:
Decide whether the underlined verb is:
a. a main verb operator b. a helping verb operator C. not an operator
1. They do not come here often.

b alaall delia Jaad "NOL" o203 ela 5 acbise Jad 58 5 (Operator - dsle) sa > do -)
..("_helping verb operator" e s 13)
b. a helping verb operator s i sall 13 ((The main verb -wY! Jadl) s > come

2. | have not seen this movie yet.

i Alaall At lpa Jaadd "NOL" s sl 5 aclus J=d 2 5 (Operator - dele) s >have -
..("_helping verb operator" s s 131)
b. a helping verb operator s <l sall 13 ((The main verb --u¥) Jadl) s > seen

3. Do you have a copy of the movie.

90 sl A Lual slieadind Ja (S5 «(The main verb - ¥ J2dll) s > have -
Ll J2dl D" e lusal) Jadll Weadial s eJadi ol Y
sl U asead aleall 400l 8 sliexdiul 5 (The helping verb -acludl J2dll) s > " Do" 13-
«Jlsad) delual (Operator - Jele) < L 233545 a1 " have" oSy «(_helping verb operator) se s s




b. a helping verb operator s < sall 131 ¢ ulusl Jai€ ¢la Lot
4. He is not here.

LM e JAT dafaleall ol (s Y -
«(main verb operator) = s» 13l¢(operator - dae) 5 5(The Main verb - ) Jxill) 5 > is 13-

a. a main verb operator s gall ol sall "is" < (operator - dale) I 2z "NOt" Juay Sl Liial
5. He isn’t going, is he?
..(The main verb - LY Jadll) s >> going -°

(_helping verb operator) e s» 131 c(operator - Jale) st 5 aclue Jab s >> s

b. a helping verb operator s& <l sall 13 ¢ " aelusall Jadll aladidy 38 gl Jl s Likial

asdlidl 5 juzaladll

Form and Function
Al gl 5 aaall
Form and Function:4d sl g 4aual)
Form is what the word/phrase/clause look like.

e.g. noun, verb, noun phrase, verb phrase, relative clause
Function is the “job” of the word/phrase/clause in a sentence.
e.g. Subject, Verb (Predicator), Direct Object, Complement
o) B adidagll 5 aasall Ga AN e DUl Cidatin o jualaal) oda 8%
.(word/phrase/clause) ) 4 sekas s sedaal 5f JS3 5o sddsall-
WMol dpal” ool edaa 5 Ml dana o aalsl) jelaa o (51
M) dleall"J ga sall o) dlas caglad o jle el ol (2 canl /S
el Aiiaa Jadll G (g (and sla) Jadll 138 1 585 Larie SUiad-
<dad Lgiaua 4l o) (o) (dad ela) 4alSl oda 1] 585 )

AR Ol jualaall s S alial agd U S3 (VP) 5 (NP)-

. 4apa O o lie s (clauses — <)all i Jeall) ) g5 sas) 038 > "relative clause” -
¢



LA eLd o) Aealall G paladl) * (clauses — <l adl) | d.«;l\) Jl e dattugk
.Alaall & (word/phrase/clause) 4 Jasll oo s jlie 5o gzadula gl
.. aleall 3 (word/phrase/clause) 4 4lxi L (5)-

<l bl o Wil b 85 WS (NP) 43au¥) @l jlall Jee 58 5> (Subject -laisal) 5l Jeldll) =Y /Jie-
.(Subjects - iz 5f el ) ;5S35 (NP) 4pens)

.. 42l 1l > (Subject) Jelill cazpall > (NP) 4pan¥! o _jluall 131-
s 5K 8 5 Abdh g ()5S 38 Ll > (aial) — Predicator) Jedl) -Y
L ALISS Gl Laie dipa ) Son
.(Predicator) sVl Ll 4al€ll Cailad Laxie 48da g o S
«( Predicate -4l 28ikas) 5 deli s e (5 gind adanad) Jaall o) Ll LS
¢(2all — Predicator) e 4l i) & Jadll
"it can be filled only with verb" ki J=als (W k) Lelaa L2 of g8 (xial)-Predicator)d) dada s
LAbl g aaual (Verb) pllhaas padiug 8

Lgas Adyda 11 _inall i A1 " Verb" ame O 4iids S (Predicator) sl (Verb) alhuas adiciu S
..(Predicator) 4

sk ol e JST(Verb) (ems pa3iid s o(Predicator) (sase Bale PRESR ¢ el Jagndtl (KU -
dauall

3

& il Lelaiy ) aili 1 (to indlicate — ¢l 5 i) (Predicator) (asall pladiul Laaf e (<
alaal)

AL ) paladl d6Lul8 > Direct Object - ¥
LA els o) o aalaall oda A Lldliin > Complement - £
Exercise:
Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. form b. function
1. pronominal group
9(ilanall de sans) 43 jnacall 4 sanally b sexi Al CLSH (e e ganal sf o jlall adida s of dsa sda Ja -)
SWeall ;e Jlia U 85 54y paall 4 sanall (e Gl Uiy

Lall < g Jiae 50 We < peca Wl cay jiaia 4e seaa o (We all)-



}\ "phrase _ 4,1‘“; 4l _5\ bJL:ud\" 4 )@_LJ L;Lm _)Q_Lud\ < Lﬁ‘) 4&:\.&.&“ e.u:\ ) 4.:\‘)..}«@5\ 4.9}4;4&\ TA\-
a. form s <l sl «(group of the words — il (e 4e gana”

2. indirect object
A(NP) 4aenl o jle o5& L e 5 casla s 58 >> indirect object -
..(Functions of the "NP" — 4xau¥) o jlsal) cailds 5 ) Jal8 22y 2alun
..(indirect object - il e 43 Jgnin) A 4dda gl 5 ¢ (NP) 4pan o le o8 arpall o) -
b. function s <l sall 13l
3. complement

) Cual a3 (K15 6o 3 505 22y (COmplement — 41:853) ) e islias >> complement -
«(complement — 4L&aN) 1y awsi o 5 5 o e ol 4nlSlaiday a Jy LSH fall

b. function s < sall i3
4. subject
A(NP) 4sasd o Jlie 05 L lle 5 caialig a Jelall o Tl Ll LS clal) i Jelal) - ¢
b. function s» <l sall 131 «Jelé (subject -Jeldll) o 4ik 1 5 (NP) el o jluc 4 Akacall o -
5. noun phrase

‘A_'QBUA}S\ % Azl :\a:ua Arany! o‘)\_.ud\ OsSL LS\:, § (Axua ) (4,3.«.»\)\ c)l_}aj\ - nhoun phrase) _o
c e

..(subject) Jeld oS58 )
..(object) 42 Jszie S5 8 Y
..(direct object) il 43 Jgria S8 8 Y
..(indirect object) il e 4 Jsrda sS58 £

a. form s ol sall T3l
Functions of the Noun Phrase (NP):
1. Subject of a Clause

As we mentioned in Lecture 4, a sentence needs a subject in order to be complete
(except for imperative sentences where the subject is unstated).

e.g. The old man is here.
L(NP) I cailda ) Jaisin oY1
el o)Ll (T "Noun Phrase™ 4 Jbaial ,a (NP) of las LS

LAY c)\.,\aﬂ 4aaliadll g_u\.L}X\ aa Lt



sle (Alan gl 5881 (Iaise o) Jold) 2 /A Aganll o jladl I g¥) 4da gll-

zls; "One Clause sentence” 131 ) cald& wuail Jeli zUiad alaall of 4l 1) 5 jualad) Ja Ll b <3
.. ["unstated - z 3ad 3" e 05 Jeldl Gf a3 Jad el | o JaiSe muad faise ol Jeld

. aseie 4 Jeli aa g Y aleall 028 8 >> GO study /Jie-
el ) zlini gAY Jaall e 8 (K15
The old man is here :J6«-
«(Nominal group -4xex! 4lea) 58 5 The old man << sa 4leall oa & Jeldl)
L[ detd assdag 5 Al dles Alrua o) 61 ]
man<< (The head - _))-
old 5 The << (Vi &

(Nominal group -4sew¥) 4 saaall)s st 523 oaal 5 4e sanaS Josi (The old man) 4530 LSl o2a JS-
MA@l Ol pualaall 8o g S LS" (NP) 4] Gl jlall e g 68 o8

. (Simple Clause Sentence -4kl 4laall) o3¢l Jeli 58 " The old man" 13-
2. Direct Object of a Verb
Transitive verbs require an object. Monotransitive verbs take only one direct object.
e.g. Ahmed finished his work.
2 La Jadl pdilial) 4y Jsrdal) -Y /A dandl) o bl 4dlil) Al gll-

o385 4y Jsria o (s sy a 3O Jrdll () 5 csania Jad gl o 3Y Jad 585 38 5 Jadll (e oLl e (5 S35 2558 13-
.. Sl Wl Laals S5 o0 (Ditransitive sl Monotransitive) ¢S5 38 Ll U S5 4a3Ul Jlady)

Ahmed finished his work /Jis-
' seadl alal 2 3Y J=é - Monotransitive" ss 5 el s >> finished

«(NP) s 13 ((Nominal Phrase -4 o le) s >> his work
«( The Direct Object of verb "finished" -"finished"dzill jilu J s2is) ela Liay 5
..(The Direct Object is "his work™ -" his work" s Ua ,ilLull J s=iall)

Ol dem gl Dl sa o S allall o b g aleal) oda b aa g4y J s Ll 13-
..la (The Direct Object -_riluall J siall) ¢S

3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive verbs. They
take a direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)



The shopkeeper sold him some snacks. (... sold some snacks to him)
:baJadl jdlia pud) 4 Jgadal) 2F /A dgand) o_jluadl 4G Al ol)-

4 e 3Y Jladl - Ditransitive Verbs"= aalise s Wil ¢ 5 S¥ LS 5) cplsaie o (5 sind 4a D) JadY) G-
BSPTIN|

e 2als 5 5)"One indirect object" s &bl 4 J seidl (e 2215 51"One direct object” 33l JlxdY) s3a-
ol Ll 4y J sedal)

ordle gl g (e s bl Jgniall g (e L8 ol 2Y allall oda 8
(LS M kel ;) He gave Khaled a book - /Ui
(Sl sl pamad g W) The shopkeeper sold him some snacks -
legia JS (8 Y g2da da g ileal) pila 3o
sl sY) aleall i

.. dadll 8 >> gave
abook -Y « Khaled -V << (¥ szie Ll 5
.(indirect object) s» AY! 5 (direct object) s» Legie sl 131

el alaall o3 re-phrase sl <LKl re-state gadaius ¢Jeasl oY1 Jaal-
(AW sl el ) (He gave a book to Khaled) << 1<a

oSl Jsmiall () S5 Lgiilen Jadll 22§ plie dgan¥) o jlall Ciels aleall ol A
ol el Jgmdall & "0" e iela (Al (NP) asen) o jlall 5
e Ll Jgmidl 8 >> Khaled 13-
<. o8laall Js=iall 54 >> 3 book

gniam 5 Ll Jud iy anll imny co 10 IS (B @ Y LS gl 5a¥) Jnadl 0 el s i ale) 3 o
Ll Ay Y

sl aleall 4
.. dadl s >> ol
some snacks -Y ¢« him -) << Y gzéa Ll o
.(indirect object) s» AY 5 (direct object) s Legie 2n) 5 131

el aleall o3 re-phrase s el re-state aebivs ¢dend 5a¥) Jaal-
(A sl e s8)  (The shopkeeper sold some snacks to him) << 13%a

Lol ad) J sl ga "him" ¢ il Js=dall g8 "some snacks” :allsll oda 4



ke ) Jsidll 8 >> him 13-
L8kl Jsxaadl sa >> some snacks
4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause. It is necessary for the meaning to be complete.

e.g. Ahmed is my best friend.

(is, am, are, was, were, been) 43 sisl) Jad 4+ ol ATaSA) _¢ /A dzand) o jlaall day) 1) 44l 1)

([is, am, are, was, were, been] : osSi 3 (BE) 43 53S) Jad () alas LS
..(Past Participle) 3! () * "been" J=dll

(a8l Jdl DA e 7)) JdY i YA e adead) 4eua W ol -
SOV e et sale b 6o pualaall oda & <l e 33 WL SY S 5 >> (complement -4l&Al)-

sobe 5l AalS]  imall MAZE J2KE ) [Madeats ji i Malen 405" o jle sl 4alS] 1 (A ALRKAY (i yai
L5 AT [Malan S 5 Malen 8

sinall (alail) JWaS) ¢ 4 ALRA) dipla 5

O o)) AliSa e pranaios (5 AYI ["alens il gl "ales 405" o jlall ol 4l Al 52 e 13-
(S oy ) (adll

(—mmmmmmee- It is necessary for the meaning to complete) / J) s
complement / s < sl
(DS i) muad (o) el plasY dega oo AL T

OS5 MAL&A Adda 5" bl o) o3 ) Cam 4l o ymladll i (AT 334 -another distinction) aali
Malea 4d" o jle }\MS]J@’-A‘ eLgSYA.q@_AGAM\ U\Lsa)Sﬁo)AM\ oda @uﬂ}c"\i&ﬁ)’-}c
e @l el e Uias vie (a0 [Maleats i

Ahmed is my best friend /JGe-

o2 (8 A g [4reul 4= saaa -NoOminal group :4e 5] (NP) 4l o sle a4 << my best friend -
izl JLaSY Lgaling Uil (g1) (cimall alady daga Ll $ALEA Ll Liale (o€ alih gl allal)
«( "Ahmed is" - alaall ¢lgs) WiSay (1) alaall elgl ddaii alai &5 (Ahmed iS) 15 of LSy Db
S Sl Jad 5 Jelill el J2& ST e i ) pliag

LAasad e L.a::\ i alaall 5 Sndl) XLQSSA e rual alaall (my best friend) 0> ¢ 1l
LY kel 94 gas i Ja aleadl o3 8 (NP) 2 L 131

. (is) 458l Jadl 5 (Ahmed) Jelill ali&% _a " my best friend"-



Note: When the complement is a noun, it must agree with the subject in number and gender.
Ahmed is their uncle. (not “uncles” or “aunt”)

Sarah and Huda are their aunts. (not “aunt” or “uncles’)

The full verb “BE” in this example only serves to join the subject and the complement
together.

In this case, the full verb BE is called a Copula (=something that joins things together).

There are other copulas in English, for example, the verbs “become” and “seem”.

il 5 a3l 3 el e 5 o A Ml LKA () 4S5 Laic '\'\ ’;; )
Jxd g Jelall AlQAll) Alla 3 (il g 23all 8 i U o€ o cany LaaDIS calz&Al) ‘ﬂaﬂ}d;@s_\_a;is\_
..(Complement of the Subject +BE -4 5:<1
o [ Ll olizils ] Guial 5 a0l (y5 S350
CAAJ\ 53584l /Jie < 22l
Loalae o S /e < il
Ahmed is their uncle -Y/Jta
S35 8> Ahmed : of a3l
SY 5354 > their uncle

s JaAl LWiSay Y
?1ald "Ahmed is their uncles" *

..&= (their uncles) s 24 (Ahmed) Y-
2k Uy o i) e cang 131
$13kl "Ahmed is their aunt"*
.3l e 2523 (their uncles) s 83 aul (Ahmed) Y-
LOSAUS O ) e ang 1AL
Sarah and Huda are their aunts -¥
&5l 5 aea > Sarah and Huda : of a3
S8l 5 aen > their aunts

s sl WiSay Y
?1aLl " Sarah and Huda are their aunt" *

..2sa (their aunt) s ges Legsl Gl gaasisi oo o e (Sarah and Huda) Y-



e LSy O i) e cany 1AL
(" auNts" a5 pes 585 A& ) 4alas "Sarah and Huda" of f)-
13l " Sarah and Huda are their uncles"*
S e 3 gay (uncles) s &Y e 253 (Sarah and Huda) Y-
LGl e o gan o i) e g 1AL

(I e 3 5n5 LY M qunts” ALKAD ) asla W g)-

-———
- ~
7

N
AR TR
\ 2ol ;
o _-

[ Subject + Be + Complement ] "4eu! o jle (5585 Al&Al" [ 4li€h 545538 Jad 5 Jeld ] Wl (IS 13k
Wl il gl 8 Jelall w3855 0 cany "ALEKAD 8 5" 4] o jLalli

. e ALK g Jelall Maan Jay y 6 L andy JUial) 13a 8 i) 40 530 Jaik

O Loy of ot Alexd ¢ AT Jad am 9 Y 43 aelise Jad a5 asliad Jad Jeal) 0dn 8 () 65 40 53S0 Jad
(e Lol S Jany a3l (51 Lo a4 5 Jelall (e

'copula - Lol Jadll" ey (ol 43 S0 Jad) allall oda a3
Loary $LiY by ple e i s A" copula - il Jadl ALK e

4 [copula] = (is, am, are, was, were, been)"Be" sl 435Sl Jad 131
" Be"as sukl JadtJelal ale&Al dlla

3 ikl Jad yue 4y 3ala¥) 4l L s ,aT (copulas -4k ) Jladl) llak
/LY Jia

become-
seem-
Al aall) 8 day) S 0 Dlens Laa (Dladll ))2a

@llia o 158 ya of aSie o sllaall (K1 5o pualaall 28 (8 (Dladl) (38 e alial |53l o)1/ gi€a s
LAl Jad e 5 AT Ll 5

5. The Complement of the Object
e.g. He found Faisal a good student.

In the previous example, the noun phrase “a good student” is the complement of the
direct object “Faisal”. Compare the examples in (a) and (b) below:

a. The teacher found Faisal a book.

The teacher found a book for Faisal.



b. The teacher found Faisal a good student.
The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book™ is a direct object.
The sentence means that the teacher looked for a book to give to Faisal.
In example (b), “Faisal” is a direct object and “a good student” is a complement.
The sentence means that the teacher thinks that Faisal is a good student.
24 Jondall ALASAl) -0 /b dganl) o jlindl dualdd) Adula ol)-
sl Ay aga o o8 a AKA G 05 SN LS
He found Faisal a good student /Jts -

Jeldl >> He ; Wl
J=dll >> found

ilaall 4 J g=adll >> Faisal

&8s adl o 1385 13 "Faisal" of Siag 43 La ealld (He found Faisal) 1 s Levie (JaiSh e Jmall oSl
LIS e el o 8 ealld 13S0 "Fajsal o

oda g (ﬁ (a5 gl OIS Jead Of s "Faiisal” a4l Lis aais Y-
"Faisal" of 428 sy 5 pasdll saiiay L 0y «(He found Faisal a good student) - sl s (s 138 o Y
S
LI 58 O snalls AL&AN 038 () 50 (e Y"Falisal” 4 Jsxiall 4S5 o (@ good student) 4l oda -
..(a good student) 4! o jlall ¢y 53 "Faisal" 4 Jseiall JaiSa ¢ 55 o Jiall 13-

< (So to state we said here again - s a1 5 e L olili Le zua 5il) -
J"Faisal" sdbadl 4 J sidl ali&4 a (@ good student) 4 o jlal) Galudl JUdl 8

1J3uVG (D 5 @) (8 4Bial) (8 /ARG (g o i gill oL La ina a5l
The teacher found Faisal a book -a
The teacher found Faisal a good student -b
L oldliaa Lea a8l 5l (8 oSD 5 gl Legil L ey ilaa) ila-
palead) a5 i (2) A oY) Allall -

The teacher found a book for Faisal



il S e Cad aad aladll 131
d adeall s 5 amin () (B 4l Al i
1058 o iy D8 ¢(@) A (e 4dlide aleal) o2a-
The teacher found a good student for Faisal
LA Le 13 Gl Y ¢ diadl aall Gl sy 5 s s e Casall caady ol geb
sl e o 4w yisale) LiSay-
The teacher found Faisal to be a good student
o gine b g Jaad (b "Ga diiny sed-
s el ik
8l e 4 d i 8 "Faisal” < (a) JsY) Jial i
. il 4 Js=ie 2 "a bOOK"
(S Jead el " Jeadl LS o) sa)-
LSl olae | 5 QS (e day aledl) G ind aleall
Lha ela (D) JGall asd g4 Jgrie Wl () 8¢ il 4 Js=ie g8 "Faisal” < (b) S Ul 5-
."Faisal" 4 J siall ali&% s "a good student"
Agine Qs g e () sy aleall ) i aleall o B S3 LS
6. Object of a Preposition

Prepositions are words like “in”, “on”, “of”” and “off” which are normally followed by a noun
phrase. The noun phrase that follows a preposition is called the object of the preposition.

e.g. We are in the same class.
He walked on a high platform.

In the two examples above, the noun phrases “the same class” and “a high platform”
function as the objects of the prepositions “in” and “on” respectively.

2ol ad Jgada 2N /o Avant) o jlall Al 4dudi ol
NP el o s g Bale 3 (in, on, of, off) /die S o all Cag -
el sl gt Ay jadl 42l <l Cajad J e oy jal) Caja 338 Al 4ganl] o jliall-
ol ol Jsmia o il J pria alaall J gaie ()5S 38 43 Tl Lili

.(Object of a Preposition -_all sl Jsaie) o4 4islasl 5 (NP) & _asaall 13-



coall Caal Jsnia (o Ll 8 ja s any (NP) cand s 130 131
We are in the same class -V /Jbs-
..(The proposition — _all ca ) >> in
.. (Object of a Preposition -_all caal Js2ic) 4 5 (NP) 4xensl ole 4 >> the same class
LMooy el Al 408" (PP) soaall 5 jall 3 jle agrewi >> in the same class
He walked on a high platform -¥
..(The proposition — _all <s ) >>on
.. (Object of a Preposition - sl sl Js2ie) A 5 (NP) 4xeusl o e 4 >> 3 high platform
LMool el dles 428" (PP) Lol 5 ksl 3 ke agaens >> on a high platform
:(S0 to state we said here again - a0 5 e Lia olli Lo graia sil)*

Js2iaS eny (@ high platform) s (the same class) 4sess¥! &l jlall ¢ eV 8 oAl callial) 5
(S5 e -respectively) (on sin) sl < al

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or thing as
another noun phrase (NP) that came before it.

e.g. Your friend Ahmed Al-Ali_is here.

In the previous example, “Ahmed AI-Ali” is an appositive. It is in apposition to the noun
phrase “your friend”. Both NPs “your friend” and “Ahmed Al-Ali” describe the same person.

We will talk more about apposition, including apposition types, in the next lecture.
2 A e ddan i dzand b lad Ja) Y /A Azan) o jlall Anjlud) Ads o).

el Al s jlall (5 AT dpansl o LS ¢ L1 s 5l (adll) Gai Comy dganl o e 58 3 Jall Gy i
(Y Al o jlal) 8 SA ¢l Gadl) (et Cauad 40BN Al o jlall G 51 ) Ll

Loaddll Gaii e () sad LaalilS (lilite Bela lisend ()l e Lual 13-

Simbiie Lol Lea o3 61 S (and, but, ... ete.) s ad ¢oiant) o el o gy o b Gllia ad 131

o laall S]A,\ oy Jadyn Gcii (‘51‘3\2“ Araw) a‘)L.uJ\)de\ HY\ Az ‘51..3 Lﬁj‘ (4.;\.1\.3.“ Arany) bJL.uJ\)‘;.SLZS\ H‘)}\_
.. é}y\ WY\

Your friend Ahmed Al-Ali is here /JUi.-




.(The NP) (A 5¥) 4seu¥) o jLall >> Your friend -
.dadl & 5 ¢(The another NP) 4stll 4.l o jlall >> Ahmed Al-Ali -
o oaddl G e ol gas Ll 5 (5 A 4ailiia Bela Laalils
.. Your friend X ¥ Ahmed Al-Ali -

(A s 3 (Apposition) s (O)) < ) (Opposition) s |88 ¢ gisal) Lglld 4l galaex
CSUAY) S A alidg Lalinad > "Opposition" A{RPATAET Ll <3 L;d\ gdagaiandag <* > "Apposition"
WA e sl i O

.(Apposition) < (A) sy fag i) s Ui 4y saill aia gl o ) sdaa D o oy 131
:(Just to state we said here again - s il 5 s Lia oLilE Lo praia i) Laid)*
..du s (Ahmed Al-Ali) - ¢! Ul
.(Your friend) 4se¥) o jlell Yoy sqd -

LAnds Gaddll e’ (Ahmed Al-Ali) s (Your friend) o) oy bl WK -
A o pualadl) B Lall g pa gl sl ] el e (e 5 el g pa e ST Gt
Exercise:

Choose the correct function for the underlined NPs:

a. Subject b. Object c. Complement d. Appositive

1. His father gave him some important advice.

¢ (some important advice) 4das o4 L -)
Jeldl >> His father
Jadll >> gave
.. (gave) daill 4 Js2ia >> him
. Laif (gave) Jxill 4 J s2ie >> some important advice
woile e AV 5 dla Lanlaa) (Y sxde Ul Lia Tal.
. 4ball Js2adl s 131 ((some important advice) s ghc‘ S e T3l
.(gave) dxdll il e 44 J 528 >>some important advice -

AT 2 sl a5 (gave) Jadll Hdla e 43 Jsade >> him T3l



ile Lyl 5 53l Jsniall oa (pe Caynil Ll g alliay) o glladl) el W Zafd aleall (i yisale) LiSad -
: Joau

His father gave some important advice to him
cihe 4y Jsrie g ) ity 540 Js2ie s >> (SOMe important advice) 13-

il &5 (50 4y smie 4l J sl i€ 13 als S (a5 ple IS aia gl g ) gaal) 8 o llaalle
b. Object s < sadl 13) ¢yl ye ol il

2. Ahmed’s uncle lives in Riyadh.
.delé 58 5 (NP) 4penl o e 4 >> Ahmed’s uncle -Y
J=é >> lives
..(Subject -Jel8) 5 (predicate -4d) xiwa) ) zlisd aleall Of alai LS

Cela 3 5 (Ahmed’s uncle) & b 4apasll Sl jlall 5 4san) ) e Sale ()5S deldl) Al o2a b -
Lo delall o 13 (el Jani a5 (lives) dadll Ja

" Ahmed’s uncle" deldll (M osie L 51 (predicate -44) 2iss) (o» >> lives in Riyadh
a. Subject & ol sall i3l

3. Ahmed’s uncle is a successful businessman.

$¢Jeld (a successful businessman) Ja -Y
Ahmed’s uncle < st 5 Ua Jeli Ll sy ¥ -
9800 f ali&s i i 435Sl Jadl J s2éa (@ successful businessman) Ja -
) i 130 et 8l G e ) ga liliie lisand G5 ke 2a 5 Y AV Ja Gl 58 adally -

(51 ) oamy ALii ) Ui 43 i) Jad 5 Jelb Ll (S 13) LS LaS 5 (ali&Al) 5 J smiallslon (L Ll iy
(SN 28 2y

A PRASA{IPN PR{IPRYY IS NASR zlsi>> (Ahmed’s uncle is) -
.."a successful businessman" 4xew¥! s jluxll

B @:_A\ d.;Sjﬂ Aaga AL&AT o3 1A calaall oLl ddaas ) ?" (Ahmed’s uncle 1s) J s Oi E.Lﬁ..u Y-
c. Complement s» il sall 13 «(The Complement of the Subject +BE) 4LSAl Lezansi 13¢)

4. Khaled has a lot of books in his room.



.. (NP) 4xa¥1 o jlall >> his room - ¢
o e s S s o oo Ll IS 13) (s B LS 5y iy 3 (NIP) f B3t
b. ObJeCt 52 gl 13 ¢ jall Cajal J gnaaS

5. The teacher gave the students exercises.
Jeld >> The teacher -©
J=8 >> gave
..(gave) Jzill 4 J sia & 5 4anl o jle >> the students
(gave) J=ill 43 Js=ia 54 5 ansl >> eXercises
(gave) Jxill oY saia lela Clal Lnal -

: sl aleall (i sale) LiSey -
The teacher gave exercises to the students

L Ale 4 J2ie g 5 (gave) Jxdll 4 J i >> exercises -
b. Object s sl 130 ¢yl ye 4 Js2ia 58 5 (gave) Jzdll 4 J sxie >> students -

6. My brother Saleh studies at King Faisal University.
..(Nominal group -4xeu! 4 saxs) Lee 53 cdzansl o e >> My brother -1
..(Proper Noun — ale aul) e 55 caranl o e >> Saleh
Al (2l i) e ol s Laa DS 5 alliie lela 4gansll o Ll ) 5if (e (e 53 -
.(Saleh) e ciaidl &1 13 "My brother" 4sle 3 s @Ml padill i e 3 g2y "Saleh" -

ale 3y A (ad il i o agmy a5 AT aul 2x el and Y () o) i) b shadl au) -
d. Appositive sa b sall 131 ¢"J 531 anl1 (i 51" AV ans)

7. The manager found him a hard working employee.

¢[ a hard working employee ] &k oo W -Y
M\ad@i@;ﬂ\‘f\&d\}h ‘Mu»gjyvvdww&buc&mﬂu&dﬁdanu\ﬂd\c&@udé -
i Jale adly ey sl ainy el o o8 aleadl 3] maaiall el -

Lol ela 8 5 himM" << s 5l 5 40 J srda Lo Ll
4 smiall Ja&s s s 4y Jsmie ol 58 (a hard working employee) 13 -

s J s alaall o3a i yisale) Li€a, -
c. Complement s» < 521l 131 « The manager found him to be a hard working employee

)});AX\})L;“B)L\Q&jdﬂ\&%d@\bﬂ@\éﬁm*

¢ (Complement of Object) s (Indirect Object) ¢ é’ﬁ S /)
ola¥) Lea seia Bl g aleal) iy salely sl gad)



4xludl 3 jualall

Types of Apposition
Jadl g1 gif
Jad g1 53 Types of Apposition :

In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as an
appositive. We defined an appositive as a houn phrase that describes the same person or thing
as another noun phrase that came before it.

In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.

¢ac) gl HShu Cum ¢ 3 pualaall oda b ST S dde aaatin g ¢ Al 3 bl & Jad) BT ¢ 5 S35 LaS-
NP = b peaid) daan) 5 el 5 ¢ duaw¥) 5 lall Calla g an) oo gAida o Jall o Ll LS

el 8 jlall (5 Al dgand 5 )laS o L8l i 5l (il (i Caiay 4gand 3 ke 58 1 o Jall (g e LiSay-

(Y Apan) 5 ) B ) S ¢ i i gl )l Ciay dzansd 3 e 58 sl )

sl el Lagi am 53 Y g i o ) ol (adl) laat LaaliS 5 (5 Y] any 5 Laalas) (lisansd o jlue Lial 13)-
Ll 5

st 8 bl dia s AN o L) 5l Gl Bl el G A 3 Jlad) ) 1 ¢ (and, but, .. etc.) <
SOl ) gl Gl s pualaall o2 -
A3 e ) Bha e ¢ (23me) e sS  Jadl-
(s e sl m g ) o3 (e 3301 58 s restriction o o255k restrictive -
A. Restrictive Apposition

e.g. Your friend Ahmed Al-Ali is here.

In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first NP “your
friend” by giving an answer to the question “Which friend?”

We call the NP “Ahmed Al-Ali” in the previous example a restrictive appositive.

Note: In this type of apposition we do not use commas before and after the appositive.

;i Jad) -

Your friend Ahmed Al-Ali is here /Ji




40l 3 ue NP << Your friend
Ju a5 4l 3 ke NP << Ahmed Al-Ali
(s eV o Ll amy Coplan AN Apaisl1 3l ) Laguiand (alliia lela Laa DS
VYV o lal) (8 s (531 (ot Bl (it ibm 5 LS Jaull o4 4l o jlaall -
Y e o Ll (inall 345 () nal) S8 ( Ahmed AlLALD 48l 4gasl) s jladl JEall 138 6 -
(&l caenl alla i ) Banea (5l e Ca Ll el e 058 (A Friend is here ) L 13)-
o (Sana sl ) 1 s s il Lt (lia Jaine (5S35 (am (51 1)

( Your friend Ahmed Al-Ali ) : Js& Laxie (Sl

.(Ahmed AI-AL ) 436 4saul) o jladls (Your friend ) 4sesY! s jlual) B3R o ligh
il ain )l 3 gl e sl ( Ahmed AL-ALN) of -
L2332 0y ) S5 e ( Ahmed AL-Al ) Al oaa 3 13 -
ol 2ay s U8 el b o230 Y Jadl e il 12 14l gale
. e s o2ay 54l aa 50 Y ( Ahmed ALLAL ) Jull of Qi) o 1 slaadi 113 -

.. Gral 8l aadiiin Jall g gl 8o

B. Non-restrictive Apposition
e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and does not
need modification. The second NP “your old friend”” does not tell us which “Ahmed Al-Ali”
is here but only adds information about him.

We call the NP “your old friend” in this example a non-restrictive appositive.
Note: In this type, we use commas before and after the appositive.
s el Jad) e
Ahmed Al-Ali, your old friend, is here /Jis
el 3 )e NP << Ahmed Al-Ali
Ju & 54l 5 ke NP << your old friend
(s eV o Ll amy Coplan AN Lpans¥) 3 lall ) Laguiand (alliie lela Laa DS
Y o) b Caay Al paddll (i a5 g5 ol o 4l o Ll -

.. (Ahmed Al-Ali) A s¥) 4l o jlall a2y Sels (your old friend ) 4stll 4xenl o jlall -



v V) a6 lall (inall 325 (5T) madl S8 (your old friend ) 4t 4zen¥) o L) JEall 138 8 -
« Ahmed Al-Ali ) = Ul Ll L olilad L (S 5 Gl JUiall agliie Jia) 12a-
.(Your friend ) = (Ahmed Al-Ali) sls S84 Jall &

Y 2384 il Lﬁi) 4l by L.,SJM 5 fu.u\ B ( Ahmed Al-Ali ) ‘;)S.“ el o jlaall cadlall oa &_
ot ) st ) zlisg Y 5 (e ad ol el

. (Sa8 Gava 1 ~Which old friend? ) :dluis ¢ your old friend ) : <l J& Lexie-

5ol il Y 5 (2382) (s =i s» Ahmed Al-Al of s sleiu ( Ahmed ALAT ) : el Jis Lasie (15
AganY) o jlall (3 580 (6 mall 3aa3 Gl 5 4slia] daslas e o sle 2 ((your old friend ) O 1agd
coodnyy Jall 138 0 Jal g8 Linim g 5 (3355 ) 85 e o dpend Caandl) 130 ¢ Y]

Lo g ald Joal b Liaiay 5 585 3 Ju s (your old friend ) 13-
o dul da g J8 Jaal 8 aadi Jadl (e g il e A cAds gala
Exercise:
Decide whether the appositive in the following sentences is restrictive or non-restrictive:
b. non-restrictive  a. restrictive
1. The shopkeeper Othman is a hard working man.
40 3 e NP >> The shopkeeper -}
Ju (& 54l 3 ke NP >> Othman
(Y eV o Ll amy oplan AN Apans¥1 3 lndl ) Laguiand (alliie lela Laa DS
- sl o jlall 8 Caa’y Al (adiil) i Caa 5 LY Jad) o 4l 5 jlad) -
..J s 13 The shopkeeper 2 sls Othman-
« shopkeeper sl ) Juis 38 Lgd ( The shopkeeper is a hard working man ) J s Lexie -
. $2a5 &3 1 ~Which shopkeeper you mean? ) :Jls %

& 0S5 sl iaall Ui Ligs ( The shopkeeper Othman is a hard working man ) : Jséi Lexie (Sl -
B @Lq R L'g'ﬂ\ s Othman G:;.J; Lo il e dhaati ot Y ‘QJ;Y\ Al o jlaall

a. restrictive ss < sall 13 ¢ %ia Ju s Othman 4llall sda -
2. Dr. Omar, my Linguistics professor, published a book.
4aul 3,Le NP >> Dr. Omar -Y
Ju A 54l 3 )ke NP >>my Linguistics professor

b «(my Linguistics professor ) 4alll alal (s ) suds 52 8 5 (Dr. Omar ) = Jsud s Ll lias
. Olen) Gk



5213 35V 4aand) o Ll 22y els ( My Linguistics professor ) s 1s¥) 4seu¥) o jall s ( Dr. Omar )-
. u\:ﬂ\ w‘w b_)L.\:.“

A e 3 Gy Laa SIS

38 O alai a8 (Dr. Omar ) Ll o aal) iy 5l 335 Y St 5 Ju 8 (my Linguistics professor )-
Ol laley aaiasall 5 aaiall ¢ € jee )5Sl 8 (e —Who is Dr. Omar? ) :dbus o) chasally adill
sl lal ) gudg ye s Dr. Omar Jswd s ull

b. non-restrictive s wlsall i3 ¢ Sie ,e J s ('my Linguistics professor )-
3. Majid and Saleh, my cousins, will visit us tomorrow.
sl 4anl 35 NP >> Majid and Saleh-Y
4316 4enl 3 e NP >> my cousins
o L Ll 5 ) i e )3 sma Laa DS
.( Majid and Saleh ) glassall (les¥) 3 5l 353 Y (my cousins )-
b. non-restrictive s < sall 13 ¢ e ye Jy 58 (my cousing ) «4llall s i -
Prepositional Phrase
Dsoaall s Jladl s jle
294l a3 ke Prepositional Phrase (PP):

We mentioned that a preposition is a word like “in” or “on” which is followed by a noun
phrase (NP).

e.g. Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional phrase. It has a
preposition “in” and an NP “the classroom”. The function of the NP in this sentence is the
complement of the preposition “in”.

A preposition normally comes before an NP, but it can also be separated from its NP as in:
e.g. The man is standing on the platform.
What is the man standing on?
The platform that the man stood on was very narrow.
However, in these examples, the association between preposition and NP still exists.
osoaalls el e I i Y-

oJlaad) e SIS Oall G a5 3 Anan¥l o luall Al g 3 Q8 IS 5 sl s Jladl sk e Tl Liaas
sl s Jallsjle dhea all a5 4pan)

oske Jalyole 3pa s 2aad T3] dae dsand o e 5 sa Cia dsay il o S g el Jladl s jle 13-
Al



e (soaalls Jalls e Jal L dpenl o e Ll il 41
NP 4saud o jlay 1525 0 (0, On, L. BtC. ) ¢ (b plai LS el Cag e

Mohammed is in the classroom /Jt-

.. Jsaay ) e A >>in the classroom

Lo a>>0n
4aenl o le NP Lgiaua >> the classroom
4aaul 4c sene Nominal group e s
(i) al Capal Jsnia Ll o aleall oda (8 4san¥) ol A 5
.l (Object) | s 5 4alSll o2a | 3a) Jlic (complement) st 5 oxdae Uad aa gy asl H83 ) S0l Lia

u'az_.mWﬁjﬁ\dﬁ&ﬂm‘ﬁ\b)\.}ﬂ\&aﬁﬁgﬂ}cWY\aJw\dﬁ&@ﬁ\qPinH\w-
oY e dlead) 8 ki V3B 4 L) sy

2(AnansY ] o ) 5 sall (o ya) Lagie SIS Lpal U581 Jla) i
The man is standing on the platform
o3lallS i Ll Legia SIS 5 (Object of the preposition) sl <ayal Js2ie s >> on the platform
2 S QL)
What is the man standing on?  /Js& 38
Ldallagle Gy e o8 ol 4 Jsaiall e Jlas Lia-
calaadlodn 8 5edai Y (4aenY) o jlall) the platform-

o obadl 5 el G (o) 25m 50 1) Le g ol 55 llia (S0 5 ¢ all o pa (g Aliaiio 4gan) o jluall 13)-
s(w‘ﬁ\

Jaaaa (the platform) 4ses! s ledl ediins Golaad) Jlsadl e Coslas 5113
..He is standing on the platform >> ¢ s ol sall 13-
ol Ga g Anand s bl G Jal 5 ellia ) 5le Slad 13 -
il G
The platform that the man stood on was very narrow
. s Geatid) clause g s (Sadl (-
s on all cas Jd Gels The platform asesy) s jball-
..(subject — Ixiw) sa 138 JS " The platform that the man stood "-

ool Gaa J Caels Ll 4l o jlall 5 cpan¥) o jlall e all (o pa Uliad JUiall 138 i



225 5 Y1 3le) Lagiy aa) sie 1 Lo dal il (S0 5 asansl o jlal) e al) Coa L Jiadlh il YA (jamy 038
”(a.\;\‘j

However, in these examples, the association between preposition and NP still exists.

Prepositional phrases can express a number of ideas, including:

1. Place e.g. The book is on the desk.
2. Movement e.g. He walked to the mosque.
3. Time e.g. | finished the exam in one hour.
4. Manner e.g. He finished it with little effort.
5. Purpose e.g. This message is for Ahmed.
6. Agency e.g. The window was broken by the young boy. (Passive)
7. Instrument e.g. I wrote with a pen.

cosoaall s lall il jlal Cilaladiuy) (s ) oY) 6 yla il
sdadi 5 JISEY) e dae g Jiad s aall 5 el @l e
Osall >> Place -)
cosoaalls Jlall s jle aladiul Le o L) e (e dupaall LiSay
The book is on the desk /Jt«-
sl S 0 W PP s saas Jla s le (4 >> on the desk
Lleed gSe e b 5 mas Jasle o on the desk 13-
JEEN _ gy >> Movement -Y
He walked to the mosque /J%e-

.. (the mosque - xsall ) 58 138 Sl 5 lSe ) cand 5 Jil Lo il (JEBYI (e il (-
. ORI 51 JEY) Ge S A5 s0me 5 la s ke & >> to the mosque-
Ol — cd gl >> Time -
| finished the exam in one hour /JU-

S eV oe i e s Jaibe (& 1Y) QLERY) el gl ) 4 1 o idll 4>> in one hour-
Ll

s — L & Jae B Le gadd gl — qglad >> Manner -¢
He finished it with little effort /J%e-

oadd il ol slul e Sad g mas slassle & 1) e ) 13l s 5Ll A8yl culS >> with little effort-
Llsgdidee Al



8 e S L et adle) A3yl 13-
i Ale — a £ — 4adii >> Purpose -©

e oo o Jpanll o La o o8 Joad clinn f clalaial sale - Soasill 13 ) i 138 Ja " a3 : PUrpose-

n

This message is for Ahmed /J%«-
Lo paddl g e ) el A 5 s e a3 oke (o8 >> for Ahmed-
(el Lo o g8 e ol LAa) 2eal 4 ool ) Al o3 13-
Lo g gl 3a) ddan) gy — ddauil g - AllS 9 >> Agency -1

«(Active voice - aslxall all) 5 (passive voice — Jseaall uall) e ailud) 2SSlal ja (e 5 SN 3K 13)-
Loy Al G aladiind dan) g aded) 8 Agent ) A8lia) aSiSay J seaall il b ol | sialas 8

The window was broken by the young boy /Jta-
. o3l b 3 a the young boy-

43ie alaall Cela Ua « The young boy broke the window : Jsé (Active voice - pstaall ) -
sl

deld >> The young boy-
.4 Jsxiall al=as 5 (The window) 23 (Active voice - asteall caall) i -
. 111l aless 5 >> (The window) 33U (passive voice — J seaall sinall) S8 oS-
45 ikl J=8 >> Was
Jsxiall aul —past participle >> broken
.. 0355 LS (Verbal grope — 4slxdll 4e saaall) ¢ 53l saa) s BE + Past Participle -
AL alas LY 4l Slia sl <The window was broken s o)) Saall (s -

3 o585 (by the young boy) - b sy & The window was broken by the young boy : J s Lexie (S1s-
(L) ardas 5 5) L Caaall Jaé 31 "The agent — dS slledalall” 5 padiil) U S5

(4 U S ANS - Agency) e sied s mas a3 ke & >> by the young boy -
803l >> Instrument -V
A e e daniindi o 5 sl ol 48 jlan -y BB /S
| wrote with a pen /Jt-
. L 4l 3168 3 pen sl 8
LB e il s ome s JlaB ke (& >> with a pen-

Exercise:



Choose the meaning expressed by the Prepositional Phrase in the following sentences:
a. place b. time C. manner d. instrument
1. My office is located on Riyadh Road.
93lal-co shul- (e - 0\Se & Ja Sl o Sdll ale >> on Riyadh Road -
a. place s» sl 13 ¢ e 4l eaal 51l (0 -

2. He graduated college with a good GPA.

93lal-co slul-(ya 3-8 & Ja Sl o Sl ale >> with a good GPA -Y
C. manner s o sall 13 ¢ alls 43l
3. He fixed the door with a hammer.
with a hammer -¥
o ol (e I3 LegiSD 5 VY "0a OIS 3 ) Copa e Lieniiuad Liif Ui | shaaY-
..( He used a hammer to fix the door — Ll z3lay 48 ladl) aaaiul ) ¢ slaf g3l -
d. instrument ss ol sl 13-
4. They will visit us on Monday.
882l shd- (e 3-8 o2 Ja Slia 5 Sdll ale >> on Monday - ¢
e o g a) adall
b. time s <l sall 13] ¢ V) o sy (3 S Wig 55 famee
5. The artist finished the sculpture with great talent.
93lal-co shul- (e - \Se  Ja Sl oS3l ale >> with great talent -©
e 8 a8y ¢ Aalac 4 sy (JUadll) 43 paiall gl sa T3 ¢ Le g il alla s

C. manner st ol sadl 13) ¢ a3 saial) g3l daslac dga gau

Functions of the PP
Dol 5 s jle il

Dsoaalls el s jle Cailda s 3alin GV 5 (NP 4sanl) o jlad) Cailla 5 (je Lhiaas 4iilull o jualaall b ¢y 5 S35 WS-
..PP

Al gl g aaall o 3l oS KAl Cailla sl o3 ) 3k o J-
.(word-phrase-clause) ) 4 ekas s seladl) 5f JSEN o sdipall-

.l 4 (word-phrase-clause) Ul deall (e o jlie a s4dudi gll-



o PP il e duaall JaSs (Y1 5-
294l g a5 ke il gFunctions of the Prepositional Phrase:
&1, Adjunct

An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary
part of the structure of a sentence. Adjuncts are usually adverbials.

As an adjunct, a prepositional phrase is considered an adverbial phrase because it does the same job as
an adverbial.

An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.

e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where something happened.

| finished the exam in one hour. (adverbials of time)
This PP is an adjunct that tells us when something happened.
He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened.
t ol Akl
s bl )
L 0SS g el el e 131

(word-phrase-clause) ce 4l 4a slas 235 5l 35 (Word-phrase-clause) ce obe s @ gl iy i
LA

AL g ) o i Q48 ey ¢ LA (Jie aleall B (5 55 e Gl 5 la) o 5Ss ) 13)-

ides (sl ans ¥ il 8 00 ¢ il GG LY Lgalatiinn) a5 4y 5 e ALRSA f L i) o ualadll b
o i) e ce o le Y aleal) 8 4dilia) die JLsS)

. aleall e oalagind GSadl) (g T3] ¢Maleall b s laal e Sa " (el 3 L) (g ER) 0 5Ss al-
o Magsal) aet gl e dlidaia! 4y et i aleall 5 DS e malld il L3R 13)-
o aleal) Joaelall g 55 s e ja il
.. Ji8 s adverbials I (e 3 sealialle Ci i ¢ sk — adverbials" ¢ sSi sale al il -

Aads g 0 5S3 Latie (gl 4Rl Jao i Qo LY 4yl s JleeS Julad o) 835 g jaall 5 jlalls e ¢ aliS-
(A8 Lelee Jie i€ Lelae (Y 4 ylall o jlall Alalae Jaled el "adi 5 saally lalls e

. (adverb -dall) dae (i Jard ) QLSH (e 4o gana o8 1 458 BRI



pod Cagan ol aaa La g o (S 5 il 5 i) o L AalS o s Jiad) (8 e Jiall ine 58 Le () salei 8-
e

A S Al ) S l 585 paall s el @l e Aida 5 (5SS Ladie -
The man stood on a high platform /) Jts
e aleal) elgiil a5 pai Of (Kaal) o 5 4l alea A& The man stood-

Ol Uikal 28 Ligh € iy (f 1 J 58 ¢ Bl (ina Uikl 38 <38 (0N @ high platform) g lial 13) (<15
sl 4 i g3

OSe e Ut ol Wida gy g pmas Jla ol Lgiua ¢ 4lSe 48,5 & >> 0n a high platform-
ol (Sadll e s alaall 8 (g )5 i e il O L LS 5 ¢ e o o5 Cagan

| finished the exam in one hour /¥ Jts
.. 4aila ) 44 51 028 >> in one hour-
coaalyacbe 3ol 5a 130 ¢ Lo o o5 L gl i agia 3l o yiill e U i Lgila

e ddaall Jasy lad ga g 5 ealaadl (e ladlaind (Saall (e el A 5 5 50me 5 a3 ke A >>in one hour-

He finished the exam with little effort /¥Jt
.. (Manner -ds ) e J5>> with little effort-
Jedls e WS 53 QU 13s b Leie s 5 aT el Lual T3
(488 gy oLl € JLEaY) g (o) cle s 5 gan A0S (e Uiy ol Lia 13-
. Alaall ¢l dais a5 He finished the exam : Jss of WiSay 43Y &5 s >> with little effort-

Note: Compare the definition of adjuncts in this lecture with the definition of complements in
Lecture 6.

A complement is necessary for the meaning to be complete. If we remove it, the meaning
will be incomplete and the sentence will be ungrammatical.

An adjunct is not necessary for the meaning to be complete. It gives extra information. If we
remove it, the sentence will still be grammatical.

s absale
Al o jualadll 8 Wl S5l UKD (5o pualaall oda 8 Wl 583 3wl iy ) Uik
LI il a4y 5 e GOSN Of dabdl 5 jualaall b LS LaS
Ol ) (5585 o Bl 13 COU&AN ) o lias 13)-
LA e OSie alead) 5 JaiSe e ()5S nalld JASA) Langial 13-

Ala) o glae 45 i) JSY ()5 e o) cal ) Al 8 YA ik



alaall @ bd;\) A.A)L.A OsSe @L\!\_

548l da sheal) it il i a4 it aleall 5 50 Y sn WS i inalld il Bangind) 13)-
SO Y Led LS iy aleall s mall (8]

LN o g e il g caleall B el JUSY 4y 55 g AL2&AY T3
2. Complement of Subject +BE
e.g. The book is on the desk.

In this example, the prepositional phrase “on the desk” is the complement of the subject “the
book” and the main verb to BE “is”.

: o Al agds )
¢ 48 ikl Jad 4 Jelall ali&s Y

5l Jad + Jelall al&A Witk 5 () 55 38 4ans¥) o L) o LlE Ll () 5 S35 LaS Aans¥) o jlaall 4l g i) 128
..BE

The book is on the desk /Jts
Jeldll >> The book
..(main verb — bl J=d) s 540508 Jod >> s
LALKL Lgada g 5o s e 5 e s ke Liiua >> on the desk
LOaie e el maan Waliegind WY alih Ciela g nall 5 lall 3 le L

Apsni e galae ye aleall () oSin aleal) ol A Uiy o5 The book Wl 13} 1)

3. Post-modifier in an NP
e.g. The desk in the classroom is covered with books.

In this example, the prepositional phrase “in the classroom” modifies the noun phrase (NP)
“the desk”. The NP is the head and the PP is a post-modifier because it comes after the head.

2 o AUl agds )
2 dan ol (8 (samy Jana -V
s 0SB VAN T LSS 5 Vol e g AzanY) o ladl (e linae W
(o0 U8 Al ) 4ld S e
NEED RSP ) ERSSIE A8
The desk in the classroom is covered with books /Jt«

4l o e NP >> The desk



LA e Glaslae Canny 568 (g3r e sa 5 cdaanV) o jliall (e 2 32 58 >> in the classroom

3_ke S 131 Le Cayail Lgadiiins 48, plall 038 131 ¢"jt" o (The desk in the classroom) Jlasiul cSaal ¢se-
Ao bl e e a5l s )

: Ui oS agans) o laall Jas "t aeal) gumi o (Saal) (pa T3
It is covered with books
: padad 4pan¥) ol 038 5 c4sand o jle 4 The desk in the classroom 13-
sl oda & Ll 5 ¢ (in the classroom) Lsosalls Jall s e 5 (the desk) 4xesY) o jlall
(the head — /L) >>desk

" desk" ol U8 els 43Y (pre-modifier — 18 J3x2) >> the
4aanY) o jlall 3 (post-modifier — = J3x4) >> in the classroom
.. (The desk) 4ses¥) s juall I3 (in the classroom) ssalls Jlali s le ¢ Jlall 138 &

ol U my Casla LY (samy Janh & somalls Jladl 5ok 5 Gl 1 (o8 4pens) o jluall-

4. Complement of an Adjective
e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of the adjective
Cﬂgood”.

We will discuss adjectives in more detail in the coming lectures.
oY1 An 4l )
s aiall AU&A g
o liall L&A e J peanl) i€y L 5 ¢ inall JLaSY 43y 5 pn (o8 aL&A (5580 0 g
Ahmed is good at Mathematics /Jba-
Jeld >>Ahmed
J=d >> s
. Aeal) G paladl & Glial) g8l da >> good

calaall ah@&wd\ JLSY 40 ) 5 pin da slaa Lidaati o jlall 038 ¢ g yna 5 a3 e >> gt Mathematics



(S o Nl Bl T s aid) 1 Jldisde (Ahmed is good) : Js Laxiad-
Ahmed is good at Mathematics: Jsi s 4leadl JoSi o can
."go0d" 4dwall 4184 & "at Mathematics" Jsoaall s slall s le (JUal) 13a -
.. 4@l ol yualadl) 8 cliaall oo il Ll oS3 LeS-

Exercise:

Choose the correct function for the underlined PP.

c. adjunct a. complement of subject+BE
d. post-modifier in an NP b. complement of an adjective
1. We finished our exam in 2 hours.
fsams Jixd i $aSA 2 Ja >> in 2 hours -)
LAl sz b it - (our exam in 2 hours) Jasivd WSy Y 45 (sany Jias Cal o 4l i

4LaiSs alea We finished our exam 4leall zuais in 2 hours i of Wiy 43Y) Loagf alis cad 8 5-
(el

il e e B Candl 13g) (g sl g ) (e Adilial il shas itkae | in 2 hours oS!

C. sl sall 13 ¢ s oa Uil ay 55 pm yue 4l s slaaS cipla il LS cagile 4y 55 4 in 2 hours 13-
adjunct

2. We visited the big shop in the mall.
delall >> We -¥
J=dll >> visited
saal g s3n 5 L3l () a3l >> the big shop in the mall
We visited it : i of oSaall (ya-

Ughﬂ o‘)l...ud\ Y :&;\.A.l Ll Lﬁi ) G.'uud\ JLQS“X o‘)\..p.“ 0l 4.;1.;.\ (il s@U ;u.u;d & in the mall 4ladl 234 ‘_g
..(the big shop) 4xew¥! o jlall gazs Jaza (& Gl 13¢d ¢ (Sl jaiall e 4ilia) 4a slas

e Y it aai 5 (the big shop in the mall) 4xes) s el Jlagi) Wi
43aul o je NP >> the big shop
d. post-modifier in an NP s < sl <" the big shop" 4sew¥! s jlall (5323 J322 >> in the mall
3. Mohammed is fluent in English.
Jelé >> Mohammed -¥

J=dll >> s



44 >> fluent
fluent 4aall ali<4 & >> in English

"in English" glis fsd 5 13e 8 (5lfgad 58 b 1L 5 (Mohammed is fluent?) :d s Laie-
el JLSY

b. complement of an adjective s < sl K

4. Ahmed was in his uncle’s house.

Jeld >> Ahmed -¢
J=é >> was
. e el JUSY (5 )5 puim aleall 028 8 a2 sa 9 >> in his uncle’s house
o Aleall JLeSY dalay i ln ¢ a5 Ahmed was sd sl LiSey Y -

a. complement of s <l sl 131 ¢ 43 1<) Jad + Jelall 4leSa & >> in his uncle’s house 13-
subject+BE

5. Ahmed’s uncle has a big TV in his house.
Jeldl >> Ahmed’s uncle -°
J=all >> has
4enl o e NP >>a big TV
199 Lgala g oo Lalia ¢ 5,me 5 s ke >>in his house
.. (has) 43518l J=i + (Ahmed’s uncle) Jeldll alish 2 a big TV adall-
el 8 ieal) JLSY 4y )5 e g 4silia) 4a slee s (s 24 (i his house) 131 -

" Capai Laie (K1 ¢ Lia 4y 5ad 5 Jinall Alai€e ales () S5 Ahmed’s uncle has a big TV : J il WS,
.48lial 4 glaa Lnal o S5ud i his house

"€aen ac Alia; A Ul ady o4l 2 g8 4laadl e (iN his house) i 13 Jl sl ¢ S [N
A 4l ed s A s paaly Jlalls e dada 31

c. adjunct s ol sall 13-

5 S Gaatin 5 caliall Ol jualadl) 84 Ls o) il gl g gaall 5l lall e adlide o) 55l e Cuaall JeSin
sy clause oo SST e (s 53 g Tades i Jad 3l
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Lecture 8

Adjectives
Ldagll @l jlall 5 cliall b~
Adjectives:
Adjectives are words which we use to describe people, things, events... etc.
ralial)
a5 Lt (i) Caia o Lot il (e 5 ke A
eAdjectives can be divided into two groups:
1. Attributive Adjectives

Attributive adjectives appear before the noun.

e.g. Thisisanimportant lesson.
2. Predicative Adjectives
Predicative adjectives appear after the noun, in the predicate.
e.g. Thislessonis important.
DO g ) Clial) apud Uiy
4diaill wlaall 6f Attributive Adjectives -)
4aS 6l 5l 3l Gliall 6l Predicative Adjectives -Y
; Adiadl) cildall 1 Jg¥) £ i) -
. ewy‘ Ji eda [CLIS)
(pre-modifier ) L8 Jase S au¥1 U8 L4l s g 5l 138 Jaa e
(This is an important lesson): Juall laa i
44a 4 > Important
N /! > Lesson
. O30S LS 4panl 4 sena (o8 9 (NP) 4xesd 3ke o2 > an important lesson

Attributive Adjective * important 13 ¢ lesson s/l 8 el important 4alS of Bl

D Aas el o Balall cliiall 1 ALY £ ol ¥

dels leclause sentences ) s siad of qaag ddagadl Jaall U S35 (2t -Predicate) J) s delll ge ¢aaai US Laxie |5 S35 13)-

.l s Predicate 5 a5

(Predicate J b ¢85 daall o3 f (51) Al 22y sl Predicative Adjective J) o) Jsis Glhiall 134 (e 131 -

a.allia.n a. <8 ©

o o o o o o o o o o o o o o o
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(This lesson is important) ; Jaall 8
This lesson < (NP) daaw¥! 3 jlall o Jaa3ls
(NP) au¥! s lesson s
(Predicate) ! & < sela(important) 4l 13 «(js) 435181 Jab 22y 5 (lesson) as¥! 22 & jeds (important) daall (<15
This lesson < s aleall s3a & Jeldll 13)
is important < s Predicate - s

Predicative Adjective - & s 1l « Predicate J (& < ek ddall

eMany adjectives can be used both attributively and predicatively, e.g. the adjective “important”
in the two previous examples.

| 5ad000 () oSy laall (e KII*
lee 4085 Sf saiss — predicatively S 5 4 - attributively<
predicatively=< Al 5,65 attributively-S 5,6 Jelsi 8 ¢ cpiibul) (il 3 “important” ddall Jad Jis

eSome adjectives can only be used attributively.

e.g. main, principal, chief
- attributively S Jas 233503 o (K4 claal) (any 5
predicate 4 3 (N) aw¥) J8 jelss Joi (-

Ladd oY) Ji edas claall 228 (main, principal, chief) :Jbe
» Some other adjectives can only be used predicatively.
e.g. afraid, asleep
: predicatively < ha a3 o (Sa 5 AY) Gliall ans *
e B el o eiSa Y s predicate I g b anY) s el Ll
( afraid, asleep ) : J&s
predicate J (& L au¥) aey jeds clisall oda-

The man is afraid : Js&s-

My brother is asleep
Asleep my brother here : Jsll W€y ¥ oS 5

Afraid the man is here
(4S50 5 swdl): predicatively ) oo siSall Llld dda galee

pSelusizly 5> (an sl a) -~ L) & s oS predicatively ) 2 Slaall o 1shaY @ d s
LSliall 8 cpe gl G il

a.allia.n a. <8 ©

o o o o o o o o o o o o o o o o o
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» Adjectives used only predicatively tend to refer to a temporary condition rather than a permanent
characteristic. Look at the following adjectives referring to health in the examples below:

e.g. 1.The old man is well today.

In example 1, “well” is a predicative adjective that shows a temporary condition.

e Yy (435 4lls - temporary condition) Y 5,4 e predicatively ) L axiiu cilaall*
.( &l Apals -permanent characteristic)

:(permanent) s (temporary) cm G (s =5
5_wal oal & 5 < Temporary
(lasting — 4«ils) 5alisk s & 5 < Permanent
e b ¥ 4say > (The old man is well today) :J%
(483 alls - temporary condition) le 2523 2 5 predicative adjective < well 4l

B s Al glal (B 5 G pe 058 8 L) (a8 ¢ lld aay Jumdl dsasy j25 35 (The old man) Jsaall da ) i3
5 ee Anaa B (55

Onl) & S 4 (e e (55 3 5 (i se-temporary) 4 x 138 ¢ The old man is well today : Jsi Leie-
) asall (8 (e S8

Compare example 1 to the next example, where the adjective “healthy” refers to a permanent characteristic.

.(&<ls s -permanent characteristic) I 2 “healthy” 4alS of cua ¢ ¥ Jadl Y Jlall o )& oY)

e.g. 2.Heisavery healthy old man.
The old man is healthy.

.(&ailr ipals -permanent characteristic) 4> He is a very healthy old man-
0585 ol " healthy" Aduall s3] (e 13 ¢ ya L Tl 5 3 3lien Aaeay 5 gaall Ja )l 13a-
(44t 44a - Attributive Adjective 5 s2ius 44a - predicative adjective)

.( %2 Luals -permanent characteristic) e 2523
« [n a few cases the meaning of the adjectives changes according to its position in the clause.
e.g. Ahmed was late. (Ahmed did not come on time)

The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead)

.. clause I 8 Ly (bl ety Aall el allE e 4
) amy Ly seds e Caline ae Wb () oS au) U Adiall Cyeda 131 1Y) -
Ahmed was late :Jb«

Shapally cd gl el ol ses) of & Aleal) oda L (late) 4alS ine

Aleall 028 & 4 predicative adjective (late)-

a.allia.n a. <y ©
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The late Ahmed Al-Ali lived here. : Ml Jéall & LS " Attributive Adjective" s & U 38 (Jate) dalS-

N < Ahmed
NP 4 5 4wul 4c sense < The late Ahmed Al-Ali
(N) a=¥) J8 @iyl 5 Attributive Adjective < late
Sl el & <l Ahmed Al-Ali Of s Wlias < here
Sl cd gl 4 Cue adh 8 > The late Ahmed Al-Ali

Attributively S lgexiini 5 Ll Lavie (ate ) 2alS] iy Jaal) 131

;54 (Ahmed was late) (4sY) dlead) Jixa i 33 Attributively ( late ) 4alS alasin) WSy addall-

The late man fined be arrived

doas 3 alid) da ) of s o8 oS0 " Attributively” Wil @l au¥) J8 @ seda (ate ) 4alS of Jasdl dleall o2a 8
CenY) Jd Attributively S Lasé (late) AalS padiiid e 28 L faaf ol J 8l l_'mj 1) S,
(late) 4alS pasins o @iy sanall i gl & ol ol sl b il s )l 13acdmaa sl auny iy Saall
(late) 4l plasivd Wli€a < il 8 Gadd b Il 25 Lexie (Slepredicatively sl Attributively <

L& Attributively <

Exercise.

Decide whether the underlined adjective can be used only attributively, only predicatively or

both.
a. only attributively b. only predicatively c. both
1. He is a smart student.
Ui a23 ¢ The student is smart < J & WiSay Ja
predicatively sl Attributively S leslsaiul (Seall 0 smart 4 13)
c.both s lsall

2. The child is a sleep.

LSy Dld ¢ predicate il ‘_;‘u‘i\ 2 Y sedall LSy Y L“;"J\ Laaddl Glaall e » asleep ALY Qi 058X WS

a.allia.n a. <8 ©

Jal
The asleep child is awake now
predicatively s sY4 i predicate ) 3 ) 22355 Y (asleep) 3K 13
b. only predicatively s i sall 13}

3. One of the main causes of lung cancer is smoking.

(causes) aw¥) Ji <if (main) 4l

) J8 Gels 5 Aaall <main

o o o o o o o o o o o o o o o
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~=¥) < causes
:Sull i WS ¢ " predicatively” 36 o) oSer da oS5 ¢« " Attributively” ela (main) 4l
The cause main of lung cancer is smoking
. Attributively ki G (main) 4 13 ¢ WiSay ¥ Y
a. only attributively s msaall Gl sl

4. Are you afraid of the dark?

d\_}u‘;@cﬁ‘)ﬂ‘ 0l uA‘).\;‘\ \_5;_,.:
15 (i -statement) ) 4l sss o caag Ui
You are afraid of the dark

SAttributively Y Wliss3 WiSe Ja cpredicate » 13 (are) 2= predicate ) & Cels afraid 4l of Ladl
b. only predicatively s <l sl 13 ¢ (afraid) oaball o3 (e 4l 3 jall 4gnd o8 WS Y. Y

5. This runner is fast.
He is a faster runner: J8ll Wi
The fast runner is here
Attributively s predicatively < (fast) &S alaaial (Saall e 13

c.both s wleall 13)

Adjective Phrases

Adjective Phrases:
Adjective phrases are composed of an adjective (which functions as the head of the phrase),

a modifier (mostly an adverb), and a complement.

2 Ak gl @ ld)
1 el Ada ) 5 5lall

4l - complement =Y <k 585 aline > i - modifier =Y 5 kel Gl S Jasd S 5 > 4dia - adjective =)

1 sl Al il )
3okl Gl o ddall o3a Adyda 55 Jad daal) o (g giad 36 - )
e bale §5S5 Aaeall o3 5 Adeall 5 ddiall o g gias 8 Y
ALK 5 daall e g giad a8 -

AL 5 Alseall g Al o (s a3 B -8

a.allia.n a. <8 ©
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AN el 4 453
Modifier Head Complement
Good
Good at Mathematics
Very Good
Very Good at Mathematics

D dsdadl Baadl
Las bl Gl U 8 Wil s g 4da i > good -)

Cn 4 pmne e 25835l (ol g e 1Y) T onal s Al e V) (5533 Y Ll m ol im0 5lanlly o s
Jséi L (Tow classifications) Lual oS 138 Loal ddasdl eLsY) e (Phrase) 4alS pasivs of Liay o815 (el
(a1 e (g5 G AT dia s 2 e ) s AT 4ba 5 i Jodil 4ia s < e Lie
S pealie 5 il ) 7 8 Lasie Jal ) 501 Jead At 3 5 5Ladly (good) Al 5o of LSy 13 -
good at math -¥
. (good) LV 4l Liida s 5 ( Proposition phrase — Jsoae s )l 3ke) & > at math
Lokl 03gd Gl ) a5 4da 8 >go0d
(18 Jree) 4ba g3 ke & > very good -¥
(good) il 4uls s da 5 Jis o8 > very
3 el 03gd )l s 5 4ia > good
£ A jealiall L) Ua -
4dua g b e & > very good at math
(good) sl 8 Juse 5 Js > very
il A 548> good
(good) Il 4leSa itk 5 5 ( Proposition phrase — Jssa 5 Ja3)ke) & > at math
* Gradable adjectives are adjectives that express a condition or quality of which there are degrees.

. Cliall da s jal de g gl s e iad Clia o 43550 clial)

(Rastean Vv e dosiadn 0 Ve dygiadn ;200 dysiadn;n Ve dgiaan v ) cila ) e il of W A%,
4 slie s o e Talie] (gradable) <ls 5o Led 05S5 of cilall (S 13-

For example, “good” is a gradable adjective. There are degrees of “goodness”:
.(gradable) & <85 iy 5 4dia 68 “good” AlS e laill Ll 13) ; JEa Juns e
(goodness) 4l s jo cllia*

1. High Degree

e.g. very good

¢ (A yall) dgllad) A ) -

a.allia.n a. <8 ©
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very good /Jbs

good (» s # very good ke > very good 5 g0od ¢ O Vs s B ixa Liskaadl very dalS Lial

2. Excessive Degree
e.g. toogood
s Asdgia pal) da ) oY
Adad i L ST IS (g cand 53 (K3 ol o o3 Wline >excessive

(It is too good to be true) « too good /J%«

Aol adgd T 5% o el 138 (o 855 (05 o1 el (pn ST 5 855 Lo ST i1 i3 o

(s ¢ e late¥) &y g iy Caal of Lia i 13) *
4za & > The test is difficult -
eal & > The test is very difficult-
Jall elind o} il ds 53 4a & > The test is too difficult-
3. Sufficient/ Insufficient Degree
e.g. good enough, not good enough
D AlS jadl g [ 4dlsl) an ) oY
Lo el (S e S0y o S JS0) (eay A
good enough /J%«
sl Lo e el CHIS U o W e o0
not good enough /A1 Jis
Lol e e elil] COlS (<0 sam Canad

4. Comparative Degree

e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more beautiful

a.allia.n a. <8 ©

14 41321\ Aa il
Ol o o) (o 5 e AT Al A il 8
" good" AalSl A5 jlidll da Al & > better /JGe
"smart" AS1 4 adl da Al & > smarter

" beautiful" 4l 43 )il 4a 0l & > more beautiful

o o o o o o o o o o o o o o o
% == =% =% =% =% =% == =% =% =% =% =% ——% ——5%

o o
% ——%

o
s

o
%

o]

o,
%o

o,
%0

o,
%0

YSIT Y

o o o o o o
e e e e

o o o o o o o o o o o o o o
% % % % 9% % % 9% % 9% % 9% %

o

o o
T




R T T T T el

5. Superlative Degree

e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most beautiful

sdaluadil da yal) -0
Lod e ST e e o8 demiil (A 5 Lo Al Aluadil] Aa ) A
" good" 4l Lluadill da 5ol & >hest /b
"smart" AdSl Lluadll ds 50l o4 > smartest

" beautiful" 4l 4 luaitl) A 50l & > most beautiful

* Some adjective like “complete” are not gradable. They are not normally compared, nor modified

AT

by “very”, “too” or “enough”.

el 5 a3 38 e L o lalins (complete) 4alS oY &5 lite la )2 L Gud (complete) Jie Clivall sy *

et dayn lefepdian w ¥ 54 liie cila o Led G (perfect ) 4alS Laadf

(very- too- enough ) e cilcay 5 oy e Ga:ulal\ e Glaall sda

» Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify count nouns.

They cannot modify mass nouns.

e.g. Thisisa big building. (INCORRECT: This is big water.)
(size — axall) 5« ( shape — JS& ) 1 e a5a8 8 Claall *
round, tall /Jt ;( shape — J<ill ) -
big, small, narrow /J% : ( size — pasll) -

(ALY 53 5ame all elan) Jond o i€y ¥ 583 samall slansdy) J3a8 Laih ; aaall 5 JSI
This is a big building /Jt«

(refer to size) p2> s > big
3532a aul 2 > building
cpaadl e 250 4V w1 U (big) RS s e sl a8
This is big water :Js& Laie ¢Sl s
AL L Y el aat ) Liay Y 43Y Aidala dlaall L

Lol IS 450l 5208 ais L) (shapese JSEY1) L) Cilamy il s AY) cilial) ia

a.allia.n a. <8 ©
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Function of Adjective Phrases

Function of Adjective Phrases:
1. Complement of Subject +BE

e.g. Ahmed is very intelligent.

s gl ol ) il

Gl laall A Caills o) 638 () sagion Tm W saiagd 13) ¢y s pmall 5 sladl Cljlie s drand) Cl jladl il s e Gl U S0 8

Aga
4 g Jab 4+ Jelall Alaalf -
ALeSall alay) Ly W g Aleall ixe JuSil 4 ) g jua o AleSall-
(main verb -cesbul Jad) ¢ 5 Aada sl o3a 8 45 53K Jub-
Ahmed is very intelligent /Jbs

alall 8 2 ) G Calall dapa sa g Alaad) sda & a5 ) Jadll >is

Jeld > Ahmed

¢Alaall e JaSal 2hga LY Alaall (e B jlall 38 (a3 Say Y 5 ¢ 4dia s 3 )le > very intelligent
Ahmed is very intelligent : Js& ol s ¢ dlaall ¢35 5 Ahmed is © Jsill LiSay DU

2. Complement of Direct Object

e.g. He found Ahmed very intelligent. (He found Ahmed to be very intelligent.)

1kl Jgrdall Alagal) - Y
He found Ahmed very intelligent /J&«

fan e daal of iy il 0 s Alaald) ixa Ua-

138 5 (e anfoan g5 gl OIS el of ) i s alaall Jaae (g s 43 ¢ Alaall g5 5 Laié (He found Ahmed) :Jsi of LiSa Y-

a.alli a.n a.<8 ©

Al e Alliay) 253 A1 Gl Sl
(Ahmed) 25 siluall Jsiall aleSa 4 > very intelligent
3. Pre-Modifier in a Noun Phrase

e.g. My very good friend is coming to visit me.

a5 (b A Jona -

My very good friend is coming to visit me /Jts

o]

o,
%o

o,
%0

o,
%0

YSIT Y

o o o o o o
e e e e

o o o o o o o o o o o o o o
% % % % 9% % % 9% % 9% % 9% %

o

. i

oA sa 5 ¥ > friend Pl

4diay b le (& > very good ]

Asbia s le Ll g 4l 3 ke & > My very good friend }
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o2 il 35 (friend) am¥) J8 Cela Lgiea sl 550ad) Y (friend) asY) Clie (very good) s sl 5 )l 13) -
a5 lall 8 L 5 Ll

anl el 5 Y Saall Al 8 ddeall Lghaa (e dpan¥1 5 jleall 2a ) adi OS5 il anall oy Gyl Lia i 13 *
A

He is coming to visit me :J% (he) = ldadus 5 (My very good friend) s_okall e
CAdiad o sansinual) bl o iting Ua
4. Post-Modifier in a Noun Phrase

e.g. We must find the person responsible for the robbery.

D Asand Bbe (A gty Jaa -t
We must find the person responsible for the robbery /J%e
oI 585 au) > the person
Il (5323 Jase 585 44a > responsible
:zuai (him) @i s (the person responsible for the robbery) Sl s jlall s Jagius of cSaall 030 13 -
We must find him
(g3 Jaae) (el W Jand o4 eV 3 )lal) ae 833 3 (responsible) ddall of JaaSi-
5. Head of a Nominal Group
An adjective can be the head of a nominal group in the following special cases:
Tald s 038 > dsand dc ganad Ll -0
(N) oY1 5583 Lans¥) e sanall L3 le Gul 1 0 U 5 dpansd) ol jladl 5 4pensd) e sanal) e Tiglas i pa *
ol LS Baan¥) e ganall b (ul ) oo Adeall () 5S5 38 Aali Vs 8 (ST *
a. with a number of adjectives that refer to a class of people.
These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.

The following are examples of nominal groups with an adjective taking the place of the head:

Codll e i ) i clial) e e pa -
blind, homeless, poor, wealthy, young, elderly, living, dead... etc /Ji
ol Gpliad) Gl 48 ) LeIDA e i (a8 Lo Alea B Dlind S Lenie-
Adal) oda 8 oS jilall el A8 ) IS e el (238 e Aes 8 homeless S Ladie-
A e S i) Gl A ) DDA (e el a8 e dles 8 poor S Ledie-
Jaall 8 el 4o sanad (Gl S Lgalasiinl LiSey cliall 038 ¢ &) -

H(Ada 5S Led Gl 1) dpand e gana b AU ALY *

a.allia.n a. <8 ©
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We gave money to the poor. (the class of people who are poor)

The wealthy must help poor people in our society. (the class of people who are wealthy)
The young are our hope for the future. (the class of people who are young)
(poor) & Led (el 5 (43l 42 5030) 585 (NP) > the poor -)

Al s b 0 il (el (e A3l 4ia & (poor) Al 13

LS 5 (NP) s salaly Jeld) o L S3 LS 5 ¢(NP) 525 05l LS (subject -isis) 4l 5 > The wealthy -
«(wealthy) 4éall 5 (The) 812Y! Lual Jaid (N-pusl) Lial Gl Ut edsansl) 5 5lall Gl 1l & 5 4ia & (wealthy)
.(NP) s# (The wealthy)

o) A o i) i) e 238 dia s (wealthy) S 13
(young) sa La daall 5 (i) 5 43l 4c sane & 5 (NP) > The young -*
bl A 8 (S 8 Gl (e A 4iia o (young) Al 1Y)
b. A few adjectives referring to abstract ideas.
e.g. The unexpected happened. The unknown is frightening.
o Al Aalal A -
Llie 8 () 55 T L3Y Lgwsal Wy Ly WiSay Y oLl Lalina (5230 IS8 - abstract ideas) o i (i ciliall (axs
The unexpected happened /Jt«
The unknown is frightening
i Ul 8 Jaas S8 e 5l Lagh lagaadd Y 5 Lagiys; LSy Y (unknown s unexpected ) LialS-
Asand 3ke (8 dgand de sanal (ul S Ol el 8 (lisall (lila-

Lpan¥) Ao ganall Gl o8 5 4geul 5 ke 8 el (unexpected) 3aall ((subject — Iis) & > The unexpected-
. (The) 314 <

. (225 ,\S8 - abstract ideas) Y i & 5 dsanY] de sanall (ul 5 5 4dia & (unexpected) 4 13 -

5 daan¥l de sanall ) (A 5 4aend 5 e 8 Cela (unknown) 4aall ((subject — iw) 4 > The unknown-
. (The) 814 <.l

. (222 Sl - abstract ideas) ¢ s o8 5 &xenl) de genall (Gl 5 5 4dia o (unknown) 3 13 -

c. Adjective that refer to the people of a country.

e.g. The English are very polite. (the people of England)
The French are very interested in fashion. (the people of France)
DAL G e el ) el lia
The English are very polite /J%s
Ay de ganall il ) & (English) 4eall 5 4sen) 42 sana 4 5 ¢(subject — 14is) > The English

Jlad) A gy (e ab el ) 505 dda 4 (English) 3K 13

a.allia.n a. <8 ©
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I

‘T The French are very interested in fashion /dts

o JoanY) e gaaall Ll < (French) 4&all 5 ciuanl 4o sana & 5 ¢(subject — i5-.\-\&) > The French
U% iy 4050 e b 0l il W 55 s & (French) 4eS 1)

I

|

|

|

“5 Exercise

ﬂ% Identify the function of each of the underlined adjective phrases below.
% a.complement b. modifier in NP c. head of NP

| 1. The driver responsible for the accident paid the fine.

I

I (driver) ol gams Jara & 5482 & > responsible

b il 8 > The driver

(he) = Ay 5 leall Jlaind Wiy a5y $au¥) 5 5lall Jaxe 431 Ll 3L ¢ b, modifier in NP st <l sad) 13

2. The driver was careless.
S >The driver
L ulal Jod 1 54530 Joé > was
LS Ciela lia g 4da & > careless
Aleall e JoSH age W55 (careless) 4elSd ¢ dlaall 5 5 The driver was (Jsill WiSa Y-

a.complement s <l sl i3

(driver) o8 18 Jaxs 25 (a careless driver) 4es¥! 5 ball (e ¢ 5 s > careless
b. modifier in NP st <l sl 13)
4. The police found the driver guilty.
. (driver) 4 Jsziall aleSa g Alaall Jine JuSl Lealini > gyijlty
(subject — Jeld) > The police

|
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

}

r 3. He is a careless driver.
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

1

| Jaé > Found
|

4 J 24 > the driver

‘0‘%

I

| 3y bl mad Alay) ol el Siall psiss @3 U 43 (The police found the driver : Jsi of adaivs ¥*
[ s Gl G il e pall o s c Aleadl o b adlay) o) el el oan g 3 pall 5 sl S sl o g "l
I e

i ,

5 cAleall Sime JLSY dege o4 (guilty) AelSé 1

‘0‘%

I

I a.allia.n a. <8 ©
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a. complement s <l sl 13)
5. The elderly must be respected.
(subject — ixix) > The elderly
AVl de ganall Gl I o ¢ 65 dall o Gy Wl S ) ALl GV (e 4 5 4da > elderly
Lt Gl e ganall Gl 1 a5 o(elderly) ) dba 8 S isall (el (g 44 aia b (elderly )ialS-
a5l 8 il ) o (elderly) 4aKS 13

c. head of NP & <l sall 13)

Lecture 9

Adverbials (Adv)
o gkl
Adverbials (Adv):
e An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.

» o«

e An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where,

when and how something happens. It can also express other meanings like frequency, degree...

etc.
* An adverbial phrase is a group of words that does the same job as an adverb.
(AdV) = i B okl
10sSy 8
Sdall - adverb” e X 5 < saal 5 4dlS*
N4l s e — adverbial phrase” = 5 <5 je*

b sed aon le e b (S 5 e 5 Ol ) e sl aeaii of e 3 5 (quickly -tomorrow -here) Jis 4aS s ;JWadi-
(2230 5l i 5l - frequency) S Al glas g i O Ll LeiSay 5 ¢(slad) 5 magll 5 2 5ll) e Cila sl

() 5l 4 ) - degree)ss

el Jae i Jasi Gl ClalSl) (g de gana o8 1408 Y B Lall-

a.allia.n a. <8 ©
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Adverbials include:
1. Prepositional Phrases
e.g. We were waiting in the lobby. (adverbial of place)
1dadl i gl
Dosoaall 5 Jadle jle-)
We were waiting in the lobby /Jts

Ol Capla la Cels B 5 5030 5 s ke & > inthe lobby

Dallsjle Ugh caall &igan GlSa o yiad 4l 4 s Cels Alaall oda (8 5 cadd pla sS85 ) 5 lall & jle ¥

ile Gsial soaall
A <a>In

NP > the lobby

2. Noun Phrases
e.g. [ will visit my uncle this afternoon. (adverbial of time)
s danY) Gl L)Y
[ will visit my uncle this afternoon /J&«

Lokl ol i gl sy 3 Jaad 8 5 NP (o4 > this afternoon

u.\;ﬁﬁji;ﬂhﬁ;‘fﬂ\&lﬂ}h&}&)f\aduu)uu)bs:\.w»y’z)w\c_\;hm*

5L} aul & > this
N > afternoon
3. Clauses including:
a. Clauses with a Finite Verb (finite clauses)
e.g. We need to leave before it is too late. (time)
IS S5 85 eyl 5 Jead)
(333l @l jlall) g sl 138 se i 5 cadae Jad ae <l e -
(aallepadiliega ) aun e 5 saaa) &l Hlaall o s Ll LS
We need to leave before it is too late /Ji«

(2aadlepasillepa ) s e i (finite verb -2asa J=8) 54 > s

. Ul saane a5 5Lal) 03¢8 (Clause — blue) (o dame Jud Laa 5 13) Tiuse U583 i 5

Ol Cala a5yl oda dada s 131 ¢y Litlae | (before it is too late) 3 ke 13-

a.alli a.n a.<8 ©
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b. Infinitive Clauses (non-finite clauses)
e.g. 1 am playing to win. (adverbial of purpose)
(s303a il il Jlall) g sill 28 s 5 ey yaan Dl Jle -
10555 3 Non-finite ) o)f alas Ls*
(b+v+ing ) present participle Duas”

past participle

I am playing to win /dts

oAl sl Al 48 yaa b Laclus Cayl Cela U o(to + base form of the verb ) Jaas s > to win

c. Present Participle Clauses (non-finite clauses)
e.g. He ran down the road, breathing heavily. (manner)
(ad.\u ﬁﬂ\ &L\)hﬂ\) - tj.\n Jaa geaiy cJ.u.ala.“ L.f'tm u..gj...a'.m Glle

He ran down the road, breathing heavily /Jis

Coyla lia Ciela 88 5" jliadll Jeldl anl 3 e AT S palall 36 (o jai 3 le 4 > breathing heavily

Exercise.

Identify the form of the underlined adverbials.<<<< disall ga Ua o glhal)
a. NP b. PP c.finite clause d.non-finite clause<<<< s J&
1. He visited me in my house.
» x> In
P.P
NP > my house
b. PP : & sl 13)
2. He is studying to pass the exam.
(to pass) radl Jeldll Lyl
(to) = o8 (o amy jime sl (pass) J=sl--
sa3aa 3¢ sl non-finite < ¢85 Wil jabadl of e U 5

d. non-finite clause : s < sall 13

3. Ali has an exam this morning.
5_)LE) sl > this

(N) a~! > morning

a.allia.n a. <8 ©
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c. finite clause 15 <l sall 13}
4.1 will give you my homework after it is done.
(clause — oube) (A 5 el 48 e G Laelus > after itis done

daa Jad 4 > s

c. finite clause : s» <)l 13 >> (finite clause -s23ae) 5 )Ll s sase Jed L Laa 5 13) clause ) of Wl

5. They walked together, smiling widely.
oo @l 48 e & Laelid (Non-finite clause — s23ss e 3 e ) o4 > smiling widely
(22se x& — non-finite )s45 ing + J28 > smiling

d. non-finite clause : s <lsall 13

Many adverbials are adjuncts; they provide additional information, are part of the structure of the clause,

but are optional. Adjuncts include adverbials of:
1. Place (position) telling us where (e.g. in the hall, there)
2. Place (destination) telling us where to (e.g. to the door)
3. Time (when) telling us when (e.g. at nine o’clock, today)
4. Time (duration) telling us how long (e.g. for 10 days)

5. Relative time telling us how long ago (e.g. just, still)

6. Frequency telling us how often (e.g. always, rarely)
7.Degree telling us to what extent (e.g. almost, barely)
8. Manner telling us in what way (e.g. carefully, with care)

daslual) 5 pualanally 138 USE >> (4 i) Bal 3l e Ll U3 il 5 el 58 055 8 i Ll

i) il shee La Ulant g ilaall inll JLS) b g e 5l
Jale o)y Jlall @il jle 8 WLl LS a) 558 Lgiada 5 ()55 8 o g ylall a wiaall 13
optional- 4kl -
part of the structure of the clause, but are optional - 4L 81 53 jkall sliy A 2 3a A=
provide additional information - 4t Gl slas e-‘ﬂ oA
2 iy B Jadis gl s
(crl) = Ui 1 (A g) hSall G jlia

in the hall, there /Jts

a.allia.n a. <8 ©
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(o ) 0o Lt () ISl iy

to the door /Ji«
<l ) )3 seae > Mohammed is going to the door ;e il ) )y L (add e U iy
"4¢2 5 — destination” > to the door

(Lo s dan (Ja) " A" e Uit () hajl -
at nine o’clock, today /Jte
(Gnin 5l e o) o Uiy 1 (038) Clajll i jla-t
for 10 days /J%e
(e 1 (g oS) o Uy 1 " ppend il G pB" of i gl) Apadl i yha-0
I just finished it > just /JG«
[ still here > still
(OsSdale a ) oo Lpdy 1) sill i yBat
i3> rarely ¢ Ll > always /e
(2l ) oo Loy tle daal d by
(bl ) sl g o Al G anl g (0 gl (T ey Cuwd Ua > T am almost done my H.W. > déy = — almost /Jia

sl Ja e el i€ ol sliae La > [ barely finished it while my teacher woke in > 2SI — barely
REECRIEIY N

(43,h b ) oo Uiy tle baadl i b i sl i jla-A
do it carefully > carefully /Jte

you should handle it with care ¢ do it with care > with care

Exercise.

Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1. He always drinks tea in the morning.
a.adverbial of frequency : s w5l 13 >> ) Sill (s )k - adverbial of frequency > always
2. The climbers barely made it to the top of the mountain.
c. adverbial of degree : s lsall 13 >> L 4a ;a0 Ca )k - adverbial of degree > barely
3. He finished the exam quickly.

a. adverbial of manner : s il sall 13 >> Lo Jaadl §f @l 5f (1l <o)k - adverbial of manner > quickly

a.allia.n a. <8 ©
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4. My friends just arrived from their trip.

a. adverbial of relative time : s <l sall 13>>L Jaadl §f &L §f LY a4l - adverbial of relative time >just

5. They bravely climbed the mountain.

a. adverbial of manner : s il sall 13 >> Lo Jaail 5f &gl §f 3l <o)k - adverbial of manner > bravely

Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be gradable.
We can give different degrees of the meaning conveyed by a gradable adverb. The adverb of

manner “carefully”, for example, is a gradable adverb.
e.g. very carefully, more carefully, most carefully
Some other adverbs of manner, e.g. “perfectly,” are not gradable.
" gradable adjectives " o 4wl 3 palaall & Liaas ;4% gl

e Ll S B Ll CsluSU 1 sa Y s -

Al Al (U8 o) DDA e il 5 inall (e (43 sliie il ) Adlide Cila 5 an o LSy -

:( gradable adverb - da 3l @slite Jla) sa JGaS "carefully” dalS @sla of Gl Jlali*

(4=di yall) 41l 45,2 - High Degree > very carefully
4,84 4>, - Comparative Degree >more carefully

4alundill 4 0l - Superlative Degree >most carefully

(32,3 @ slite-gradable) 15358 of oSar Y « completely - perfectly /die ¢ JaT & sla o Glul ) sal) ans

Position of Adverbials

Position of Adverbials:

Adverbials can be found in three main positions: at the end, at the beginning or in the middle of a

a.allia.n a. <8 ©

clause.
;g ol aal ga
sanlod gual o ¥ 8 Lo 38 Cay plal*

(hamiiall) Lo sl - Ll i el i
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1. Final Position
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.
TP
. (clause-s_ball) Ales (& seday o alall Siaall (4
Thank you very much /dts
. (clause-s_lball) 4 (4 jeda B 5l @ > very much

2. Initial Position

Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the
beginning of a clause. The purpose of this position is to focus attention on the location, time or
frequency of events and activities. For example:

Two days ago, I saw my dear friend Ahmed. (focus on time)
In Riyadh, there is a big celebration. (focus on place)
t4a) ada ga- ¥
& 5ok 3" frequency-L/ S 5 "time -l 75 “place (position) -(4wmas) OSall Cag IS ¢ il il (any
O Gaadiladie) adgall o 58 51 5 oLaY) Al gl s Alad) 8 aa ) sehal Gixe e agd 5 (clause-s_ball) Al
ALY 5 @lall S8 e i (e oo aati Laxie) el el (3 kel 8 BlaS S Ga b
Aleal) 3 o shaall (e puciusal) oliii) 2 3y 5y Caaaialls-
Two days ago, I saw my dear friend Ahmed :JGall Juu Je-
(e e S 3l) >Two days ago

o U a3l o oty aanialld gl e painall sl 281 5 o) 5 Aol 3 olinaa s 5 kel (g ol 3l Ca il Ldal
Al b glen 5a 13g)

[ saw my dear friend Ahmed two days ago :dJ s salall (e-
2 5 5 age Alualdll of 1aadl ls > Two days ago, I saw my dear friend Ahmed :J 2V L oSadll (e
In Riyadh, there is a big celebration : Al Jt«
(0salt e 38 530) > In Riyadh
There is a big celebration in Riyadh : J& salall (e -
In Riyadh, there is a big celebration : Jsi GSall e aaiusall olil il Ba ) 13) Liad (Sl (ya 5
3. Middle Position

Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally
appear in the middle of a clause. Their position is immediately after the operator in complex
verbal groups (Lecture 5), immediately after the full verb BE, and before any other simple verb:

a.allia.n a. <8 ©
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e.g. We have often talked together. (after the operator “have”)
We are still waiting. (after the operator “are”)
We are very tired. (after the full verb “are”
We still have some money. (before the full verb “have”)
We sometimes go to Jeddah. (before the full verb “go”)
: (iaaiiall) Ja gl pn ga-¥

b ek Bale (L3 -degree « il i sll-relative time < _Si-frequency) o J) s s 5l Sl S
(clause-3_ball) Lo 5

10985 agrdal ga <<<gisal) Joly 1938,
(<103 U 3 Auwal ) 5 pualaall 3) sainall Aulaidl) e ganall 3 158 (the operator -Jalall) s -)
T8 (1) el A5 5 Jad 2y -
Al s Jad g1 38 -
We have often talked together /J%e
. (have) Jdall a2y ¢\ (often)-
ot sl Dm & sl of Sl (g 5 «Jalall 58 (have) «(have talked) s3ae Ailad de sane Linl
(talked) ¥ Jaill 38 5 (have) daladl aas ola 385 (ki) s 8 > (often)-
We are still waiting /Jt«
Saladl 54 5 (are) 508l Jad Wl ¢(are still) saine Zolad 4 gana Ll
(waiting) (=bs¥) Jaill J8 5 (are) Jalall aay ol 385 (k) dis 58 > (still)-
We are very tired /Jbe
el = el L (are) wsusSl dad 5 cdla Ciela iy el Jod Cod dlaad) 038 (tired) < 4alS ;) g
(are) Jad) oy b a5/ Js > very aeall jpem a5 ISV Gl b adly ey / Jeli > We
Ll Js > tired b un sl Jadll g5 Aaal) 3 il Jnd / 2538 Jnd > are
We still have some money /J%s
. Jsa¥) i b (operators — Jalsall ) e e (5 A i) JS*
.Jdia 585 "have" J8 ¢l > still =l 8 > have
We sometimes go to Jeddah /Jts
(sometimes go) la & Ly

" go" Ll Jadll i sl 5 Jis > sometimes @bl ded > go

a.allia.n a. <8 ©
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Function of Adverbials

Function of Adverbials:
Some of the functions of adverbials include:
1 g lal) caila g
1dadi g hall il gl (g
1. Adjunct
e.g. | knew her very well.

(4 iy Sl ) daall e JLSY S e 1plad

e Taai sl bl gl Ul il Mvery well” Ll Lidial levie 5 4laiSa alea & > [ knew her very well /Jba

(e ot LiSey) ls (8 8 5 iy 5 sl 8 > (very well) B3
2. Complement of Subject +BE
e.g. That’s all right.
Alaall e JUSY 4y 5 i 1diphsl) Jab g Jolil) Alasa-Y
That is all right = That's all right /Jt«
AlSe g gl i 5k > all right ol Jaé a5 Jadll > s ixill > That
3. Direct Object
e.g. They didn't tell me why.
1AL J gl
They didn’t tell me this : Jl Wi€a ¥ > They didn’t tell me why /Jé«

Indirect Object > me Direct Object > this :0¥

They didn’t tell to me : J&ll Wiey oK1

They didn’t tell me why
(tell) J=all " jilue e Js28e — Indirect Object " > me
(tell) J=all " 13l J 5280 — Direct Object " > why
4. Modifier

Adverbs can modify nouns, adjectives, prepositions and adverbs.

oA sl 56 5y mally slallc ciliallc slawdyl Jaxi o LeiSay IV a1 1 Jdnt
NP > nearby hotel /\

NP 4 il s 5 N > hotel

a.alli a.n a.<8 ©
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d. modifier : s <l sall 13

a.allia.n a. <8 ©

Lol U Ll Jadll a5 ikl Js > nearby
NP > way ahead /Y
NP & il 25 N > way
U (gl Jaaall g8 5 ik 5l Js > ahead
4diay 3 e > completely new /*
(Adall 3 e ) ddiia sl 5 el ud )l 8 5 4ia > new
Lo il Janall a5 Gkl s > completely
43iuag ke > quick enough /¢
(Aol 3 le) Bbia gl 3 jLall 54 5 4ia >quick
o0 ol Jaaall g4 5 ik 5l Js > enough
48,55 e > very often /°
il a5 sl sl s > often
) Sl g 5l ol Jis > very
43,5 5 e > quickly enough /1
Gl Y a5 sl s Js > quickly
@l Jandll 8 5 iyl 5f Ja > enough
2924 5 Ja 5 ke > directly through /v
o) 85 5555 5 s > through

il Jaxd) s 5 ik Js > directly

Exercise.

Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1. Are you absolutely sure?

) 585 48a > sure

M sure" sl (L8 Jaea a5 <ok Sl Js > absolutely

2. The child followed his father very closely.
e cLaiu) oSa 5 &5 4 > very closely

a.adjunct : s el 13) iy 5 ik 1
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3. He told him when to come.

d=i > told Jelé > He
c. object 15 sl 13) il 4 Js2ie > when il e 4 Js2ie > him
4. The show ended very quickly.

4,k s ke 4 > very quickly
ol 8 Jae a5 Gl ol Jis > very Gl U a5 sl s ds > quickly
d. modifier : s i sall 13
5.1t was all right.
faaall > Tt
Y1 Jedll s 5 43Sl Jad > was

b. complement : s <l sall 13} (AL o L ) Aaaks s 13) ¢ Alaall e JaSy 85 <ok > all right

<l ) — "Adal) @l e Lda gl @il jlall — jgaall g el @ jle ) Ge Aal ja ¢ eSia B pdilad) B pdalaal) %
(AdoBl @ jlal) — drau)

Lecturel(

Basic Types of Clause Structure

Basic Types of Clause Structure:

« [n making up a one-clause sentence in English, we have a choice of five basic clause structure types in
which all the elements are necessary.

 These basic types can be expanded with other optional elements like adjuncts and modifiers.

« Each of these five types follows the basic pattern: Subject (NP) + Predicate (VP).
e In each type, the subject will normally come first and is the followed by a verb phrase.
e Only the composition of the VP changes in each type.
silaal) i 3 bl plid Liulud) £165Y)
b o3 ) oLl saLtins 5 ¢ analy s le b ciblial L3l s Jan (o a1l b 8L

oA Canal of a5 g laiy) 43l 3 (one clause sentence -sasl s 5 ke ) sl dpulul 3,k 0 Ll 13
_:\ﬂ)j).b).auﬂ\a;m cegi)m\_ud\

a.allia.n a. <8 ©

o o o o o o o o o o o o o o o
% == =% =% =% =% =% == =% =% =% =% =% ——% ——5%

o o
% ——%

o
s

o
%

o]

o,
%o

o,
%0

o,
%0

YSIT Y

o o o o o o
e e e e

o o o o o o o o o o o o o o
% % % % 9% % % 9% % 9% % 9% %

o

o o
T




R T T T T el

s palic Clacldl) sda e IS 5 (clause — 4lea 5l 5 ke ) sl Al £ 51 e il a0 Ll T
o3 (any O LSS LS 5 i Lia) pualie 5355 e pealic Lial T3] ¢(clauses — <ball) 38 s 55 W) (Saall (pan
13 ale&all 5 Jadll 5 (subject — il sf Jelall) :ie &y ) g pall jualinll any 5 oV 3nall 5 ool sill 1 4 HEAY) jualial)
s s Lglead V3l 5 ol 530S L pualinl) oany Adlia) (Saal) (a8 5 el dpudasl 3206 Lyl (S 13)
2 ) Jaadl) s dnadl) 153 238 (e 8-
Subject (NP) + Predicate (VP)
Jieliacale&ull /e Ll 5 Al jualic e gl dilad 4e sene e (5 51y o (Sadl e " Predicate) 8

Lald Vs a0 5 ilad 5 )l o 25 e s Al i il o adall e (sl i Jeld)) ¢ g1 03a g JS -
L Bwalaall dles (8 Lgh i

G gl o8 5 i Y S i Jeldl ¢ daadll g1 51 o3 e g 53 IS G Aaladll 3l (S 5 g e yahy g3ll-
Al B Ll sa

¢ The VP may contain the following elements:
1. Intransitive Verb (abbreviated as Vi)
2. Transitive Verb (abbreviated as Vt)
3. BE or another Copula
4. Complement (abbreviated as C), which includes:
a. Noun Phrase (abbreviated as NP)
b. Adjective Phrase (abbreviated as Adj)
c. Adverbial (abbreviated as Adv)
5. Direct Object (abbreviated as dO)
6. Indirect Object (abbreviated as i0)
Agladl) 5 5lal) il (mny Leday ) Wiy 31 jualiall L o3a 13) > 14000 jualial) o o giad o8 4dadl) § Lall-
(Vi) p3¥ dad-)
(528l s3al- Monotransitive) ¢ (Js=iall S - Ditransitive) : cue sill SIS Jodii lia > (V) s22a Jad-Y

"Non-finite verb-sass e 41 545538 J=é been" (is, are, was, were) &gl Judi.y
He is here/Jdis > (4ka gl byl ) J28 -Copula) ) s

4ia 5l Ja > here =i > s Jeld > He
(4 5l Ll ; Jeé -Copula) =i o2 > "here" daall 5l Jall " He" Jeldll Ly 5 " js" dalS-

{(have) 2= (been) padiviv e 582350 e 43538l Jad st (have) = 4538 Jad Gild Laxie (S
el & 5 el de sanall 8 Lgiilia) LiSay jeaic & 5 (C) ALaSall-t
LSl (ga A 5 > dganl) 5 5Ll NP -
(Al 5 )le) Laasll 3Ll Adj -
Akl s lall Ady -
(dO) bl J gadall-o
(i0) Hdlsa sl Jgadall-t

a.allia.n a. <8 ©
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« The following table shows the five basic types of clause structure in English:

4 3lady) 3l 3 (clause-s ball) sl Tuadll g ) o) W el ) Jganl)

Type Structure of VP Examples
1 Vi a.__ a. We waited.
b. C (Adv) b. We sat down.
2 BE +C a. NP a. He was my friend.
b. Adj b. He was intelligent.
c. Adv c. He was in my class.
3 Vt+dO + a.___ a. I made a mistake.
b. C (Adv) b. I put the key in the lock.
4 Vt +i0 +dO a. (to) a. I gave him an answer.
b. (for) b. He made me a suit.
5 Vt +dO +C a. NP a. I found him a bore.
b. Adj b. I found him boring.

[Vi] :Js¥) £ gill-)

clila) > S+ Vil

Jel 'S : We < We waited
aJ¥ B8 Vi : waited

Gléilsl > S+ Vi+ C (Adv) /e
Jelb'S : We < We sat down
aJ¥ J28 Vi : waited
Jeldll 5 Jadll dlaga & L aiia g5 il Adv : down

cllal Laiiila 5> [BE + C] (S8l £ 5ill-2

S+Be+C(NP) /i
Jel' S : He < He was my friend
4igis Jab Be : was
deldl) 5 Jadll Alasa a L Wik 5 5 dzend 3 e NP : my friend
S + Be + C (Adj) /=
Jel S : He < He was intelligent
45iS Jad Be : was
Jelill 5 Jaill dlaga o L Wit 5 4ba Adj : intelligent
S+ Be + C (Adv) /=
Je S : He < He was in my class
45is Bk Be : was

Jeldl) 5 Jrdll Alasa o L Lgtida g5 g (55 Ll LSI LS 5 952 9 s 3ke Adv (PP) : in my class

a.allia.n a. <8 ©
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dO ilue Jpnie + Vi sonic Jsnie >>> [V + dO] :¢88l £ 413

alibal gsu > S+Vt+do /i

Je S : | < I made a mistake
(Monotransitive verb — Jsxiall galal gasia J=3)  saia Jad Vt : made

Ak J2da dO : a mistake
Glilal >>> S+ Vi +dO + C (Adv) -«
Jel S : [ <Iput the key in the lock
(Monotransitive verb — Jssiall (salaf (saaia J=d)  (gaxia J2d Vit @ put
A Jg2da dO : the key

AaSa o L gl gy il S5 Ledl L SIS 5 454 9 la 3be Adv (PP) : in the lock

clilal Lilila >>> [Vt +i0 +d0] a0 ¢ sill-4

S+Vt+i0 +dO0 + (to) /i
Jel S : I <Igave him an answer
(Ditrnsitive verb — Jsxidl Al gaxie Jad)  saka J2d Vit igave
Al 2 5246 i0 : him
Ak Js2da dO : a mistake
(o) phiuty AT 05 Alaal dBlua oS

Jsraall &3 e 5 (t0) = il (.u Yl il J sedall b o oSaall (e 4l Baadls aleal) delua sile) e > ] gave an answer to him
ilae ul)

S+ Vt+i0 +dO + (for) -<
Jel S :He < He made me a suit
(Ditrnsitive verb — Js=iall Sl (gaxia J=d)  gaia J22 Vt : made
il £ J2a i0 1 me
Ml Jg2da dO : a suit
: (for) aladialy AT Jody deall 48 Lua (Sar*

Jsidl) 5 (3 5 (for) = el & Y51 lall Jsmiall iy o (Saall (pa 4if 233 dleall delua 33le] o > He made a suit for me
il

AJZSAQ;L;)S;.JQTQHUA> (AeSa + dle Jgnia +gania J=8) > [VE+dO +C] 1) £ 5ll15

S+Vt+dO+C(NP) /i
Jeld S : [ < Ifound him a bore

(Monotransitive verb — Jsxiall (salal (saaie Jad)  ga2ia Jad Vit :found

a.allia.n a. <y ©
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Al Js28a dO : him
alaSa o La iy 3 NP : a bore

138 5 (505 & ey il IS 4df) 038 (inalld callia Sl inall o i 439 Alaall e o5 1 (1 found him) sl LiSe Y*
(s pantll b o ey 5 ol 4l ) sa Adlay) ol all Y als

S+ Vt+dO + C (Adj) -«
Je¥S:1  <Ifound him boring
(Monotransitive verb — Jsxéall salal asia J2d)  sa%a Jad Vi :found
2l Js2da dO him
Alasa o Ua gidda g5 Adj : boring

e As we mentioned at the beginning of the lecture, each of these types can be expanded with
optional elements like adjunct and modifiers.

For example, we can expand the first sentence in Type 1 as follows:
We waited. (Type 1)
We waited in the car. (Type 1 + Adjunct)

5 @l sS4y jlaal sualie YA (e < et o Saall (0 1581 030 (0§ 3 S ¢ b puala) b lasd U S3 LS 5
_(LNAMS\

( QU J Y g sl 8 ) Aleal) aa g8 (Saall (ga /e
(Js¥ g ) > We waited
ALY o8 3 ga 5 agal) e ad 081 5 Al g i i > (@i + J5Y) g 5301 ) > We waited in the car

« Simple sentences have only one clause. They can be expanded even more by combining them
with other clauses as we will see when we discuss compound and complex sentences.

Gl ks Gy agday ) JA (e deall 038 a5 (Sadll a5 ¢(One clause — a8 sasl g3 ke ) e (o giat Aagun) Jaali*

las Ll S5 1) ol jlall) ([l Lgndamsy <l sl Jay ) A (e 4S5l 5 i) Jaad) Bl W Sl (30 13 ] (A

o ST ot Ailia) Ll s Hasdl Jead) e c¥anall 5 a5l Alia) (Sl (po ¢(dai Apead) Jaall 3 Laitee LS
il A el Jaall Wl (585 SV Akl dlaall e 3 ke

» Be careful not to confuse these five types of basic clause structure with the five types of complex verbal groups that
we discussed in Lecture 5.

4e sanall (complex — baieall) dusadll 1 5Y) G 55 pualaall 038 o jlaad) elid Apulis) disad) g1 591 G | shasallis Y*
t Al dl) B pualaally > ddadll

I made a mistake - We sat down - We waited < (325 5,ke e (5 giad) Ao dles [J*
I can make a mistake - We can set down - We can Waite < (s2al5 5 ke e (5 53a3) complex - saixe dlea

e Producing “good grammar” is often a question of fitting a verb into the basic type or types
appropriate to it.

A S gl Jals b ) g il Jas Jadl) s Alln e Y1 G 3391 G Ul (s 4 sai 32018) Ly
.Jadll

a.allia.n a. <y ©
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For example, the verb “tell” can fit into basic type 3, as seen in the first example below; and it
can also fit into basic type 4, as seen in the second example below.

e.g. 1. He told the truth. (Type 3)
e.g. 2.He told me the truth. (Type 4)

iy o Ladl oSl (e 5 JaudL OV Ul 3 1aadl s LS ¢ o) B g il e iy 43l " te]]" Jadll /e *
1AL A Qe 8 Bad s WS ¢ ol al g il aa

((Jsniall galal gania Jad ela " told" Jedll s ) &Ell ¢ 5l > He told the truth -)
S >He
(Monotransitive verb — Jsxiall galal (sasia Jad) g2 J2 Vt > told
Kk Js2da dO > the truth
( Ditrnsitive verb — Jsaiall (A8 (sa2ie Jad sl " told" d=dll Ua ) &l )l & 530l > He told me the truth -Y
JelS > He
(Ditrnsitive verb — Jsziadll AU gaxia Jad) (s J2d VE > told
il £ J2dai0 > me
sk Js2ada dO > the truth
On the other hand, the verb “explain” can only fit into basic type 3, but not basic type 4. For example:
e.g. 1.He explained the answer. (Type 3)
e.g. 2.INCORRECT: He explained me the answer. (Type 4 is not possible with the verb “explain”)

A e Qé_ule‘\)” &l g il e ity ¥ oSl “é.u\_my\ G & gl e ulity 38 "explain” J=sll (s Al Lal
:JUl)

Lis SIG ¢ 4ill > He explained the answer
JeléS > He
(Monotransitive verb — Jsxiall galal gasia J=i) e J2 Vt > explained
il Jg2da dO > the answer

.0 smia 330 o Sy ¥ "explained"” Js&ll (¥ > He explained me the answer :J s (hlall ;e*

a.allia.n a. <8 ©
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I

I -

»L Exercise

| :

I

| Which of the underlined elements is NOT a necessary element of the following clauses? If all
H elements are necessary, then choose “d”.

‘o

i a. (1) b. (2) c. (3) d. all elements are necessary
U% 1. He was in my home yesterday.

I m @ 3)

I

(J28) Adasl) & (555 0 > was

I C.(3) 1 5o lsall 1Y) ) .
| e (41aSe) Aaall 8 5522 > in my home

L

| @l 5 sk >yesterday
% 2.Maha is agood student.
L @ @

(subject -liw) leall & 5,5 02 > Maha

d. all elements are necessary: <l sall 13 (=) Aol (B 552 > s

(sSa A 5 Aa g3 e ) daall & (5552 > a good student

3. The angry man waited impatiently.
n @ @3
("man" Sl alixa a5 -48a) s L) > angry
a. (1) s Sl iy (subject -Jeld) ileall & 5 552 >man

(J2d) el A (55 0 > waited

Exercise.

Identify the basic clause structure type for each of the following simple sentences.
a.BE+C b. Vt+ dO c. Vt +i0 +dO d. Vt+dO +C

1. Faisal wrote a book.

O O Sy g S 8y Qg @y g @ @y Qg @y @y e Qg O @y 0y 9y Oy O
o

oo e S o ge S 8o ge Jo 8o go go §oSo o goSoSo—go s &

Jeld S > Faisal

==s

o6

b. Vi+ dO sl sall 13 (Monotransitive verb—J siall alal asie Jad) gaaia Jad VE > wrote

o——o,
o

S Jg2da dO > a book

I a.alli a.n a.<8 ©
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I A A dgally g 483 )
l
| |

I 2. He is a good writer.

So

Je¥S > He H

E
|
a
2
3’0‘

|
ls a

X

° B
% So

Ho a.alli a.n a.<8 ©

e.g. Three exceptions exist. (Type 1)

| ]
| ) LsiS Jd V (BE) > is ]
i a.BE+C: s sl 1) |
‘o‘% alase & 3 4da C (Adj) > a good writer H
| l
l d
U% 3. He gave me the book. H
l J\
I s JeésS >He i
U% ) (Ditrnsitive verb — Jiall Sl saatie Jad) g2l Jad VE > gave H
L CVE+0 +d0 i sall 1y ) d
| A £ Jp8ai0 > me Jl
l J
‘T il Jg2ia dO > the book H
®© \ kY
I |
I |
U% 4.1 found the book interesting. H
l J
‘T r s > H
i . . ]
H% (Monotransitive verb—d siall (galal (saaie Jad) - g2 28 Vt > found :‘
L doVt+dO+C: s sl T { ‘\
! il Js2ia dO > the book |
I’ I
| , , |
ﬂ" L 4liga & 9 4da C (Adj) > interesting H
I ]
I ]
U% 5.The book is in my library. J
Il |
i . |
ﬂ" J=& S > The book H
r% e . ]
H% 2. BE+C 1 s il gall 1) S J8 V (BE) >is Pl
| J
U% Alaa A 5l ¢l Ja C (AdV) > in my library H
Il |
i J
i Adv (P.P) i
I |
i J
I il
i = 4= - J
i Variations of Basic Clause Structure Types 3
w |
" A
i J
W Variations of Basic Clause Structure Types: H
ﬂ% Common Variations of Basic Clause Structure Types.. H
" B " ‘ < i
. il i 5 jlall Laled) Sl £1 53 il il )
L ALaall g 8 jlall Ll sU £ g5Y daLal) el il ]
Il |
i J
[ 1. In type 1, “there” can be used as an introductory subject. |
‘0‘0 0
Il

|

‘0‘0

B
oH
&%

o
N

o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o
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There are three exceptions. (Variation of type 1 using introductory “there”)

*The pattern in this example is: There +BE + Subject

:?.\33.4 ‘ S? - 8 "there" PAS d}‘y‘ t}m L;j'\
Three exceptions exist /Jbe

Jeld -S > Three exceptions

(S + Vi) Js¥l ¢ 5l

Vi > exist
There are three exceptions

( piie lvisa — introductory subject) > There

3sas oY) g sl sl

451 J=8 V (BE) > are

( paiie i — introductory subject)

late subject (S) Ak 3 > three exceptions

" There" 4l aladiuly

There +BE + Subject : s "™ Jiial 13gd Jaaili*

2. “There” can also be used as an introductory subject in a variation of type 2.

e.g. Some books are on the shelf. (Type 2)

There are some books on the shelf. (Variation of type 2 using introductory “there”)

1 g ll Rl b it 1508 23358 8 "There" S
Some books are on the shelf /Jlis

Jeld -S >Some books

448 =8 V (BE) > are

(S+BE+C) S g 5l

sy Sl g all sl
I3 — introductory subject) <
" There" 4l aladiuly ( aai

a.allia.n a. <8 ©

e & 5k 5l ds C (Adv) > on the shelf
Adv (P.P) —
There are some books on the shelf
7( a3 153w — introductory subject) > There
458 28V (BE) > are

late subject (S) sali 15w > some books

L& 4 5k 5l ds C (Adv) > on the shelf

\ Adv (P.P)

3. Type 2c, can be reversed when the adverb is “here’ or “there”.
e.g. Mohammed is here. (Type 2c)

Here is Mohammed. (Variation of type 2c)

e There are other variations that we will not discuss here.
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"there" s "here" i€l as) s LBl o Jadl 13 ¢ & Laaie Jall & Jeldll 5 Jeldll gl&a Jadl Jlasiad (SKaall (4

Mohammed is here /J%
Jaie - >Mohammed

O 5 (S + BE + C) 4l g 5l
Adv s C 0sSs of oSl

LS J28 V (BE) >is
e 4 5k ol ds C (Adv) > here
Here is Mohammed

( paie I3ie — introductory subject) >Here

introductory 25y JGll & 6ll il
( pie e — subject)

L€ J2V (BE) >is

late subject (S) ki lsiw > Mohammed

Lecturell

Coordination
Coordination:<iksll
In the previous lecture, we discussed the five basic types of clause structure.

Each part of the structure of a clause can be duplicated (doubled) or added to by Coordination.
For example, the subject is duplicated in the following sentence:

Mohammed and I are good friends.

The two parts of the subject in the previous sentence are joined by the conjunction “and”.

Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical units/elements in

a sentence.

e [f we combine more than two parts, we usually separate the parts by commas, using the
conjunction to join the last two parts only.

e.g. Mohammed, Ahmed and I are good friends.
Alaall 55l el dusedd) i) £ Y e Lians Aaiull 5 jualadll 8%

Adsie Alaal) paail adliak 065 o)l (aeliad) adeliah (583 G (Sl (o Alaa) 5 5 )l iy a6 JS*

a.allia.n a. <8 ©
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At Alea) aat] ALY f dielimal) o Wil Vel 5 ol il i Lella o 3(clladall) (Gasadl 1)

(IS (Jelall dieLine aalaiasd 38 /Slia-
Mohammed and I are good friends
(and) <ibe s s Al g Uﬂu Al Alaall & odadll DS
Aleall b s jealic i 4 5aill cilas gl oy 5l Ladiios ) 5 and, but, or die ciball Gig s
(I -Mohammed) k& (i ja Likay ) Giladl JEall 3
coan oo sl aY) Juadl (ALalill) aadiuid cpl ja e ST I 5 o La 1) oSl

L hdd ol e HAT Loy Calaal) o ja

Mohammed, Ahmed and I are good friends /JU«
(Alalé) s Laalilead ol 3 -
(cibe caya) o Laalihay ) col a AL

.(and) s Calaall (o an

Types of conjunctions:

1. Coordinating Conjunctions (coordinators)
These are single-word conjunction, including: “and,” “but” and “or.”
e.g.  want Ahmed and Saleh to come see me.
e.g. | want Ahmed or Saleh to come see me.
e.g. | want Ahmed but not Saleh to come see me.
rdbaall Giga &1333
(Oshuiall) o oo 3B >> 1 (Afpaiill) Abuial) cibal) Cig )
r ) Ganai 580 yiie LIS o T3] (2 5dk) Baal s AalS (S5 08 Calaall Cig ja
and, but, or
I want Ahmed and Saleh to come see me /Ji«
Les L3S Ahmed 5 Saleh )i 3l lalixe Ua > and
[ want Ahmed or Saleh to come see me
(Legie 2al5) kid Ahmed s Saleh )} il Walias lia > or
[ want Ahmed but not Saleh to come see me

Saleh ki 3 )l s Ahmed Saxind il lalins Ua > but

a.allia.n a. <8 ©
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2. Correlative Coordinating Conjunctions

Uo These are pairs of words, including: “both... and...,” “either... or...,” neither... nor...,” “not only... but also...”
I

‘T e.g. l want both Ahmed and Saleh to come see me.

3 e.g. | want either Ahmed or Saleh to come see me.

| e.g.l want neither Ahmed nor Saleh to come see me.

e.g. | want not only Ahmed but also Saleh to come see me.

2 (Adas) yiall) A DUial) (Aacadill) Abeuiall Cibuall Ciga - ¥
I ) i (S G 155) Ry S 0 5 e b
I both... and...,

:% either... or...,

neither... nor...,

I not only... but also...

. e Jolall are g LK o 5 AdaaDle any /)
[ want both Ahmed and Saleh to come see me
(sBA > and g« either ¢« «ila > and g« both
I want either Ahmed or Saleh to come see me
(=B > or g« both « iba > or g either
[ want neither Ahmed nor Saleh to come see me
<la > nor & neither
[ want not only Ahmed but also Saleh to come see me
«ila > but also g« only
3. Subordinating Conjunctions (subordinators)
4. Correlative Subordinating Conjunctions

We will talk more about the last two types when we discuss Subordination in Lectures 12 and 13.

o (i) A8aLl) Cilasll Cig ja-Y

W’ (A jiall) A Bial) (daiadal) A8adll) Cibaal) i g ja-t

I a.alli a.n a.<8 ©
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Exercise.

Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction
b. Correlative Coordinating Conjunction

1. My brother and sister went to Dammam a. Coordinating Conjunction s J=ll

2. They are both polite and friendly. < b. Correlative Coordinating Conjunction s& Jall

3. I not only like swimming but also diving. «——————b. Correlative Coordinating Conjunction s Jall

4.1like swimming but not diving. a. Coordinating Conjunction s Jall

We can compound/coordinate any level of constituents (grammatical units) - words, phrases and clauses.
Cden e le ¢ S (4 s lan s (6l) S (a5 siana (gl GBansii ol S i LSy
.( constituents — CUSall) amsar (Jeall 5 @l jlall 5 LK) e a8
e Coordination of Words

Coordination can link two or more words of the same word class as in the following examples:

Nouns:

e.g. Football and basketball are my favorite sports.

Adjectives:
e.g. My friend Khaled is funny and intelligent.
Adverbs:
e.g. We must finish our work both quickly and efficiently.
sl Gaeatic
IS S 5 i e ST g1 (i€ Lo i Clial
sl )

Football and basketball are my favorite sports /Jb«

aul > football

(and) Guiall Cilaall G ja (Jlany) Lils
a=! > basketball

-

dda.Y
My friend Khaled is funny and intelligent /J&«
44 >funny

.(and) M‘ Calaall oy (ol Al L
4ia > intelligent

a.alli a.n a.<8 ©
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e gl i
We must finish our work both quickly and efficiently /J&s

Js >quickly

| [(both - and) a3 Galh Cabe Cijay JI Y Ll

J > efficiently

e Coordination of Phrases

Two or more phrases of the same type can also be linked together through coordination as in the

following examples:
Noun Phrases
e.g. The old man and the young boy crossed the street.
Verb Phrases:
e.g. Many of the grammatical terms must be studied and will come in the exam.
Adjective phrases:
e.g. The topics are very interesting and really useful.
Adverbials:
e.g. You can wash your clothes by hand or in the washing machine
1 k) (Banadia
IS ccalanll oy a A (e aa g sill 838 i g ST T i e oy ) i Ll clisall
ran B e
The old man and the young boy crossed the street /J%«
(old) LU L8 Jsxs >The
daaul 3 )be {(The old man) & ball (i ) > old
(old) ol A 32 J3xe > man

(cabe <iya) dayy 3 > and

(young ) ol L8 Jas >the
dsan) 3 e < (the young boy) b=l ol > young
(young ) wsl Ul (5223 Jaxa > boy
1l 5 e Y

Many of the grammatical terms must be studied and will come in the exam /J%e

a.alli a.n a.<8 ©
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(must be studied) < 338ra 41lad dlag Ua Lual*
Type 1 > Modal +Infinitive > must be
Modal > must
Infinitive > be
Type 4 > BE +Past Participle >be studied
BE > be
Past Participle > studied

(u}:ﬂ; u);) L‘L) Blal > and

(will come) < Al skaa Alnd Alay Ui Ly Liyat®
" passive voice" Type 1 > Modal +Infinitive >will come

Modal > will

Infinitive > come

(and) st cale oy Laalihay ) (yidiea (pisdad i sane Loal Lin 13) *
a5 -
The topics are very interesting and really useful /Jta
(very interesting) : (& S9! Lda gl 5 jLali*
"interesting" 4iall & Jsa b5k S Js >very
ddays e
44 > interesting

(<alac o yn) oy 300l > and

(really useful) : A 4 Lda gl 5 Lall*
Ay e "useful" dall 18 Jae a5 sk 5l s >really
4aa > useful
(and) sa s cilae Caas Laaliay ) (pidine (yiifien 5 (ke Lpal La 13 *
143 )k 5 ey
You can wash your clothes by hand or in the washing machine /Ji«
(by hand) : & A% bR 5 Lali
a < >hy
D50 s b le

deul 3,Le > hand

(QLSQP)LQJE\Ji>or

a.allia.n a. <8 ©
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(in the washing machine) : & 450l 438 )1 5 jlall* OH
|
. |
BYSCEWISE N SIS _ _ -
4aul 3 ke > the washing machine )l

|

Okl Gl she Lea 13 s e 05Ss Hspmall 5 el s ke of WA LS LS 5 555m 5 e Ujle LaadS * H

E
ooo‘
é’o‘
é’o‘
é’o‘
é’o‘
é’o‘
é’o‘
é’o‘
é’o‘
<§’o‘
<§’o‘
<§’o‘
<§’o‘
é’o‘
|

J
£y
|

J
£y
|

J
£y
|

J
£y
|

J
£y
|

Compound Sentences .
£y

|

J
£y
- |

148 yall Jaad) |
b O so
|

|
&
|

J
&
|

J
&
|

J
£y
- |

1AaS yall Jaadl )
£y

|

J

3

E
|
q

X

A <A >in

e Coordination of Clauses

A compound sentence has two or more clauses which are linked by a coordinator.

rdaal) Gl

’
B.\SM—LSJA—;\LMJu)ﬁﬁM\ui:\:\.\a)ﬂ\3)}.\”5&%\&4@\4)53\.«5* °‘o‘

- . o“

|

ccabaall Cagpa Al gy agdan s oy ST 5f 58 1 o A8 el Alen) J

o“

|

« All of the clauses in compound sentences are coordinate. In other words, they are of equal rank. H
None of them are dependent on (part of) another clause. They are all independent clauses. H

(O Alia agarend WM 5l (L8 sal OIS 1) (gl ARlih s A8 el Jaal) i "clauses ~Jaalle i jalt ¢ Pl
|

.(equal rank-i sbuia 4 ) S el Jaall 8 Sl aaes (55305 jlas* ]

i

|

(AT 58 (n e 0m ) a8 e Aalie ] (585 il 038 (a5 Y 5% i

(AT e e ST (559 (o AR (585 Ll (5T) Alfsa 5 55 ol i) 038 oan® J
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The following are examples of compound sentences:
1A pall Jaal) e ALl g B ke A
e.g. 1. Everyone was in the room and the doors had been closed.
s¥! 34l > Everyone was in the room
4l 5_al > the doors had been closed
(and) s "ibae Cipa ay )y slaly G Ly
e.g. 2. Everyone was in the room, the doors had been closed and latecomers had to wait outside.
s¥ 5,8l > Everyone was in the room
4,8l 5,3l > the doors had been closed
4l 5 &l > Jatecomers had to wait outside
(Alals) s a5l 5 5 e V) 58 Juad o5 5 (and) s "cilae Caya" Loy 3ol BN 5 A0 5 jE Ly ) W3¢
e.g. 3. Some students didn’t do the homework and the teacher knew, but he didn’t say anything.
&s¥1 54l > Some students didn’t do the homework
4560 3 %@l > the teacher knew
43 34l > he didn’t say anything
3ol Ll Al 5 V5315 jaall Ly 5 o (Aliald) 48 suus (but) oo s "l <aya Loy slaly Q3 5 4600 5 &l Lay ) L3*
5 e Caela Lin AN 5 o 58 casndl (but) cibaad) Ciya 0 Abials 35a 5 s Baadi> (and) b s "cibe Cija" Ly
s U Abealdll o sa 8 il Al 5 Y1 oyl
e.g. 4. Either he didn’t bring the book, or someone took it from him.
s¥) 558 > he didn’t bring the book
4,16 5_adll > someone took it from him
Lo Lagd Cpilaadl () Lganns Ui ALl 5 g g ¢ Alialdy 38 sase (OT) (A5 "cibae o ja" Jay ) Blaly Al (Y 5l Loy ) 3¢
" Either" i€ 3 5n 5 s Ua ALl 35m5 cas ¢f @5 5) il L Lin ALalil) 350 8 "0ntnd 00 i 1" 4 L)
(A=l 45 "causes and effects- il 5 cundl 8 Lg3a] A Clac il apd 1385 = I 5¥) dleall Ll
e.g. 5. I'm selling my car and (I'm) buying a new one.
&Y 58l > 'm selling my car
sl o Lo cads (Saall (e = 4l 53 > (I'm) buying a new one
(and) 45 "ibae Cipa" day sl i by ) W
e.g. 6. Mohammed is going on a trip for a few days, but (he) will be back before Saturday.

¥ 358 > Mohammed is going on a trip for a few days

a.allia.n a. <8 ©
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O sll (g Lo s (Sl (e = 4380 3,80 > (he) will be back before Saturday
. (but) s "cabe Cia" by slaly G D Ly ¥
e.g. 7. He may have received the letter but (he may have) forgotten to reply.
S sall > He may have received the letter
8l o e s cRaall e = 4 3,80 > (he may have) forgotten to reply

. (but) o5 "l Caa" Tay y 3lal (il dayy ¥

 As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same person or thing, the
second subject can be deleted. We can also delete the second verbal group if it is the same.

imall 5 Jadll 5 (sl 8l i e o gy VIS 13) 20l 55l (he aghiad o Sanl) (pad il jEll o Jadll 5 Jelill S5 13)*

oileall M1

o2 (8 Alaldll 3 sa s ams (oo ) Can M) die ) Sl | il o Balall o3a 15380 ) AUl (pe el
A0 il pe oS0 g ST o SLE Lad ga g om0 US4 jle ga AV T 5 € &) JUa) 3a) ALY

(sl 5 Gsll

Exercise.

Decide whether the following sentences are:
a. simple sentences b. compound sentences
1. My neighbor and his family are going on a trip.
(they) 4l JSS Jelall Jlaiind Saall (0
aals Jeli Ldali "they" = " My neighbor and his family" o &
asly J=8 > going
they are going on a trip : Jsid

a.simple sentences : OsSw Glsalld aals ded 5 2l 5 Jeli*

2. My neighbor is going on a trip but his family are not going with him.
s¥1 58l > My neighbor is going on a trip
40 3l > his family are not going with him
Jelé his family Jlédlb = Jeld My neighbor : Ua La3
2ebia J2é gre = 2clue Jad [s
J=é not going = J=& going

"but" s (e Cia) a8l ik e 8 Ll Ua T3 Jad e ST 5 Jeld (e ST
b. compound sentences : s <lsall ;Ko

a.allia.n a. <8 ©
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3. Either I lost my wallet or someone stole it.
Ss¥) 558 > [ lost my wallet
a1l 5 yadll > someone stole it
Jeld someone Jiliadh = Jela ] ; Lia Iaa30
J=é stole = J=iLost

"or" sas (<ahae Caja) da sl il ye 5 Laal Ua 1) Jxd (e ST 5 Jeld e S
b. compound sentences : s <lsall G Sund

4., The wallet was either lost or stolen.
Jeld > The wallet
Oaad > stolen s lost

a. simple sentences : s& Jall () S Jad e S0 5 anly Jeli Ll L 13)

Ol ol (e el Amnd) Alaa) Lal (5 slasia IS Jad o ST 5 Jeld o ST L a2 53 03V &Sl daad) (o) DAY *
O OSaall (a5 oaal 5 alen iiay Lia > 22 g Jad agaany (S15 Jold (a JiST saie ()5S il i) (g sl 138 Juany
(dass oan) 5 Alanll Hiias Liayl Lin > Jad e JAST A3 095 3a) g Je B f "they" o8 5 oaal 5 4alS Can Jelb (e JiST aans

Exercise :

Decide whether the subject in the second clause is:

a. Optional (can be deleted) (L~ oSa) L)Lid) b, Obligatory (cannot be deleted) (83 ¢S ¥) 4l )

1. My neighbor is going on a trip and his family are going with him too.
Jeld > My neighbor
Al delé > his family
b. Obligatory (cannot be deleted) 158 < sal) 13) ¢ Lavaal cada (Say ¥ 5 liliag
2. My neighbor is going on a trip and he will take his family with him.
Jeld > My neighbor
"(My neighbor) Jdeldll i e 350y yaa 2" Jelé > he

a. Optional (can be deleted) :ss wlsall 13 ¢ Laaaal Cada ¢Say 5 oledbiia

3. Sara will study hard for the exam, and she will try to get high grades.
Jeld > Sara
"(Sara) delll (udi o dgmy e " Jeld > she

a. Optional (can be deleted) :s» wlsall 13 ¢ Laaaal Cada ¢Sar 5 ¢ledbiia

a.alli a.n a.<8 ©

o o o o o o o o o o o o o o o
% == =% =% =% =% =% == =% =% =% =% =% ——% ——5%

o o
% ——%

o
s

o
%

o]

o,
%o

o,
%0

o,
%0

YSIT Y

o o o o o o
e e e e

o o o o o o o o o o o o o o
% % % % 9% % % 9% % 9% % 9% %

o

o o
T




e e T T T T T T T T T T T T T T T T T T T T T T T T T T

===

4. Sara will study hard for the exam, and Maha will do the same.

Jdeld > Sara

Al deld > Maha

b. Obligatory (cannot be deleted) : s <l sall 13 ¢ Laaoal Cada e ¥ 5 clilids

Lecture 12

Subordination Gl

Subordination:

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture 10,
and compound sentences in Lecture 11. In this lecture, we will discuss complex sentences.

A complex sentence has two or more clauses joined by a subordinating conjunction. At least one

of the clauses is subordinate to a main clause.

A main clause (also known as an independent clause) is a clause that can stand alone as

d complete sentence.

A subordinate clause (also known as a dependent clause) is a clause that cannot stand alone as a complete

sentence.

saadl) Jand

ke Jon 5 S je don oy e 1) Lpasndi (e ol of LB 1901 5 pumlaall 3

5 plaall g A8 el Jaall L3l 5 65 plall 5 juinlaall b La sl A8 il jualaall 3 Jaaiils dasd) Jasll Ll

(48554 A Calae Cag a JMA (e pgaiaan (sl e (two clauses or more — ST o i) e s

saiaall Jaall 5 junlaall i & (il s e Lalal)

(one clause — saal g “SJBB) L_Q:. ng.\aﬁ :M\ M!

sind 1 pal) Alaal)

e Calae Caga DA (e agamnn (e 3 (two clauses or more — ST 5l o 8) e (s siad rBainal) dlaad)

oy ) (clause) 3_3dll 2= el g 68
Y (one clause — saal 53 ,3) ddawas simple

Coordinating Conjunctions :J3& (s
Correlative Coordinating Conjunctions
(A N0 i Calac iy pa — agiadi Calae i a)

(two clauses or more — I sl (5 i)

i< » compound

Subordinating Conjunctions :J3& ¢
Correlative Subordinating Conjunctions
(4 5Mia agasi Cahae oy a — agadi Calae (a5 5a)

(two clauses or more — I 5l (5 i)

53320 complex

(Fala¥1 538 e a8 O o) bl 5,588 e dgalaie) ¢ 65 o (ol a3 0585 <l il o3 saa) JEYI e *

a.allia.n a. <8 ©
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e adias 155l a5 (independent clause - i) 5 58l)) Ly 55 :(main clause - dsabad) 5 adl)*
s Al Lo

Y 58l a5 (dependent clause - dnlic¥) 5 5aill) Layf e 55 :(subordinate clause - 4 5 ill)*
Aliae s L e 2

« A clause can be subordinate by being able to do one of the following:
Al eLdY) saa) Jee aadaid of A e (4pill) o e o 5 _El o Sa
1.replace an NP in the main clause

e.g. Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object of the verb “see”.
2 Al 588N 8 dra) 3 jladl Jlagial-)
Everyone could see it /J%s
. (see) dadll Jsria 58 5a0en) 3 ke 585 pen > it
Aliall gl 5 ) e dpslaie] a5 4l 3,58 > ((that) he was frightened) = < allag
J=dll > see
et o adiad dlilue 4les > Everyone could see
(see) dxill Jsmie & L Lgiila g5 Laanl dea 4 " that he was frightened” 4kl alaal) 13 *
2. modify an NP in the main clause
e.g. loftensee my old school friends.

I often see friends who were at school with me.

The subordinate clause “who were at school with me” is called a relative clause.
[t functions as a modifier of the NP “friends”.

s Al 588N 8 dpan) 5 lad) Jamia ¥
[ often see my old school friends /s
. (my old school friends) 4slxdll 3 lall (i1 g8 5 dsaul 3 ke > friends
. " friends" < Gl 408 <Yasa agzien > my + old + school

e Y (clause — 5,8) g s s Akl Ve S 038 agil (Sedl (pa*
. " friends" usi,l Jexdl (subordinate clause - &5 5 i) alaiiul Sadl e 13)

Alitall Lpulu) 5 jal e dplaie) a5 4all 5,58 > (who were at school with me) = “my old school" < Waiul*

.(main clause - &bl 3 ,8) a5 Uit dlea ,» > (I often see friends) 13*

a.allia.n a. <8 ©
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| Adpll dleal) gl 4 gum sall Aleally o33 " who were at school with me" 4=l dleall T3

(subordinate clause) 4licl 4lea 4 > (who were at school with me)

Mriends” o) J35 5 ) 5l s Ua dualaieY) dleal)

S friends"” Zae¥) 3 jlall Janad Ua Lgididn 5

3. replace an adverbial in the main clause

e.g.

I met Ahmed twenty years ago.

I met Ahmed when [ was at school.

H functions as an adjunct in the main clause “I met Ahmed.”

2 Al B8AN & i g plal Jladu- Y

I met Ahmed twenty years ago /J%

ol ge sk > twenty years ago

4l 3 ke > (when [ was at school) = < sl

Lebia ey 6 a2 a

ﬂ% The subordinate clause “when [ was at school” is an adverbial clause of time. It

" Tmet Ahmed" Aamld) dloall (i U Uil gy gla3l) G 485 Aes & " when [ was at school" 4l dleal

Aid 4 Jiilall g g 4 Jailal) 4s 50 g Jailal) Jand)
"see” Jadll Jgmie | " il sl o galaie)-Aan 5 i that he was " e dran) 5 o> it L) 5yl Jladicd)
"Everyone could see frightened see it Al oo AanloY) 5 8l &
AaanY) 5 5lall Jana "AlEal) 3yl e galais ) Al dlaa who were at 4eul 3 ke>my old school ¥ 8 lal) Jlaind
" friends" "I often see friends school with me my old school friends Al 0 Al s ull 4
Gaul) 3yl 4l S gl -l e 4l dlea when [ was at k> twenty years ago o Rl Jlaial
"I met Ahmed" "I met Ahmed"4iusll 5 il school Laulu) 5 e

I a.allia.n a. <8 ©

A subordinate clause is usually introduced by one of the following:

1. a subordinating conjunction,

2.arelative pronoun,  e.g.

when or that

who, which, whose

LN LY san) A Cpe gl Bale Aualaie ) B jaal

that s when :dslaieY) cilaal) Ciga -

whose s which 5l who 14 s sall gf L) yilaal) - ¥

Compare:

1. a. He was frightened. (Independent Clause)

1. b. that he was frightened (Subordinate/Dependent Clause)

2.a. I was at school. (Independent Clause)

2.b. when I was at school (Subordinate/Dependent Clause)
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Examples “1.a” and “2.a” are independent clauses. They are complete sentences by themselves.

Examples “1.b” and “2.b” are subordinate clauses. They are not complete sentences on their own.
A main clause must be added to “1.b” and “2.b” if we want to make a complete sentence from

them.

40 )\8a

PP (DGl jadl

Jual) 2

LAl AlEiiee Alaa- He was frightened
(A 5 )

1.a.

Al e dalaie) dlase
_(l_pl..«fm\ 3)35)—
:\AU:\_\AA@A}L@AQ _\A'.\:ﬂ@uu\o‘)sﬂuﬂc\j;j_

that he was frightened

1.b.

LAl Aldtie dlea- I was at school
(e )

Aal e dpalaic) dlaaa
_(l_pl..«fm\ 3)35)—
:\AU:\_\AA@A}L@AQ _\A'.\:ﬂ@uu\o‘)sﬂuﬂc\j;j_

when I was at school

2.b.

Exercise:
Decide whether the underlined clause is:
a.dependent  b.independent

1. It was obvious to everyone that he wanted to leave.

dleall ¢35 5 "that he wanted to leave":Js& of aphin ¥ "that" 4aX 25 s 1aa3G > that he wanted to leave

b.independent : s& ol sl thualaic) dles & 13 Al 53aia ye Alan ot LY

2. He wanted to leave and this was obvious to everyone.

dleall ¢4 5 "He wanted to leave":J s of aahins (Uiive el sf) ualaie] je laa o2 > He wanted to leave

a.dependent : s& < sl \J\ ¢4l 5 Bk Alan rualin Y

3. My friends came to visit me when I was in Dammam.

=¢5 5 "when [ was in Dammam":Js& o} axkivs ¥ "when " e 2 a5 a3l > when [ was in Dammam

b.independent : s il sall 5 i) Alaa o 13 Ladli 53080 e Ales aain @Y dleall

4. My friends came to visit me, but ] was in Dammam.

eall ¢ 5 "I was in Dammam "5 O gebivd (Aiiue Leif gl) Lalaie) e dles 38 > [ was in Dammam

a.dependent : s& <yl \J\ A4l 5 Bade Alan ruain Yy

Types of Subordinate Clauses :
1. Noun Clauses
2. Relative Clauses
3. Adverbial Clauses

4. Other (Conditional Clauses, Result Clauses, Purpose Clauses... etc.)

a.allia.n a. <8 ©
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: Laldiey) Jaal) g g

Laand) Jaall-)
A g gall ol Aanail) Jaall-¥
FERATI R
&b i) Jeall-Conditional Clauses < s _al-¢
daiiiaa) 5l a3l Jeall-Result Clauses
a2l daledl Jeal-Purpose Clauses
434l Jeal-Comparison clause
4l Jaall -Reason clause
We will take a look at each of these types in the following sections starting with noun clauses.
e deall T dy Nl adll o) a1 03 (ge JS o 5k il
Noun Clauses
Noun Clauses :

We can divide noun clauses into that-clauses and wh-clauses. A that-clause begins with “that” and

a wh-clause begins with a wh-question word, e.g. what, who.
LyansY!) Aleall
"that 4l Jea" that-clause ALYL Lalk > wh J Jea" wh-clauses
(that) = fas A. That-clauses What-Who /Jis (wh- question ) <ilalS fas

A that-clause can have four of the functions of the NP. It can be:

:That J Jaa -
(05853 ¢ NP daan¥) 3 lall e ey £ 8 0685 O faall (1
1. Subject of a Verb in another clause
e.g. That the driver could not control his car is obvious.

(=Itis obvious.)

Note: “That” is obligatory in this sentence. We cannot delete it.

p oAl Uaa b Jadll faisa of Jo B/
That the driver could not control his car is obvious /Ji«
Itis obvious ="It" el Ledlagul gkaini ¢ Jeld > That the driver could not control his car
dad > s

ils&s > obvious

a.allia.n a. <8 ©
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H Jeld Cels "It is obvious"iles & (It) dalS**

I . ledda liSa Y dleall A ( obligatory— 4wl 3ll) < (That) 2 Ua- ;s pale*

H . (That) % ¢ 5% (the driver could not control his car is obvious) :J s g ¥*
i 2. Object of a Verb in another clause

e.g. Everyone could see (that) he was frightened. (=Everyone could see it.)

U% Note: “That” is optional in this sentence. We can delete it.
i DA Aax (b Jadll J gadaf ¥

Everyone could see (that) he was frightened /J%-

Uo Jdeld > Everyone

[

\T 2 Le J2é Modal > could
S Jad > see

Everyone could see it = (jit) ssaall allainl (Sadll 0 5 ¢"see” Jadll J2ée > (that) he was frightened

i Ssee" Jadll Jsada cela ™ Everyone could see it" des 8 (it) LalS**

Ledda iy dlaal) 4 )Lad) “That” 4alS a- ;48 sale*
Everyone could see he was frightened < st laall (o leds aodaivi-
3. Complement of Subject +BE
e.g. The truth is (that) he was very shy. (= The truth is this.)
Note: “That” is optional in this sentence. We can delete it.

A0 5Lkl Jad o+ faiall gf Jeldll Alaga/Y
The truth is (that) he was very shy /J%«
i5i > The truth
Lk J=8 > s
The truth is this =(this) LY aul Allasinl (Saall (g5 ¢ 435380 Jail 5 Iviall 2L > (that) he was very shy
L LSy dlaal) 4y Ls) < (that) 4lS La- ;48 sale*

The truth is he was very shy < zuai ileall (e Lgdda aulaiui-

4. Apposition (to nouns like “fact”, “truth”, “explanation”)

} e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the fact”.
We say that the noun clause is in apposition to the NP.

Note: “That” can sometimes be deleted in this case.

I a.allia.n a. <8 ©
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1l /¢
. explanation — truth — fact /Jie ¢ slaw¥l i
The fact that he was shy surprised me /Jt«

daeul 3 e > The fact

. AaanY) Jaall g1 il s2a) (That-clause)) ¢ 3% 4 5 ~> "Noun clause” 4esl s 4~ > that he was shy

Aoalaic]) 5 ye-
Ja-

. (The fact) 4eu¥) 5 lall J s (that he was shy) Of 1J 8 ¢ Jinall (i Legd LaadIS-

835a 50 ST Bale (S0 ANA) oda 8 Aleadl (pe 032 G (Sl (e (that) Al Glal) pan o 4 gala*

The fact he was shy surprised me < zu=i
Reported Speech:
Reported speech can be either direct or indirect.
1 silal) lladl)

ila s gl e ()5S0 8 skl il

a. Direct speech is quoting the actual words spoken by someone. In this case, we write the

quoted sentence between guotation marks (“”).
e aa (e (L Linaial) A3 Zdl o)) lalSU Wl e 5 e s 1 pdbal) cilladd) (i

(7)) 52 LY Adle (pn AL Aleal) S (sl 020 B

b. Indirect speech is restating the words spoken by someone. We can use a “that-clause” to

report indirect speech.
el e (L Liaias) 253250 LU a2 lua sale) e 55k o 1 ki ) Gidadd) (o
(42 samal) LS A lia U yie LY QLY dadle axdias o) () 5y LeiSs cllal) o3a b
e et w8 (That-clause) pldiul LiSe; ¢dllall oda
e.g. The man says, “The road is closed.” (direct speech using quotation marks)
The man says (that) the road is closed. (indirect speech using a that-clause)
Aaié ul g8 Laraiul ¢ pdilaa QUad > The man says, “The road is closed” /d%e
Lé"that" A Ladin) « pdils & QUad > The man says (that) the road is closed
B. Wh-clauses
A wh-clause can have four of the functions of an NP. It can be:
:(Wh-) 4 Jea -

1058528 ¢ NP Apan¥) 5 lall g il £ b 05S5 O (Sl

a.allia.n a. <y ©
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1. Subject of another clause
e.g. What caused the accident is a complete mystery. (= It is a complete mystery.)
14l Alaad Jold /)
What caused the accident is a complete mystery /J&«
It is a complete mystery="It" szl dllaiul (Ko 5 <Ixie > What caused the accident
Jad > s
2. Object of a verb in another clause
No one knows what caused the accident. (= No one knows it.)
1A ey (8 Jadll Jgada /Y
No one knows what caused the accident /Ji«
Jeli > No one

Jdad > knows

No one knows it =(it) _seall dllagul (Saall (e 5 ¢" knows" J=ill Js=is > what caused the accident

3. Complement of Subject +BE
The question is what caused the accident. (=The question is this.)
A gkl Jad o+ fuipall gf Jolill AlegafY
The question is what caused the accident /Ji«
Iz > The question
LK Jad > s

((this) 3LV anls Lelain) (Sad) a5 ¢ 4355S0 Jadl g fxisall 4&a > what caused the accident
The question is this <gu<i

4. Object of a preposition
This depends on what you want. (=This depends on it.)
1ol dijal Jgrda [t
This depends on what you want /Jts
Jeld > This
J=é > depends
A A >0n

This depends on it =(it) swall dlaiul WiSey 5 ¢ (on) Lall < sl J =i > what you want

a.allia.n a. <8 ©
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Exercise:

What is the function of the underlined clause?

a. subject b. object c. complement d. appositive

1. The fact is that no one could do it.

deld > The fact
S+V (Be)
518 Jad > is

. il JLSY dlaall d age L sa s 0¥ ¢ 4Sa > that no one could do it

c. complement : sa <l sl 13
2. What he discovered was important for science.
deld > What he discovered
451K Jad > was
a. subject 1 s sl 13)

3. The fact that no one could do it disappointed me.

(%en) 5e) Jeld > The fact
(3xenl ea) Ju > that no one could do it
d. appositive ; s <l sall 13

4. Everyone knows that he made a great discovery.

Jelé > Everyone
J=é > knows
"knows" J=ill J =4 > that he made a great discovery
b. object : s& <l sl 13)
5. The workers rely on what the manager has to say.

><a> on Jda > rely Jelé > The workers
(on) all s sl J 5246 > what the manager has to say

b. object 1 s <l sall 13}

a.allia.n a. <8 ©
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Lecture 13

Relative Clauses
Relative Clauses:
In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked in detail

about the first type of subordinate clauses: noun clauses. In this lecture, we will cover other types of
subordinate clauses in more detail.

tAdl) Jand)
Adrgll Jaall ¢l g el LI ¢ e AU 5 pualaall b
Aas¥) deaall : 43egll Jaall Js¥1 g 5l e Jauaiilly Lhaas
- S Jiady 43adl) Jaall 5 2 15391 asia 65 pualaall 038

2. Relative Clauses

A relative clause is a clause which mainly modifies a noun phrase. It usually begins

» o«

with a relative pronoun: “who”, “whom”, “whose”, “which” and “that”.
e.g. 1. The car which he owns is very old.
(The car is very old. He owns the car.)

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still
exists as a grammatical position in the clause.

e.g. 2. The car he owns is very old.

In example 1, the relative pronoun “which” is the object of the verb “owns”. Similarly, in
example 2, the zero relative pronoun is the object of the verb “owns”.

p 4l Jaad) g1 gl g
tAddl) Jandl-¥

a1 B el il IS ot ) Jeal 0
oald alaiiul 4 el s34 e JS who, whom, whose, which, that 2 &l jilacally Jeal) o34 fas dale

The car which he owns is very old /) J%«

o ik s dleall o3a 5 (which) s s aaiieall Lol jaeuall 5 20 5 )8 Lee 53 4325 Ao & > which he owns
. (owns) J=ill Js2in 2 (Which) ssecall &bl e slaa Lithe | g8 ¢(car) il Adas

b a0 i saS 1o sa sa i (K15 «(zero relative pronoun)e e 5 <iisg 8 Ll pecall ¥l (e 4%
Alaall

The car he owns is very old /YJ&«

Ua Lol el 5 (zero relative pronoun) = b Gaaill ianall 5 43 dlea Lge 53 4320 e (& > he owns
S owns" Jxéll Js2ée 58
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The relative pronoun points back to the head of the noun phrase modified by the relative clause.
The head of the NP is called the antecedent of the relative pronoun.

e.g. The man who called us yesterday has come to meet you. (the pronoun “who” points back to
the head of the NP “man”. “Man” in this sentence is called an antecedent.)

anadll jileall (paildd) aixll-antecedent) ) g Gaatia NI
sl 58 JMA e i A Apan¥1 5 jlall Gl S ) iy cesil) ppaniall-
‘_,,_u.d‘ Jtaall ( antecedent 'FM\ «.}“‘)”)45“'-‘-’ L) 3 lall u.ubl\-

The man who called us yesterday has come to meet you /Jte

. Jelil@ha g 5 el 5 e > The man
(Who) il jesall (antecedent -paiie ul ) ) s 5 (The man) 4ew¥) 5 lall Gl ) 9 > man
.(man) Jeldll s Liids g 5 daand dlea & > who called us yesterday
Sman” oDV ) ss (who) 13 <" man” s 4 pdial il 5 e s > who
¢ The Use of Relative Pronouns:
A. Personal Relative Pronouns
The personal relative pronouns “who” and “whom” are used with human antecedents.

e.g. 1.There is a man outside who wants to see you. (There is a man outside. The man wants to see you.)

e.g. 2.Ahmed, who/whom [ told you about yesterday, is here. (Ahmed is here. [ told you about

Ahmed yesterday.)
Faan) & Jlal) e 2a)) ae (antecedents — deiall jualiall) (o 3aal) ge p2idied of (S Al ilesall (e el DU Lask
addl) Al il -
.(human antecedents -gbus¥! ) & Gl dasiiall jaliall) ae a22iii e & (Whom - who)
There is a man outside who wants to see you /YJis

¢ gt (G jady paiie paie 8 "man”s "man” e 252 < who
There is a man outside. The man wants to see you : zeail dlaall s38 Juad Koy 5

Ahmed, who/whom I told you about yesterday, is here /YJi«

¢ bl () Ol el (leatia O paic Laa s "Ahmed" e 1292 < who/whom
Ahmed is here. I told you about Ahmed yesterday : zrail dlaall s3a Juad (Say

Ahmed, who/whom I told you about yesterday, is here*
. s3iaall Alanll 3 Jeli sla (Ahmed) 4elS La
Ahmed is here. I told you about Ahmed yesterday*

Alaiial) Alaal i 42 J peia ols (Ahmed) 4 Ua

a.allia.n a. <8 ©
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B. Non-Personal Relative Pronouns

The non-personal relative pronoun “which” is used to talk about animals, objects, places, ideas...
etc.

e.g. Iwanta watch which is waterproof.
toadd il ) padall e
(st 36 e adl l) &)Y 5 8LV 5 oLV 5 Gl gl ae p2iiey ysas 54 (which)
I want a watch which is waterproof /Jts

«( animals, objects, places, ideas... etc) = Jx "watch" 5 "watch" e 252 < which
(which) il jrecall axiia yaie 4 " watch"-

C. Personal and Non-Personal Relative Pronouns
The relative pronouns “that” and “whose” are used with both personal and non-personal antecedents.
e.g. 1.There is the driver that was speeding. (“that” used with the personal antecedent “driver”)

e.g. 2.There is the car that was speeding. (“that” used with the non-personal antecedent “car”

s dadd i) g duaddd) Al jiladalioa

&bl gl 2 s human antecedents -gbady) A add Al dediall paliall) ae adiud yleca 4 (wWhose - that)
(LS8 5 SLY) 5 lusY)

There is the driver that was speeding /) Jts
43 ilea > that was speeding
[(driver) s pafial) jpaiall 138 (LYl ) jody padd piile jaie g slieddiul 5 o pea > that
There is the car that was speeding /YJt«
4w dles > that was speeding
(car) s» pid) jaiall 138 ¢ adl e adie paie geelieddinl 5 oud pea > that

Note: “Whose” gives the idea of possession.

e.g. 1. The man whose car you borrowed wants to see you.
(The man wants to see you. You borrowed his car.)

e.g. 2. We saw the castle whose walls were made of rocks.
(We saw the castle. Its walls were made of rock.)

{(whose) (!l el oo A3 gale*
.(Whose) il jaanall a0 (pza guiay e sl Ga i 13

The man whose car you borrowed wants to see you /) J&

a.allia.n a. <8 ©
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4% des > whose car you borrowed
(=i e > whose
.(Whose) il janll adile paic g > man
e gy > (Jall a5 ld) () e 588 sl Y Lin " Whose" Leasial-
+J s siaal) Alaald) Jusd Ll 13-
The man wants to see you. You borrowed his car.
We saw the castle whose walls were made of rocks /YJte
43 il > whose walls were made of rocks
(s e > whose
(Whose) il jaall adiia juaic s > castle
(e gy > (aal) (e de gims 2Bl ) jas o) e 588 slae Y U " Whose" Lediiul-
1 o8 Babaal) Alaall (Jad Lia i 13)-

We saw the castle. Its walls were made of rock.

thaga daglaa*
Aleal) 8 il paall Jae sa Lo apaad Cang Al 38 Jiad Jal) ie -
a1 5l Gl S ALea) 8 A5G (€5 Tadls dyal) AleallY
e olaiuY) Say g aleall (B3 55 e Asul) Aleal) 13)-¥

«In the following section, we will talk about the third type of subordinate clauses: adverbial
clauses.

LAl Jaall s el Jeall e GG & gl ge Giaadio ¢ G audll 8

Exercise.

Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clauseb. not a relative clause
1. The machine which makes plastic bottles is broken.

43xa giaiks s > which makes plastic bottles
el e adile paice > machine

@kl Wasa s Y"which makes plastic bottles"ileall o3 e sliaiu¥) Say T3*
(Aleal ina (e il Y Lalitda 13) 5f)

a. relative clause : s sl

a.allia.n a. <8 ©
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2. The manager is upset about what the worker told him.

dleSa Wisla s > what the worker told him
Jeld > manager

@ la) Wasa s o¥"what the worker told him"iles)) sda ge laiu¥) oSay ¥ 13*
(Aleall Jine (e it lalids 13) )

b. not a relative clause ; s <l sall

3. The problem is that he didn't oil the machine.

ileSa L s > that he didn’t oil the machine
l4is > problem

sl Lasa s (¥"that he didn’t oil the machine"aleall s3a oo slixiu¥1 Koy Y T3
(Aleall ine (e it Lalidda 13) )

b. not a relative clause : s sl

4. The worker that forgot to oil the machine is speaking with the manager.

U3aa g3iiks s > that forgot to oil the machine
(add pe aMi paie > machine

ksl Lasa s (Y"that forgot to oil the machine"ieal) sda ge Lzl Koy 13
(Wand) ixa (o i Y Walidds 13 (51)

a. relative clause : s sl

5. They called a technician who could fix the machine.

U3sa Lgiads s > who could fix the machine
Oyl ) gpds oadd adiie paic > technician

@) Lo s (¥"who could fix the machine"ieall s3a ce slixin) ¢Say 131*
(AL e (pe B Y Lalisda 13 1)

a. relative clause : s sl

Adverbial Clauses
3. Adverbial Clauses:
Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place and manner.
p Ad ) Alead) ¥
L) 5l s OS5 el e s Ul mans Al Jasll ¢ Lol 28I < jlall 5 oyl sl g sl 138
e.g. I met Ahmed in 2005. (adverbial phrase of time)

I met Ahmed when I was travelling. (adverbial clause of time.)

a.allia.n a. <8 ©
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He parked his car here. (adverb of place)

He parked his car where there is a parking sign. (adverbial clause of place)

He drives carefully. (adverb of manner)
He drives as his father did. (adverbial clause of manner)
I met Ahmed in 2005 */Js
el e W A a5 ke o2 > §n 2005
I met Ahmed when I was travelling *
(&b 2 5) Ol e Ll 4 )k Ales e 5 ¢4320 Alea & > when [ was travelling
He parked his car here *
Ol e Uls 3 1 3 5be & > here
He parked his car where there is a parking sign *

(&8 2 ) Ol o Ll A4 s Ales tlge ¢ ¢0a0 Aaa & > where there is a parking sign

He drives carefully *
Cdsle o Gl e Wy Js Gk e > carefully
He drives as his father did *
(&5 A s) Al sl slul e Wi 4 )k dlas tlge 5 $40asi Alas & > as his father did

»n «

Note: The words “when”, “where” and “as” in the previous sentences
are subordinate conjunctions.

A Cale Cagya e 8)ke ALl Jeall 8 "when- where- as "SlS) il Lot

Adverbial clauses also have functions similar to adverbs and adverb phrases.
For example, the adverbial clause in the following sentence is an adjunct:

e.g. Imet Ahmed when [ was travelling. (The adverbial clause “when [ was travelling” is an adjunct.)

MMtk 5 A Alaadl (8 Q) Alead) /e A RN <l L) 5 o plall A il 5 Lgpal 4 ) Jead)
I met Ahmed when | was travelling
(&) eidda 5 43 5k 0 dles > when [ was travelling
Compare: I met Ahmed in 2005. (The adverbial phrase “in 2005” is an adjunct.)
s 45 laa
I met Ahmed in 2005

0 s cgla ) e Wi 4,08 5Le 4 > in 2005

a.allia.n a. <8 ©
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« In the next section, we will look briefly at examples of some other types of subordinate adverbial clauses.

Al el Jaall 5 a0 ) sV (and Al e jlaialy s ks il ¢ ) audl) 8¢

Other Adverbial
Subordinate Clauses

Other Adverbial Subordinate Clauses :
4. Other Adverbial Subordinate Clauses

Please return my book if you finish reading it. (Conditional Clause)

Ahmed is quicker than [ am. (Comparison Clause)

I couldn’t open the door because I used the wrong key. (Reason Clause)

He closed the windows so that he wouldn'’t hear the noise outside. (Purpose Clause)
s A1 R Bt o
1 A Al At Jan -t
(if) > : Conditional Clause - kb &) dlaal)-)

Please return my book if you finish reading it /Jts ¢ 4l Coay

(than) > : Comparison Clause - (dxzdill) 4luaiil) dlaal)¥
Ahmed is quicker than [ am /J%s ¢ el o 45 )
(because) > : Reason Clause - (4uadl) dsdhaiall dlaal). v
[ couldn’t open the door because I used the wrong key /Jis ¢ L e 8 dee s a3
(so that) > : Purpose Clause - 4ua ! dlaal)-¢
He closed the windows so that he wouldn’t hear the noise outside /J&«
143 gale*
1 AY) A Y Lal) Jaad) g 48 B Jaadl-
" subordinate conjunctions "4l calall iy a8 o8 _SWhen, where, as-

if, than, because, so that-

Jlx) dliadia 5 dliatae 4y plai¥l Aalll 8 Wl GlXS ¢ dladia g dliaie yilaa Ay pal) Ll 8 Wl (68 j23 WS Adaadl, **
(V%] L).ul.u\ e Ba Lgia yd ul (M‘ iaaddll ylazall lxe " Personal Relative Pronouns"alaial jlall e

a8l Al el
. A goa sall Jaadl 5l &3l Jaall lalies (Relative Clauses) of o

L eellGaAl WSk :

a.alli a.n a.<8 ©
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